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������
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�� ��* �
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t
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�� ��* �
*��
!�* �!��y�* � � 	�
 *��
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�
es(τk,i)

� ���� �� ���+ �
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 �� τk,i

�

TRs(τk,i)
� ��+�* �� �$��
*� �� τk,i


�
CEs(τk,i, t)

� !(���� �� τk,i
�z$!��$� ��
* � 	�
���y���� [0, t[ 
�

LXs(τk,i, t)
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∑
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|su ∩ {τk,i}|
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*� *�%+� �� ��!(�* �*� �$
$����+ �
� 
��$� U �� �*� �$�
�� ��� �

U =
∑

τk∈τ

Ck

Tk

� �� � 3 �� � "������
* ������y�* � �
� *$&��
!� � 	�z$!����
 s



� �� � ����	��� �� ������ ���������� ��� ��
K��� �
� *$&��
!� � 	�z$!����
 s 
 �
 ��*��
��� ��* 
����
* *��y�
��* �y��� ����� 3 �3� �

�
Us(t) =

∑

τk,i∈τ |rk,i≤t

Ck
� !(���� �
� �!�$� ��
* � 	�
���y���� [0, t] 


�
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S1 = r1

Sk = max{rk, rk +
⌈

Sk−1−rk

Tk

⌉

Tk}

{

Xn = Sn

Xk = rk +
⌊

Xk+1−rk

Tk

⌋

Tk
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prio(τk,i) > prio(τk′,i′) ⇒ ∀j ∈ Z, prio(τk,i+jδk
) > prio(τk′,i′+jδk′

)
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∀τk,i ∈ τ , ∀j ∈ Z, prio(τk,i) = prio(τk,i+jδk
)
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prio(τk,i) =
1

dk,i + 1/(k + 1)
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prio(τk,i) > prio(τk′,i′) ⇒ dk,i + 1/(k + 1) + jP < dk′,i′ + 1/(k′ + 1) + jP
⇒ dk,i+jδk

+ 1/(k + 1) < dk′,i′+jδk′
+ 1/(k′ + 1)

⇒ prio(τk,i+jδk
) > prio(τk′ ,i′+jδk′

)
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[0, r + 2P ]
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 �	���� " *� �������� � ��� ���
�� $ �	��� �	��� ���� �������
�
� $ �*� ��� &� ') "
��� �� ������� ������
� �� ��� �������	������� " �	�� ��� �	��� ����� $ ���	����� +��� % &�� % �, % �-)
�	
���
� ��� ��� �����
��� � ��������	
 ��	������ �	
� � ������� % ��� !	��
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 �
��������
�� !���������� " � 
	��� �	
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�� % �	�� ��� �	��� ����� ��� 
� �	
� ��� $ ���	����� +��� �	���
��� �� ��� % ����
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 ���� �	
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	��� ��������� �	�� ��������� ��� ���	����� . ��� ������� % ��� ����� #���� ����	���� ���
�/�
�� % � ����� � 
�� ���� ��� �
���
��� ������� 0�
���� ���	�� �� % �����
�� $ � ���
��
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 " �	�� �
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� ������ % �� ��	��#�� �� �� � ������� ��� �����
��� � ��������	
 ��	������ �	�� ���� ������ " 2	���!	�� %
��� �������� �������
�� �	
���
� ��� ����� ����� ��� �	��� $ � ���
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,� �������� � 	 �
������� 
�� ��
 ����� ����� �� 
� ������ �����
�����
�� ���� �� ������� , ", % �� � !���"��� # � ���"� $� �� � %�&& ��# � $  �� ��"'� ������ �� &�����# ��
� %�"��������! ��� ��'��(��� &�" ���!&�� )4 % *4 �� �*+ " +�����! ��� % �� � &"$������� ��"������
& �"�& ������� &����(��� "
� �, -���./�. � 0����.

1� � �� �"������ # � ��� � ��#!�� ��!&��$� �� �/�2�� & $"����# �� " 1� � �� !������ � � ��
2 &��2#�� � " ��� $�2$����� ��� �/�2�� . ����� & � 3��� 4�"� &� � & ������ % � $'���� % � &� � '"�����
# � ��� &$"����� " *�!!� �� � �� ������$"��� # � ��� �/�2�� # � �� ���� &�� &�"���$����(��� % �� ����
�3��" .

∀τk ∈ τ, Ck ≤ Dk*� !4!� % �� � �� !������ � � �� 2 &��2#�� � " � %��$� ��! ��!&��"$�� ��(�$ % � " ��� ����"�������
���"� ��� �/�2�� % �� � " �� &�����# � � %�"��������! ���  �����$� " 1��"� �������� � %$� �� ��� ����
�����������! ��� �$+�� &�" �� � 2 &��2#��� �� �"�3��� "

1��"� &"�! �#"� 2 &��2#�� ��'��+� # � �� ��!&� �� "$&���� � % �� �������� ��� � & $"�� " � $'��$ ��� � ��� ��������� $# �3������� ��� !$��&$"����� &"$�$������ " *��� �� � ��� % �� � ��&"�! ���
����� 2 &��2#�� �� $���5��� ��!&��!��� # � 6�� ��
� � 7� �8� 
	�� 	� 7�
 �	��	� � �� .

∀τk,i ∈ τ , TRs(τk,i) ≤ TRs(τk,i+δk
)

1��"� ������� 2 &��2#�� ��'��+� # � ��"�# � �� ��!&� �� "$&���� � % �� �������� ��� � & $"�� " $
��� � �� � %�������� $# �3������ �� �� ! $��&$"���� &"$�$����� % ���"� ���� � $�$ "���"�$� &�"  �� � �"�
�������� ���� �� ��!&� �� "$&���� � � ��� � '! ���$ " *��� �� � ��� % �� � ��&"�! ��� ����� 2 &��2#��
�� $���5��� ��!&��!��� # � 6�� ��
� � 7� �8� 
	�� 9�
����	� ��� 6�
 �	� � �� �: �� 7

 �	
" 1� � �3���
$�$ �!��$� $ $� ���" &� ��� "� ;3�"�����< �� ����� 2 &��2#�� " �� &"�! �#"� ���& �� # � ��"�# � ��
��!&� �� "$&���� � % �� �������� � '! ���� % ���"� �� �� �� ����  �� ������� ���� �� ��!&� �� "$&����
� � '! ���$ �� # � � %��� ��"! ��$� � "��� � %��$� ���� �� �� &"�! �#"� " +�"!����! ��� &�"���� % �����
&"�! �#"� 3�"���� � %��&"�!� ����� .

∀τk,i ∈ τ̄ , TRs(τk,i) < TRs(τk,i+δk
)

⇒
∃τk′,i′ ∈ τ̄ , rk,i+δk

≤ es(τk′,i′) < es(τk,i+δk
)∧

[TRs(τk′,i′−δk′
) < TRs(τk′,i′) ∨ rk′,i′ < rk′ + P ]

*���� &"�&"�$�$ ��� '$�$"���! ��� 3$"�+$� % !��� �� ! ���&"� ����� " �� �� ���� ��� ����"�����!&���0���!&�� , "'1 "
=>��? �� @ AB C
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rk Ck Dk Tk

τ1 I J K K
τ2 I J K K
τ3 L L K K
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 �	�� �� Q�� ��

WXY Z , "' [ *���"�����!&�� �� �� &"�! �#"� 3�"���� �� � %2 &��2#�� �� �"�������� ��� ��!&� �� "$&����
�� ��! ��� &�" �\�� ��! ���



� 	� 	 ��� ��� �� 
 �� ��
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 �	� 7���	� 6� H�� 7�

τ2,1

�7�	� 6 R�	���H� 6 6� [5, 7[� P ��	��V 6� � ��
 �E�� H����
	 7� 6 RG D� 
�G E�� 7�
9�
����	9� 7� ��
� � 7� �8� 
	�� � �� �: �� 7

 �	
 	 R��� � �� H8��N 8� �	 S�� �
9������ �H�9 6�� � 
6���Q���T � ��
���8� N � �� P

�� �����" ����� � % � ��� ���!&�� � %��� &�� &����(�� �� !���&"� ����� " % & ��# � ��"�# % ��
�������� ��� "���"�$� &�"  �� � �"� % �������� � !�"�$! ���  �� &"��"��$ &� � !�"�� % �� ���� �� ��"! ���
���� �3��� " ��" ����"� % �� � �3��� �� "�!�"! ��" ����� 2 &��2#�� &� " �� ��� ! ���&"� ����� " "�� �� � �#!� 3�"���� # � �� � �3��� �$3���&&$� ���& �� # � ��"�# � �� ��!&� �� "$&���� � % ��
�������� � '! ���� % ���"� � !�!��� �� ��� ����3����� % �� �� �� ����  �� ������� ���� �� ��!&� ��
"$&���� � � '! ���$ " �� �(����� ���"� .

∀τk,i ∈ τ̄ , rk,i ≥ r + P ∧ TRs(τk,i) > TRs(τk,i−δk
)

⇒
∃τk′,i′ ∈ τ̄ , rk′,i′ < rk,i < es(τk′,i′)∧

[TRs(τk′,i′) > TRs(τk′,i′−δk′
) ∨ rk′,i′ < rk′ + P ]

2��2��# �! ��� &�"���� % �� ��\$"���� ���"� ��� �� � 3�"����� ��� ! ���!� . ���� �� &"�! �#"� % � %$��"�
��! ��� ���"� ��� �� � ��������� �����"�$�� ��� ��&"�! $ $ &�"��" ��� $�2$����� % ���"� # � ���� ��
������� % �� ��� ��&"�! $ $ &�"��" ��� ����� � %����3����� " � %���� �� # � �$�� �� �� ����� 2 &��2#��
��� �������(�� $ ����� ��\$"���� . ���� & � � 4�"� ! ��$� �3�� � % �� � � %� �"� " 2� ��!��� % �� �� � �#!�
3�"���� $���� &� � '$�$"��� % � %��� ����� # � �� �  �������� ���� �� � ��� "

1� � �"������ ! ��������� �� � ���!&��� �� �$# ����� � %��$� ���� &� " ��� ��"�" ��� �� �
2 &��2#��� . ��� ��$�"�������� ��� ��!&� �� "$&���� �� �"�������� ��� ��!&� �� "$&���� �� ��!���
&�" �\�� ��! ��� 0������� 3�"���� 1 "
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	� 6� ��
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 �	�� � �� ���� 
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V 
	 �7�	��N � � τ1,1

V τ2,2 P � 
�� 9G �9�	� 7 R�6 6��V 
	 
S���	� �

τk,i+δk
∃τk′,i′ |rk′,i′ < rk,i < es(τk′,i′)

rk′,i′ < r + P TRs(τk′,i′) > TRs(τk′,i′−δk′
)

τ2,2 τ1,1

τ1,1 τ3,1

��	��V � 
�� 9G �9�	� 7 R�6 6��V �6 �� ���� �	� �	���	9� � ��
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�� &� � 5 ���+�" ��� 2 &��2#��� &�" ��� �"' !���� � �3���� " �� �2�"'� ��5 ���$� ��"� �� �2�# �
! $��&$"���� ��� �"�������� . &� " �2�# � ! $��&$"���� &���$"�� "� $

r
% �� �2�"'� ��5 ���$� ���

U.P0��!!� � "'1 % &� " ��� ! $��&$"����� ���$"�� "�� % ���� ��� ��"����! ��� �� !$"�� "� $
U.P

" � " % �� ��
�2�"'� ��5 ���$� ��� �"�������� % � %�&��� �� � � ��#!� $ ��"3�" �2�# � �/�2� ��! �� � % �� ���� % ���
��!&� �� "$&���� � '!������ � � ! �� � ���'���� " ��"�# � �� ��!&� �� "$&���� � % �� ��������
��� � & $"�� " $ ��� � �� � %�� ������ $# �3������ �� �� ! $��&$"���� &"$�$����� % ���� ��'��+� # %���� �
� !���� "�& ���! ��� ���#� $  � &"� ����� " % �� ���� # %� !�!��� �� ��� ����3����� % �� � ��#!�
$���� &� � �2�"'$ # � ��"� �� �� ! $��&$"���� &"$�$����� "
� �� ���.�����. �. �� ���� �����

�� �� � �&&  ��� � " ��� �� � 2 &��2#��� $����$�� ���� �� ������� , "� % �� � &"�&����� ���
 �� �� 3���� �&&"� �2� �� � %�"��������! ��� ! ���&"� ����� " ��� � ��#!�� �� �/�2�� & $"����# �� "2� � � %�(�"� % �� � $� ����� ��"������ ���������� & �"!������ � %�9 "! �" # � �� ��!&� �� "$&����
��� ��������� ��� (�"�$ " ��� ��� % �� � �� �$� ����� # � ��� ��!&� �� "$&���� �� ���( ������� % �� �� �
�������  �� (�"�� �� �� � "$� �3��� ���(��������� " +�����!��� % �� � $��(�������  � ����"3���� ��!����(����$ "
� �	 �
 � �
 ������� ��� ����� �� �������

*��� ����� ������� % �� � $� ����� ��� �$# ����� 3$"�+��� ��� �� � &"�&"�$�$� � �3����� .
[ �����$�"�������� ��� ��!&� �� "$&����
[ �����"3���3 ��$

*��� �� �� �� � ��� % �� � �$��'���� &�"
S+ � %����!(�� ��� �$# ����� � %��$� ���� ��

τ
3$"�+���

��� �� � &"�&"�$�$� " 1� � !���"��� &� " ��� �$# ����� ��
S+ # � �� �� �2�"'� � � ��#!� ���

�� !$"�� "� � $'��� � ��!("� �� &"� ����� "� % ���"� ��� ��!&� �� "$&���� ���� (�"�$� " *���� &"�&"�$�$
��� �!&�"����� & ��# � ���5 ' $� �3�� �� �����$�"�������� ��� ��!&� �� "$&���� % ���� &�"! ��
� %��� "�" �� " ���(��������� 0"$� ���� $��(�� �� ������� , "( "�1 " *���� &"�&"�$�$ � � ���  � � �"� ���$"4�
& ��# %���� $��(��� � %�� ������� � % �� (�"�� ! �� �! ��� ��� �$&����!���� � %$�2$���� �#� # � �� � ��#!�
� %��� &�� � "�2�"'$ "

�� " �(��� �" �� "$� ���� % �� � "��������� &�" ����"�&��$� . �� ��� ��!&� �� "$&���� �� ����
&�� (�"�$� % ���"� �� �2�"'� � � ��#!� ��� ��"����! ��� � &$"�� "� � ��!("� �� &"� ����� "� " 1� �
��!!��5��� &�" $��(��" ��"������ &"�&"�$�$� ��� ���� &�" �� !��� # � ��� ��!&� �� "$&���� �� ������
&�� (�"�$� "
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m ∈ N
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τk,i
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TRs(τk,i) ≥ m
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τk,i
����� # �

TRs(τk,i) ≥ M.P
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τk,i
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t
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p.(P − 1)

" �� � ��#!�
��� ���� ����"� ��� "$ $ � %�������

t + 1
% �� �� �� ��� �� ! 4!� � !���� 5 �# %$ � %�� �����

t + P − 1
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t
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E
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t
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τk,i ∈ E
% �� �

rk,i ≤ t
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es(τk,i) > t
" �� �(����� ���"� .
∀τk,i ∈ E, rk,i+δk

≤ t + P

*� &� � &�" 2 &��2#�� % �� ��!&� �� "$&���� ��� ��������� �� &� � &�� ��! �� �" % �� �(����� � ��� .
∀τk,i ∈ E, es(τk,i+δk

) > t + P

� �� �� % �� ��!("� � %��������� ����3�� ��
t + P

��� � !���� $'�� $ ��� � ��
t
% �� � ��#!� ��� ����

� ��� ��� "$ ��
t + P

$
t + 2P − 1
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t + N.P
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t
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Ek = {t|t mod P = k}
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Fk = {U̇s(t)|t mod P = k}
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s
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U̇s(t
′) = U̇s(t) + K.U.P − K.P.p

K.U.P − K.P.p = U̇s(t
′) − U̇s(t) > 0

U > p
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p
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������! ���
p
��������� ��$� �$�� $ ��� �� ������ �$ " ��"�# � ��� ��������� ����3�� ���� ���"�( $�� � �

&"� ����� "� � ��! �# �! ��� % ����� &"�&"�$�$ ��� 3$"�+$� . �#� # % �� �������� �� ��"! ��� % �� ���
��� ��������� �� ������� & � 3��� 4�"� �2������ . ����� �� ���� &�� &"$����"�( $�� � � &"� ����� "� "
� ���� % ���� �� ���"� �� � %�&&"��2� '��(��� % ����� &"�&"�$�$ ��� 3$"�+$� �#� # � �� �������� ��� ����
&"$�!&��! % � �#� # � �� ! �'"����� ��� ��������� ��� '��(��� " �� �������� &"$�!&��! �3�� ! �'"�����
&�"������ % �#� # % �� �������� � �$( �$ ��� ��$� ���� � "  � &"������ " % ���� �� & � � &� � �� �2��'�" %
� %� �"� &�"� %  �� �������� &� ��4�"� ����""�!& � � &"�+ � � % �� � �"� " � ���� ���� �� �������� % ��
& � �  �3��" &� ��� "� ��������� ����3�� !��� �� ��� ���"�( $�� � ! 4!� &"� ����� " % � %2 &��2#�� ��
�����"3���3 ��$ � %��� ���"� &� � 3$"�+$� "

� ���� % �� ��! ���� � %�&&�������� � �2$�"#!� , "' �$&��� ��� ����"������� ���"� ��� �/�2�� �� ��
� %��$� ��! ��!&��"$�� ��(�$ " ��"�# � ��� �/�2�� �� & � 3��� &�� 4�"� (��# $�� 0&�" ���!&�� % �� �����
���� ���$& ��������1 % �� ��"�# � � %��$� ��! ��� ����&"$�!&��! � # � �� ! �'"����� ��� ������ % ���"�
�� �2$�"#!� , "' ��� ��"����! ��� �&&����(�� " �� " ��� � �"�� ��������� % �� ���� � %�(�"� $� ���" �� "
�!&��� � " � %2 &��2#�� �� �����"3���3 ��$ �3��� � %�&&��# �" �� �2$�"#!� , "'" * %� �"� &�"� % �� &� �!�����!��� ���&��" �� �2$�"#!� , "' $ � %�"��������!��� ����� � %�&&"� �2� &�"�������$� . &� " ���
�$# ����� ��

S+ % ��� ��!&� �� "$&���� ���� (�"�$� �#� # � �� �2�"'� ���"�( $� $ �2�# � &"� ����� "
��� �� !$"�� "� � $'��� $ '"
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∀τk,i ∈ τ̄ , rk,i ≥ t ⇒ TRs(τk,i) = TRs(τk,i+δk
)

*���� &"�&"�$�$ & �"!�� � %��� "�"  �� ��"����� "$' ��"��$ ����  �� �$# ���� � %��$� ���� . �&"#�
 � ��"���� ��!&� % ��� ��!&� �� "$&���� � %$3�� ��� &� � " *���� "$' ��"��$ ��� ! ���� "�'��� # � �����
�!&��$� &�" �� � ������$ . &� �!&�"�� # %��  ��� �� & ������ 3�"������� �� ����� ����  �� �$# ����
� %��$� ���� ���� # � �� ��!&�"��! ��� '��(�� 0��� ��!&� �� "$&���� 1 � %��� &�� �\���$ "*���� "$' ��"��$ &�"! �� � %��� "�" � %�� ������� � % � ����"3���� �� !����(����$ +�� . �� � 9 � � %$� ���"
�� �$# ���� 5 �# %$ �� # � ��� ��!&� �� "$&���� � %$3�� ��� & � � &� " 3�����" � ��3�����"  ��
�$# ���� � %��$� ���� " �� " !���"�" # � ��� ��!&� �� "$&���� �� ���(������� % �� � �� � �&&  ���
� " �� !��� # %��� ���� (�"�$� �� �����$�"�������� " ��� ��� % �� � &"$������� ��� �� � ��������� &� "
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�� 7�Q��6 6�� 
��� � 7� �8� ���� ���
 �
�S6�� P
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M
 � ! �5�"��� ��� ��!&� �� "$&���� ��� ��������� % & ��# % �� ! 4!� �������� � %��� &��

&�"���$����(�� % �� �(����� .
∀τk,i ∈ τ̄ , Ck ≤ TRs(τk,i) ≤ M

� " % &�" 2 &��2#�� % ��� ��!&� �� "$&���� �� &� 3��� &�� ��! �� �" % �� � ���� � ��� .
∀τk ∈ τ, ∀i < δk, Ck ≤ TRs(τk,i) ≤ TRs(τk,i+δk

) ≤ TRs(τk,i+2δk
) ≤ . . . ≤ M

��� �������
j

3$"�+���
TRs(τk,i+jδk

) < TRs(τk,i+(j+1)δk
)
���� �� ��!("� +�� " �� �� ���� ����

∆ ∈ N
��� # � .

∀τk ∈ τ, ∀i < δk, ∀j ≥ ∆, TRs(τk,i+jδk
) = TRs(τk,i+(j+1)δk

)

*�+* "
��  �������� �� ��������� # � ��� "� # � ��� ��!&� �� "$&���� ���� (�"�$� 0�2$�"#!� , "'1 % ���(����� �� ��"�����"� � �3��� "

���� 

�	�	 @ AB ���

s

��� �8Q��� 9� 7 R�� 89�
��� 9�����H�
�H� 
�6 6� Q�� 6�� 
��� � 7� �8� ���� ��
7�� �����
 � �� P � �
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� �� ���
��
 T � ��
�� 7�Q��6 6�� 
��� � 7� �8� ���� ���
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� �� �� % �� ��� ��� ���������

τk,i
���3��� 3$"�+�" .

TR(τk,i) ≤ Dk
" �� &� � ���� � ��� (�"��" �� ��!&�
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���� ��� ��!&� �� "$&���� ����  ������" �� !��� # � �� �$# ���� ���� 3����� " �� &� � ���"� $� ���"
��� ��!&� �� "$&���� ��� ��������� &� "  �� �$# ���� ����$� 03����� � ��� 1 % �� �$��"! ���" ���
� ��� ��� $�2$����� ! ���! ���� # � � %�� &� � �!&���" � � �/�2�� % � &� � '$�$"���! ��� % $�����"  �
���'������ +�� &�"���� � " � %���$'"����$ �� �� �$# ���� � %��$� ���� "
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*��� ����� ������� % �� � $� ����� ��� �$# ����� � %��$� ���� 3$"�+��� ��� �"��� &"�&"�$�$� � ��
3����� .

[ ��� ��!&� �� "$&���� �� & � 3��� &�� ��! �� �" %
[ ��� ��!&� �� "$&���� �� & � 3��� �"� ��"� # � &�" �\�� ��! ��� %
[ ��� ��!&� �� "$&���� ���� (�"�$� "

*��� �� �� �� � ��� % �� � �$��'���� &�"
S? � %����!(�� ��� �$# ����� � %��$� ���� 3$"�+��� ��� �"���

&"�&"�$�$� " 1� � ������� ! ���������  �� (�"�� ! �� �! ��� �� �� � "$� �� ���(��������� ��� ��!&�
�� "$&���� " 1��"� �$! �"�2� �������� $ �$��"! ���" �� �D
G� � 7� 9������� 9� !���! �� ��� ��!&� ��
"$&���� " �\����3�! ��� % � %�\�� ��! ��� &�"! �� �� ! �5�"�" �� ���' � " ��� ����"3����� ��!&�"��� ��
��������� � � �� ����3����� � %�������� ���� �� ��!&� �� "$&���� � '! ���� " �� &� � ���"� �����"
 �� (�"�� ! �� �! ��� �� �� � "$� �� ���(��������� & ��# � ��� ��!&� �� "$&���� �� ��! �� ��� &�� ��
$3�� ��� ����  � ����"3���� (�"�$ "�� �2$�"#!� � �3��� �����  �� ��������� �� �$������� �� �� ���( ��������� ��� ��!&� �� "$&����
�� & �"! �� �� ! ���"�" �� " �2! � �� �"�������� ��� ��!&� �� "$&���� "
������
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∀τk,i ∈ τ, t ≤ rk,i < t + M ⇒ TRs(τk,i) = TRs(τk,i+δk
)

� 8����
��
��� �
)��������� &�" � %�(� "�� " 8 &&����� # %�� �� ����  �� ��������

τk,i
����� # �

rk,i ≥ t
�� 3$"�+��� .

TRs(τk,i) < TRs(τk,i+δk
)

��" 2 &��2#�� % �� �
t ≥ r

% �� �� �$� ��
rk,i+δk

≥ r +P
% ���� � %�&"#� � %2 &��2#�� �� �"��������

��� ��!&� �� "$&���� �� ��!��� &�" �\�� ��! ��� % �� �� ����  �� ��������
τk′,i′+δk′

3$"�+��� .
[

rk′,i′+δk′
< rk,i+δk

< es(τk′,i′+δk′
)[

TRs(τk′,i′) < TRs(τk′,i′+δk′
)
� 

rk′,i′+δk′
< r + P8 &&�����

rk′,i′+δk′
≥ r + P

" � %��������
τk′,i′+δ′

k

3$"�+� ���"� ��� 2 &��2#��� �����!����� &�"
τk,i+δk

" �� &� � ���� �&&��# �" $
τk′,i′+δ′

k

�� "�������!��� # � � %�� 3���� �� ! ���" �3��
τk,i+δk

"
�� �� �$� �� # %�� �� ����  �� � ���

(uj)0≤j≤l
� %���������

ταj ,βj

3$"�+��� .
' "

u0 = τk,i+δk

��
rαl,βl

< r + P� "
∀j ∈ {1, . . . , l}, rαj ,βj

< rαj−1,βj−1
< es(ταj ,βj

)( "
∀j ∈ {0, . . . , l − 1}, TRs(ταj ,βj

) > TRs(ταj ,βj−δαj
)��" 2 &��2#�� % �� �

rk,i ≥ t
% �� ����

rα0,β0
≥ t + P

" ��  �������� 0'1 % �� �(����� � ���
rαl,βl

<
r + P ≤ t + P

" �� �� ���� ����  �� ��������
ταj ,βj

3$"�+��� .
rαj−1,βj−1

≥ t + P
��

rαj ,βj
< t + P

��" 0�1 % �� �(����� .
rαj−1,βj−1

− rαj ,βj
< es(ταj ,βj

) − rαj ,βj� ��# �
M

���  � ! �5�"��� ��� ��!&� �� "$&���� ��� ��������� % �� �(����� .
rαj−1,βj−1

− rαj ,βj
< M

� " &�" 2 &��2#�� % �� �
rαj ,βj

< t + P
% �� �(����� ���� .

rαj−1,βj−1
< t + P + M

�� +����! ��� % �� � .
t + P ≤ rαj−1,βj−1

< t + P + M
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r + P + (M − 1).P.
∑

τk∈τ

M − Ck

Tk

� � 6� �8Q���9� 7 R�� 89�
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r + P + (D − 1).P.
∑

τk∈τ

Dk − Ck

Tk

� 8����
��
��� �8���
Mk ∈ N

 � ! �5�"��� ��� ��!&� �� "$&���� ��� �� ������� ��
τk

% ��
M

 � ! �5�"��� ���
Mk

"* ������� ��� ��������� � % �� �/�2�
τk ∈ τ

��
δk

'"� &�� �� �� ! ���#"� � �3���� .
Gk,i = {τk,j |j mod δk = i}

% &� "
0 ≤ i < δk

��" 2 &��2#�� % ��� ��!&� �� "$&���� ��� ��������� �&&�"������ $  � !4!�
Gk,i

�� &� 3��� &��
��! �� �" .

τk,i1 , τk,i2 ∈ Gk,i ⇒ [i1 ≤ i2 ⇔ TRs(τk,i1 ) ≤ TRs(τk,i2 )]* %� �"� &�"� % ��� ��!&� �� "$&���� ��� ��������� �&&�"������ $
Gk,i

3�"���� ���"�
Ck

��
Mk

"
� �� �� % �2�# � '"� &� &�"! �� � &� �

Mk −Ck
$3�� ����� � ��!&� �� "$&���� % & ��# � ��� ���� ��

& � � &�� ��! �� �" $ � %���$"�� " � % � ! 4!� '"� &� "
� ���� %  �� �/�2�

τk
&�"! �� � &�"�

(Mk − Ck).δk
$3�� ����� &����( ��� � ��!&� �� "$&���� " ��

��!("� ! �� �! !
∆

� %��������� ���� �� ��!&� �� "$&���� � '! ���� &� " �� � ��#!� �� �/�2��
��!&��� ��� ���� .

∆ =
∑

τk∈τ

(Mk − Ck).δk = P.
∑

τk∈τ

Mk − Ck

Tk8 %�� � %�� ���� &�� � %�������� ���� �� ��!&� �� "$&���� � '! ���� % ���"� ��� ��!&� �� "$&���� ����
���(��� �#�

t = 0
�� �� �2$�"#!� ��� ���"� 3$"�+$ "8 &&����� !��������� # %�� �� �� ����  �� �� ������� ��

τk,i
" �� � ����

TRs(τk,i) > TRs(τk,i−δk
)
"

*� �� ! 4!� !���#"� # � ���� �� &"� 3� � �2$�"#!� , "( % �� !���"� # � � %�&"#� � %2 &��2#�� ��
�"�������� ��� ��!&� �� "$&���� �� ��! ��� &�" �\�� ��! ��� % �� �� ����  �� � ���

(uj)0≤j≤l
� %���������

ταj ,βj

3$"�+��� .
'"

u0 = τk,i
��

rαl,βl
< r + P� "

∀j ∈ {1, . . . , l}, rαj ,βj
< rαj−1,βj−1

< es(ταj ,βj
)( "

∀j ∈ {0, . . . , l − 1}, TRs(ταj ,βj
) > TRs(ταj ,βj−δαj

)�� �� �$� �� .
rα0,β0

> rα1,β1
> · · · > rαl,βl* %� �"� &�"� % ��� ��!&� �� "$&���� $���� (�"�$� &�"

M
% �� �(����� ��  �������� 0�1 .

∀j ∈ {1, . . . , l}, rαj−1,βj−1
− rαj ,βj

< M

*� &"� �2� �� &"� �2� % �� � +����! ��� .
rα0,β0

− rαl,βl
≤ l.(M − 1)



-� �������� � 	 �
������� 
�� ��
 ����� ����� �� 
� ������ �����
�����
��  �������� �� !��� # �

rαl,βl
< r + P

% �� �� �$� �� .
rα0,β0

≤ r + P − 1 + l.(M − 1)

* %� �"� &�"� % � %�&"#� 0(1 % ��� ��!&� �� "$&���� ��� ��������� �� �� � ���
(uj)

� '!������ �� � &�"
"�&&�"� $ �� ! $��& $"���� &"$�$����� % ����&�$ &� "

j = l
" � " � %�&"#� �� # � &"$�#�� % �� �� ���� � 

&� �
∆

��������� ���� �� ��!&� �� "$&���� � '! ���� " �� � ����
l ≤ ∆

" �� �(����� +����! ��� .
rk,i ≤ r + P − 1 + ∆.(M − 1)

� ���� % �#� # � �� ��!&� �� "$&���� � % �� �������� � '! ���� % �� &� � (�"��" �� ���� � %����3����� "
* %�&"#� �� �2$�"#!� , "� % ��� ��!&� �� "$&���� �� ���( ������� " �� &� � ���"� � &&���" # �

τk,i��� �� ��"� �#"� �������� ���� �� ��!&� �� "$&���� � '! ���� " � �� �� % �� ��!&� �� "$&���� �� �� ���
��� ��������� ����3$�� �&"#�

rk,i
��� ���(�� % �� � .

∀τk′,i′ ∈ τ, rk′,i′ > rk,i ⇒ TRs(τk′,i′) = TRs(τk′,i′+δk′
)

�� ��!(����� ����� &"�&"�$�$ �3�� �� (�"�� �(��� � ������� � % �� �(����� # � ��� ��!&� �� "$&����
���� ���(��� � &�"� $ &�"��" �� .

r + P + (M − 1).P.
∑

τk∈τ

Mk − Ck

Tk

*�+* "
*��� ��� ���!&��� ( "' �� ( "� % �� � �3��� ����$ ��� �$# ����� � %��$� ���� % &"�� ���� "��& ����3��

!��� &�" �*+ �� ��+ % # � 3$"�+��� ��� �� � 2 &��2#��� " �� (�"�� # � �� � 3����� �� �$��"! ���"
� %�&&��# � ���� $ ��� �� � ���!&��� " 1� � &� 3��� ���"� �� ��!&�"�" �3�� ��� 3��� "� ������� " ��
�(����� ��� 3��� "� � �3����� .

* "$� ������
�� ���(���������

��"�� �� �� � "$�
�� ���(���������
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Ck
$

Dk
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(τ2,i)i∈N
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3��$� �� �� ���(��������� ��� ��!&� �� "$&���� ��� �������� % ���"� # � �� �� � �#!� (�"�� �� � "$�
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�$# ����� � %��$� ���� ����3������ % �� �2$�"#!� , "' !���"� � %�� ������� � % �� (�"�� ��� ��!&� ��
"$&���� &� " ��� �$# ����� � %��$� ���� �����"3���3�� �� ��� � ��#!�� �� �/�2�� ����� "�2�"'$� " ���
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0, r + P + 2D + (D − 1).P.
∑

τk∈τ

Dk − Ck

Tk

[
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[0, r + P + 2D + (D − 1).P.(n − U)[

� 8����
��
��� �8���
s ∈ S?  �� �$# ���� � %��$� ���� ���� ��# ���� � !����  �� $�2$���� ��� ! ��# $� "

1�����
τk,i

� %�� ������ ��""��&������ $ �� &� � & ����� $�2$���� ! ��# $� .
rk,i = min{rk′,i′ |es(τk′,i′) > dk′,i′}

8 �
rk,i < r + P

% �� � ���"�
dk,i < r + P + D

% �� �� �2$�"#!� ��� 3$"�+$ "8 &&����� !��������� # �
rk,i ≥ r +P

% ����� � %�� ������
τk,i−δk

�� ���� " ����� ����$ # �
τk,i

���
�� &"�! �#"� �� ������ $ !��# �" ��� $�2$���� % ��� ��!&� �� "$&���� � '!���� ���� &�" "�&&�"� $
��� � ��

τk,i−δk
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*� �� ! 4!� !���#"� # � ���� �� &"� 3� � �2$�"#!� , "( % �� !���"� # � � %�&"#� � %2 &��2#�� ��

�"�������� ��� ��!&� �� "$&���� �� ��! ��� &�" �\�� ��! ��� % �� �� ����  �� � ���
(uj)0≤j≤l

� %���������
ταj ,βj

3$"�+��� .
'"

u0 = τk,i
��

rαl,βl
< r + P� "

∀j ∈ {1, . . . , l}, rαj ,βj
< rαj−1,βj−1

< es(ταj ,βj
)( "

∀j ∈ {0, . . . , l − 1}, TRs(ταj ,βj
) > TRs(ταj ,βj−δαj

))$ ��������  � "�������!��� # � �� � �3��� ! ��$ ���� �� &"� 3� � �2$�"#!� , ", " ��"�# %� �� �� �� ������ �� ! ��# � ��� $�2$���� % �� ��!&� �� "$&���� ��� ��������� ��� (�"�$ % &� "  ��
��������

τk,i
# �����# � % �� $3�� � ���"�

Ck
��

Dk
" ��" 2 &��2#�� % �� ��!&� �� "$&���� �� ��! �� �

&�� % �� ��!("� !�� �! !
∆

� %��������� � '! ������ �� " ��!&� �� "$&���� ���� # %� � �� � %�����
�� ! ��# � ��� $�2$���� ��� ���"� .

∆ = P.
∑

τk∈τ

Dk − Ck

Tk

����&�$ &� "
j = l

% �� ��!&� �� "$&���� ��� �� ������� �� �� � ���
(uj)

� '!���� " � ���� % �� � ���
(uj)

��������
l
��������� ���� �� ��!&� �� "$&���� � '! ���� " � " % ���� # %� � �� $�2$���� �� ����

! ��# $� % �� �� &� �  �3��" # �
∆

��������� ���� �� ��!&� �� "$&���� � '!���� " * %� �"� &�"� %
τk,i��� �� &"�! �#"� �������� $ !��# �" ��� $�2$���� " � ���� % � � �� ��������

(uj)0<j<l
�� ! ��# � ���

$�2$���� % �" �� "� ��!&� �� "$&���� � '! ������ �� � % �� � ����
l ≤ ∆ + 1

"*�!!� ���� �� &"� 3� � �2$�"#!� , ", % �� (�"��
rk,i − rαl,βl

��  �������� �� ���' � "
l
�� ��

� ��� " �� �(����� ���"� .
rk,i ≤ r + P + D − 1 + (D − 1).P.

∑

τk∈τ

Dk − Ck

Tk

�� �� � +����! ��� .
dk,i < r + P + 2D + (D − 1).P.

∑

τk∈τ

Dk − Ck

Tk
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t = 26
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r + 2P = 19

" 1� � � %�3��� &�� !���"$
��&������!��� # � ����� �$# ���� 3$"�+� ��� �� � 2 &��2#��� % ��& ������ ��� "$� ����� �� �� �������
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[0, 79[
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� " % �� &"�! �#"� $�2$���� ! ��# $� ��� $
t = 26
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&"��"����"� 3���� �� �� ��"! ���" �� ���� !��� ���"� &�"��� ���
p
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[ ���� �+ � %  �� �������� �� & �"� � %���#� � &"� ����� " # � ���� �� � ��� . ���� ���� 3���� ��
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p
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τk,i ∈ τ̄
����� # �

TRs(τk,i) > TRs(τk,i+δk
)
"

� %��������
τk,i+δk

� ���$�$
Ck

!��� $  � &"� ����� " & ������ ���
TRs(τk,i+δk

)
&"�! ��"� �� ������

�� ��� ��$� ���� " � " % �� ��!&� �� "$&���� ��
τk,i

��� ��"����! ��� � &$"�� " $ ��� � ��
τk,i+δk

% ��� ��
τk,i

� ���$�$ !���� ��
Ck

!��� $  � &"������ " & ������ ���
TRs(τk,i+δk

)
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t ∈ N
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[ $ � %�������
t
% � %�� ������

τk,i
� %� &�� ���#� $  � &"� ����� " % ���� �� �� ���� � !����

p
���������

&� � &"��"����"�� # %���� � ������
E1

� %����!(�� �� ������ # � ���� �\����3�! ��� ��$� �$�� $
� %�� �����

t
.

E1 = {τk′,i′ ∈ τ |prio(τk′,i′) > prio(τk,i) ∧ τk′,i′ ∈ st}

[ $ � %�� �����
t+P

% � %��������
τk,i+δk

� ���#� $  � &"� ����� " % ���� �� �� ���� ! ���� ��
p
���������

&� � &"��"����"�� # %���� � ������
E2

�� " ����!(�� .
E2 = {τk′,i′ ∈ τ |prio(τk′,i′) > prio(τk,i+δk

) ∧ τk′,i′ ∈ st+P }
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k
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τk′,i′+δ′

k

��� ���� &� � &"��"����"� # � � %��������
τk,i+δk
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� %��$� ���� ����3������ " �� �(�����"��� ���"�  � ����"3���� � %$� �� &� " ��� �$# ����� � %��$� ����
����3������ % �� �� &� ""��� ���"� $��(��"  � ���'������ +�� �"������ �� �� �� �$# ���� � %��$� ���� "��"� �� ��� "��2�"�2�� % �� � �3��� &"������� # �

max{Tk|τk ∈ τ}
������� �  �� (�"�� ��� ��!&�

�� "$&���� &� " �� �� �$# ���� �����"3���3� �#� # �
U ≤ p

� ��& ������ % ���� "���� $ &"� 3�" "
*��� �� ������� , ", % �� � !���"��� # � ��� �� � 2 &��2#��� ���� 3$"�+$�� &�" ��� �$# �����

� %��$� ���� &"$�!&��3�� �3�� ! �'"����� ������ ��'���"$�� &�" ��� &�����# �� � %�"��������! ��� ��
�+� 0&�" ���!&�� )4 % *4 �� �*+ 1 " 1� � �3��� � ��� $3�# $ 3��  � ���!&�� # � ��+ 3$"�+�
��� �� � 2 &��2#��� �� �"�3��� % ��������� ���� ���� & � � '$�$"���� # � �� �������� �+ � " 6�� 3���
���$"������� �� "��2�"�2� �������� $ �$��"! ���" �� 3$"���(�� &�"�$� ��� �� � 2 &��2#��� # � �� �
�3��� !�"! �$�� . # �� ��� �� " ��3�� �� '$�$"����$ � �� " ���� % �� &� � !���"�" # � ��+ ��� 3$"�+� %
��!!� �� � ''#"� � %���!&�� , "( " � � � '$�$"���! ��� % �� &� � � ��� $� ���" �� ����� ���� 3$"�+$�� &�"
��� �$# ����� &"�� ���� &�" ��� &���� �# �� � %�"��������! ��� �� **� " �� &� � � ��� $����"� ��
&�"�$� �� ���"� ���� �� �� $� ����� ��� �$# ����� � %��$� ���� �(��� �� ��"�# � � %��$� ��! ��� ��� �
&"$�!&��! � &"$�!&��! �3�� ! �'"����� &�"������ " +�����! ��� % �� &� � � ��� &"���"� �� ��!&�� ���
����"������� ���"� ��� �/�2�� % �� ����!!��� % $� ���" � %�! &��� � (�� ��'� � % �� �/�2� &�"  �� � �"�
� " ��� �� � 2 &��2#��� �� �"�3��� "� %����"3���� �� !����(����$ # � �� � &"�&����� �� �$& ��� # � �� ��� �� � 2 &��2#��� �� �"�3��� "
�� ���� % �� � �� !4!� ��3�� �� '$�$"����$ # %����� " �� &�"��� ���" % �� �� �$& ��� &�� �� �� �����"3����
3��$ ��� �$# ����� � %��$� ���� ��!!� ���"� "$� ���� &�"���� � " � %�� ������� � % �� (�"�� � ��!&�
�� "$&���� " � &"��"� % �� ��� ���� �&&����(�� ���� �� ��!("� � ��������� .

[ ��$� ��! ��!&��"$�� &"$�!&��! � ��� % �3�� ! �'"����� � ��� % ��� %
[ &�����# �� � %�"��������! ��� �&&�"������ $ �+� % �+ � % **� % ��� %
[ � ��#!�� �� �/�2�� $ $�2$����� � " % � �3��� % � !4!� �&"#� "�# 4�� %
[ � ��#!�� �� �/�2�� ���$&�������� � ����"�$&�������� "

�� �� "���"��'���� $ ��� ��������� &�"��� ���"� % �� ���� &� 3��" �(����" ��� ����"3����� �� !����(����$
( �� �� & &� � &"$��� " ��" ���!&�� % ��� ��&"������  ������ ��� &�"�! #�"��

Dk
��

Ck
% ��& ������ ���

����"3������� ��� ��!!�  � ! �5�"��� ��  � ! ���"��� ��� ��!&� �� "$&���� " ��� 3��� "�
Dk

��
Ck��""��&������ ���"� $ ��� 3��� "� ���"$! ���� " �� " ��"����� ��������� % �� ���� ���� �� �� &� 3��"

���� ��" ��� ! �5�"���� �� ��� ! ���"���� ��� ��!&� �� "$&���� # � ���� (�� �� & &� � &"$��� % �� ��
���� �! $���"�" � %����"3���� �� !����(����$ # � �� � &"�&����� "��� �"�3� � !��$� ���� �� �2�&��"� ��� !��� � %�( 5 �� � % � �"����� �� ! �� $  �� "�3 � ����"���������
�� ���� "
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� �� ������������
�� " �$��"! ���"  � ����"3���� �� !����(����$ % �� � �� '$�$"���!��� �� ! $�2��� � �3���� " ��

��!!���� &�" &"� 3�" # � � %��$� ���� � % � � ��#!� ��!&��"$�� ��� � ���# � % ��� ��� �� ! �5�"� ��
� "$� &�"! ������ � %�������"� �� "$'�!� � ���# � % �� �� �� �$� �� +����! ��� � %����"3���� "��2�"�2$ "�� � "$� � %��$� ���� �$������"� &� " �������"� �� "$'�! � � ���# � � ����  �� '"���� �!&�"�����
&� " � %$� �� ��� ����"3����� �� !����(����$ " �$�$"���! ��� % ��  ������ ��� ! �5�"���� �� ����� � "$� "
*��� �� �2�&��"� , % �� � �3��� &"�&��$  �� $� �� �� �� &"�(�#!� �&&����(�� ���� �� ��!("� �
��������� " *��� �� �2�&��"� % �� � �� � !� �������� � " � % � ��� &� �  �����$� ���� �� ��! ���� � 
��!&��"$�� . ��� � ��� �$# ����� ! ���&"� ����� "� &"�� ���� &�" ��� &���� �# �� $ &"��"��$� +��� ��
�������� &"$�!&��! �3�� ! �'"����� ������ "

*��� &,�) ��� � �� "� &"�&�����  �� (�"�� �� �� � "$� �� !���$� �� �2�"'� ��� �$# �����
&"�� ���� &�" ��� &���� �# �� $ &"��"��$� +��� �� �������� !���&"� ����� " �� &"$�!&��! " *���� (�"��
� $�$ $���� � � �������� ! ���&"� ����� " ���� �� ��� �� ��� $�2$����� ��� �/�2�� ���� &� � &������
� $'���� $ �� " & $"���� &�,) % �� ���� �� ��� �� ��� $�2$����� ��� �/�2�� &� 3��� 4�"� &� � '"�����
# � �� " & $"���� &�-) "*��� �� �2�&��"� % �� � �9 ���� ��� "$� ����� $��( ��� ���� &�,) �� !�"! ���� �� � "$� ������
�� !���$� �� �2�"'� ��� �$# ����� &"$�!&��3�� ! ���&"������ "� &"�� ���� &�" ��� &�����# �� $
&"��"��$� +��� " 2� ��!��� % � %��&"������ �� ����� � "$� ��� �� ��!&��� ��$ ��&���������� " 1� � �� �$"��
3��� ���"� &� ��� "� !�5�"������ �� ��!&��� ��$ &�� ��! ���� �� �� � ������� � ���  � ��'�"��2! �
&�"! ������ � %�� ���� ��" �� 3��� " ������ " �� ��!&��� ��$ � &�"� � ���� � �� �� 3��� " ������
��� ��&���������� % !��� ��� ��&$"�! ��������� # � �� � �3��� ! ��$�� !���"��� # %�� &"���# � ��
��!&��� ��$ ! � ���� ��� &�� ��! ���� "

1� � $� ����� �� � "$� ������ �� !���$� �� �2�"'� ���� �� ������� - "( " �&"#� % �� � �$��"! �����
& � ��� "� ! �5�"������ �� ����� � "$� ���� ��� �������� - ", % - "- % �� - "� " +�����! ��� % ���� �� �������
- "� % �� � �������  � ��'�"��2! � &�"! ������ �� ���� ��" �� � "$� ������ �� !���$� �� �2�"'� " 1� �
����� ��� &�" ��� ����� & �"!������ � %$3�� �" �� # ����$ ��� !�5�"���� # � �� � &"�&����� �� � ���
� %$3�� �" �� ��!&��� ��$ �� �� " ���� � "

� �, -���./�. � 0����.
1� � �� � &��5��� ���� �� ���"� �� � %�&&"� �2� '��(��� 0 �� ! 4!� �/�2� &� � ! �'"�" ���"�

��� &"������ "�1 % �� �� � � %2 &��2#�� �� ! �'"����� ������ 0 �� ! 4!� �������� &� � �2��'�" ��
-�
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&"� ����� "� �� �� "� � %��$� ���� 1 " * %� �"� &�"� % ��� �/�2�� ���� � &&��$�� 4�"� ���$& �������� ��
&"$�!&��(��� " 1� � � &&����� � ��� # � ��� $�2$����� ���� &� � &������ � $'���� � � &$"����� % ��
� ���"� .

∀τk ∈ τ, Ck ≤ Dk ≤ Tk*��� �� � ��� % �� � �� ������$"��� # � ��� �$# ����� � %��$� ���� �(��� �� $ � %���� � % �� &���� �# �
� %�"��������! ��� $ &"��"��$� +��� % �� � �$��'���� &�" �+� � %����!(�� �� ��� �$# ����� " � ���� %
&� " �2�# � �$# ����

s ∈ PFX
% �� &� � ���� ���" $ �2�# � �/�2�

τk ∈ τ
�� &"��"��$

prios(τk)
"

* %� �"� &�"� % �� � � &&����� &� "  �� �$# ����
s ∈ PFX

����$� # � ��� �/�2�� ���� �"����$��
&�" &"��"��$ �$�"�������� .

∀k ∈ {1, . . . , n − 1}, prios(τk) > prios(τk+1)

� �� ����. �. �� ����. �. � ����. .� �����.
�3��� �� ��!!����" ���"� $� �� % �� � ��3��� ���"�� �"� �� � ������� " �� &"�! �#"� �$��!&���

 �� �$# ���� � %��$� ���� &� " �� !� ������" � " ��� ��������� � % �� ! 4!� �/�2� " �� �� � �#!� ������+�
�� &"�! �#"� �������� � % �� �/�2� # � ��� ����3$� �&"#� �� +� �� !���$� �� �2�"'� &"�&"� $ �����
�/�2���$ "
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∀t ≥ rk,i, s
k
t ≡1 sk

t+P

� �	 �
 ���� �� ���� ��������� � ���� �����
τk ∈ τ�� ������������ �� �� &"�! �#"� �������� ���(��

τk,i
� % �� �/�2�

τk ∈ τ
&�"! �� � %�9 "!�" # � ��

�$# ���� � %��$� ���� "���"����� � � �� ��� ��������� ��
τk

��� � ���# � ��& ��
rk,i

0&�" �$+������ 1 "*�&������ % � %�������
rk,i

� %��� &�� �� '$�$"�� �� �$( � � "$'�! � � ���# � ��
sk . ��� ���� & � �

��!!����" & � � �7� " �\����3�! ��� % ��� �������� &"$�$����
rk,i

�� � � �� �������� ��
τk

� %���
��$� �$� & � 3��� !��"� &�"��� � "$'�! � � ���# � ��

sk "�� "$� ���� � �3��� ����# � # � �� � ��������� $# �3������� $  �� !$��&$"���� &"#� �� ����
��� ��!&� �� "$&���� ���� $'� � ���� ��$� �$�� � � !4!�� �������� % "�����3�! ��� $ �� " ����
� %����3����� "��& ����3� " *���� &"�&"�$�$ ��� �!&�"����� & ��# %���� $��( ���  � ���� ���"� � %$'����$ � 
��!&� �� "$&���� �� �� � ��������� $# �3������� �� �� � ������$ �� �� " ��$� ���� "
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s ∈ PFX
�


τk,i ∈ τ

�6 6� Q��

TRs(τk,i) = TRs(τk,i+δk
) P U� � �

∀t ∈ N, τk,i ∈ st ⇔ τk,i+δk
∈ st+P

� 8����
��
��� �*�����$"���  � �������
t ∈ N

" 1�����
E1

� %����!(�� ��� ��������� ����3�� $ � %�������
t
�� &� �

&"��"����"�� # �
τk,i

.
E1 = {τk′,i′ ∈ s?

t |prios(τk′,i′) > prio(τk,i)}*� !4!� % ������
E2

� %����!(�� ��� �� ������� ����3�� $ � %�������
t + P

�� & � � &"��"����"�� # �
τk,i+δk

.
E2 = {τk′,i′ ∈ s?

t+P |prios(τk′,i′) > prio(τk,i+δk
)}

� "�! �#"�! ��� % &�" �$+������ %  �� ��������
τk′,i′ ∈ τ

��� ����3� � � �� �� ��������
t′ ∈ N

3$"��+��� .
rk′,i′ ≤ t′ < rk′,i′ + TRs(τk′,i′)
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* %�&"#� �� �2$�"#!� , "� % ��� ��!&� �� "$&���� �� &� 3��� &�� ��! �� �" % �� � ���� .

τk′,i′ ∈ s?
t′ ⇒ τk′,i′+δk′

∈ s?
t′+P

*� � �#!�!��� % �� �$# ����
s
��� &"�� ��� &�" �+� % �� � ���� .
prios(τk,i) = prios(τk,i+δk

) = prios(τk)

�� �� �$� �� # �
|E1| ≤ |E2|

"
� " &�" 2 &��2#�� % �� �

TRs(τk,i) = TRs(τk,i+δk
)
% ��� �� �������

τk,i
��

τk,i+δk

���� ���� ����3��
& ������ �� ! 4!� � "$� " �3�� �� # � &"$�#�� % �� �(����� .

τk,i+δk
∈ st+P ⇔ |E2| < p ⇒ |E1| < p ⇔ τk,i ∈ st

� �� �� % �#� # � � %��������
τk,i+δk

��� ��$� �$� $  � �������
t + P

% ���"� � %��������
τk,i

��� ��$� �$�$ � %�������
t
" � " % ��� �� � �� ������� ���� ����3�� &������ �� ! 4!� � "$� �� ����� ���� ��$� �$��

�� ��� ��� �� � ������! ���
Ck

!��� " ����� ���� ���� ��$� �$�� � � !4!�� �������� 0"�����3�! ��� $
�� " ���� � %����3����� "��& ����3�1 "*�+* "

�� "$� ���� � �3��� ����# � � %������� ����� �� �� "$'�! � � ���# � ��
sk ��!!���� "
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t
�� 6� �8O �� � 9D96�Q�� 7� 6� �8Q���9� sk 9��� �� 9� ��
 �

t = max{0, rk,i − (Tk − TRs(τk,i−1+δk
))}

� 8����
��
��� �
����� ����$ # � �� �$# ����

s
��� 3����� �� # � ��� $�2$����� ���� ����"������ 0

Dk ≤ Tk
1 % ��

�� ���� $ �2�# � ������� � &� �  �� �������� ����3� �� �2�# � �/�2� " �� ����$# ���� % ��� ��\$"�����
��������� � % �� ! 4!� �/�2� �� & � 3��� &�� ����"!$"�" ��"����!��� ���"� ����� . �2�# � �������� ��
��"! ��� �3��� # � �� � �3���� ���� ����3$� "8 &&����� # �

i = 0
"�� �$# ����

s
"���"����� � � �� ��� ��������� ��

τk
��� ���� � ���# � �#�

t = rk
" 2� ��!��� %

� � �������� &"$�$����
rk

% � � �� �������� ��
τk

� %��� ��$� �$� " *� &� � % & ��# � ��� ��\$"�����
��������� � % �� ! 4!� �/�2� � %����"!#"��� &�� ��"����! ��� ���"� ����� % � � �� �������� ��

τk
� %���

��$� �$� � � ��������
t
3$"�+��� .

rk,δk
− (Tk − TRs(τk,δk−1)) ≤ t < rk,δk

� �� �� % �� �$# ����
sk ��� � ���# � �#� .

t = max{rk − (Tk − TRs(τk,δk−1))}

* %� �"� &�"� % $ � %������� &"$�$���� % � � �� �������� ��
τk

� %��� ��$� �$� % ���"� # %$ �� !$��&$"����
� �3���� % � %��������

τk,δk−1
��� ��$� �$� " � ���� �� �$# ����

sk ��� � ���# � ������! ��� $ &�"��" �� .
t = max{rk − (Tk − TRs(τk,δk−1))}

8 &&����� # �
i > 0

"
��" 2 &��2#�� % � %�� ������

τk,i
��� �� &"�! �#"� �������� ���( �� ��

τk
" �� �$# ����

sk ��� ����
� ���# � � &�"� $ &�"��" ��

rk,i
" *� &� � % � %�� ������

τk,i−1
� %��� &�� ���(�� " � �� �� % �� �� ���� ���

��������
t
��

τk,i−1
��� ��$� �$� ���� # �

τk,i−1+δk

���� ��$� �$� ��
t + P

" * %�&"#� �� ��!!� - "'%�� ��!&� �� "$&���� ��
τk,i−1

��� ���"� ��\$"��� �� ��� � ��
τk,i−1+δk

" �� � %�&"#� �� �2$�"#!� , "� %�� �� & � � 4�"� # � &� � &���� " �� � ���� .
TRs(τk,i−1) < TRs(τk,i−1+δk

)
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 ���� 
� � �� ��� �� ������ �� ��������� � ����
� � %�������

es(τk,i−1+δk
) − 1

% � %��������
τk,i−1+δk

��� ��$� �$� " * %� �"� &�"� % $ � %�������
es(τk,i−1+δk

) − 1 − P
% � %��������

τk,i−1
� %��� &�� ��$� �$� & ��# � ��� ��!&� �� "$&���� ��� ��"���

��! ��� �� !$"�� " " � ���� % $ � %�������
es(τk,i−1+δk

) − 1
% �� �$# ����

sk � %��� &�� � ���# � "
�� " ��� ��������

t
3$"�+���

es(τk,i−1+δk
) ≤ t < rk,i+δk

% � � �� �������� ��
τk

�� &� � 4�"�
��$� �$� & ��# � ��� ��\$"����� ��������� � % �� ! 4!� �/�2� � %����"!#"��� &�� ��"����! ��� ���"�
����� " *� !4!� % &� " ��� ��������

t
3$"�+���

es(τk,i−1+δk
)− P ≤ t < rk,i

% � � �� �������� ��
τk

��
&� � 4�"� ��$� �$� & ��# � �� ��!&� �� "$&���� ��

τk,i−1+δk

��� ��"����!��� � &$"�� " $ ��� � ��
τk,i−1

" � �� �� �� �$# ����
sk ��� � ���# � ������! ��� $ &�"��" �� .

t = rk,i − (Tk − TRs(τk,i−1+δk
))

*�+* "

� �	 �� ��� ������� ���� ���
p
������ ��� � ��� �������� ����

8 "  �� �"�2����� "� $
p
&"������ "� �� ��"�# � &� " �2�# � �/�2�

τk ∈ τ
�� �

Ck ≤ Tk
% ���

p�/�2�� ��� &� � &"��"����"�� ���� ����  �� ��� ����� �& $����� . �#� # % �� �������� �� � % �� � %�����
��� ����3$� % ���� ��� ��$� �$� ���� ����"" &���� & ��# %$ �2�# � ������� �� ��� ��$� ���� % �� �� & � �
&��  �3��" &� � ��

p− 1
�� ������� ����3�� �� & � � &"��"����"�� # %���� " �� ��!!� � �3��� �"�� �� ��

"$� ���� " ��� ��� % �� � ������� �� � "$� ������ �� !���$� �� �2�"'� ��� � ��#!�� ��!&��$� � %� 
&� �

p
�/�2�� "

�	

	 � A� ���

s ∈ PFX P U� � �

∀τk,i ∈ τ , 1 ≤ k ≤ p ⇒ TRs(τk,i) = Ck

� 8����
��
��� ���"�# � � %��������
τ1,0

��� ����3$� % �� � %�� ���� � � �� �������� &� � &"��"����"� " �� &"� �2����
�������� � ��� &"��"����"� # %���� ���

τ1,1
" � " % �������� ��� ����3$�

Tk
 ���$� �� ��!&� �&"#�

τ1,0
" �����

����$ # �
C1 ≤ T1

% � %�� ������
τ1,0

��� ���� ��$� �$� ���� ����"" &���� �� �� �
TRs(τ1,0) = C1

"*���� ��� ����� �� "$& #�� &� " �2�# � �������� ��
τ1

% �� � ���� .
∀τ1,i ∈ τ , TRs(τ1,i) = C18 &&����� ! ��������� # � �� ��!!� ��� 3$"�+$ &� " ���

K
�/�2�� ��� &� � &"��"����"�� �3��

K < p
% �� !���"��� # %�� ��� 3$"�+$ &� " �� �/�2�

τK+1
"

* %�&"#� � %2 &��2#�� �� "$� ""���� % �� � .
∀τk,i ∈ τ, 1 ≤ k ≤ K ⇒ TRs(τk,i) = Ck*�!!� �� �

Ck ≤ Dk ≤ Tk
&� " �2�# � �/�2�

τk ∈ τ
% �� �� �$� �� # %�� �� ���� $ �2�# � �������

t ∈ N
� &� �

K
��������� ����3�� ��'���"$�� &�" ��� �/�2�� &� � &"��"����"�� # �

τK+1
" ����� ����$

# �
K < p

% �� �(����� �� �� ! 4!� ! ���#"� # � &� " ��� �� ������� ��
τ1

# � �� ��!&� �� "$&����
��� �� ������� ��

τK+1
���

CK+1
"*�+* "

�� ��!!� - "( !���"� # � � %�"�"� �� &"��"��$ ���
p
�/�2�� ��� &� � &"��"����"�� � %��� � &�� � " ���

��!&� �� "$&���� ��� ��������� �� ��� �/�2��� �$ " � �� �� % ��� �������� �� ��� ��������� ��� �/�2�� !����
&"��"����"�� & � 3��� ���$��" � � &"� ����� "� �� �$& ������ &�� �� � %�"�"� �� &"��"��$ ���

p
�/�2�� ���

&� � &"��"����"�� " �� ��3�"���� �� &"��"��$ �� �� � �/�2�� !������ &�"��� ���
p
&� � &"��"����"�� % �� ��

!���+� ���� &�� �� �$# ���� � %��$� ���� " �� ��!("� �� ���+' "������ �� &"��"��$ &� "  � � ��#!�
��

n
�/�2�� ���

n!
" �� ��!!� - "( !���"� ���� # � � %�� &� � "$� �"� �� ��!("� �� ���+' "������

 ����� $
n!/p!

"
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���
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 ���� 
� � �� ��� �� ������ �(
�� ��!(����� ��� ��!!�� - "� �� - "( % �� �(����� �� � "$� �� !���$� �� �2�"'� ������ ��� � ��#!��

��!&��$� � %� &� �
p
�/�2�� "

�	
���
	 � A� ���

s ∈ PFX P �� 6� ��� S��

n
7� 
F9G �� 7�

τ
��
 ��� 8����� �� 8O �6 �� ��� S��

p7� � ��9�������V �6��� s
��
 H� 6�7� �
 9D96�Q�� 7� � 8���7� P

�� �9
�� ��
 T � ��
�� 7� �

t = max{0, r1 − (T1 − C1), . . . , rn − (Tn − Cn)}

� 8����
��
��� �
����� ����$ # �

n ≤ p
% � %�&"#� �� ��!!� - "( % �� � .

∀τk,i ∈ τ , TRs(τk,i) = Ck

� �� �� % �� �$# ����
s
��� 3����� �� ��� &"�! �#"�� ��������� ���(��� ��� �/�2��

τk ∈ τ
����

τk,0
"

* %�&"#� �� ��!!� - "� % �2�# � �$# ����
sk ��� � ���# � ������!��� $ &�"��" ��

t = rk − (Tk −
TRs(τk,δk−1))

" � ��# � �� ��!&� �� "$&���� ��� ���������
τk,i ∈ τ

��� �� 5� "�
Ck

% �� �$# ����
� %��$� ����

s
��� ���� � ���# � ������! ��� $ &�"��" �� .

t = max{0, r1 − (T1 − C1), . . . , rn − (Tn − Cn)}

*�+* "

� �	 �	 ����� � ����� �� �� �� ����� �� ������ �� ������
�� ��!!� - "� ����� �� � "$� ������ �� !���$� �� �2�"'� �� �� �$# ����

sk ��"�# � � %�� �������
�� &"�! �#"� �������� ���(�� �� �� �/�2�

τk
" � &� � �7� % ����� �������� ��"�

τk,0
% �� �(����� �����

 �� (�"�� ! ���! ��� �� �� � "$� �� !���$� �� �2�"'� "
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s ∈ PFX
��� �8Q���9� 7 R�� 89�
��� H�6�7� P M� �8Q���9� ��
 9D96�Q�� 7� � 8���7�

P
�� � 6�� 


 T � ��
�� 7� �

t = max{0, r1 − (T1 − C1), . . . , rn − (Tn − Cn)}

� 8����
��
��� �*�����$"���
τk,i

�� &"�! �#"� �������� ���(�� �� �� �/�2�
τk

" * %�&"#� �� ��!!� - "� % �� �$# ����
� %��$� ����

sk ��� � ���# � ������! ��� $ &�"��" �� � %������� .
t = max{0, rk,i − (Tk − TRs(τk,i−1+δk

))}

�� ��!&� �� "$&���� ��� ��������� ��
τk

$���� ! ���"$ &�"
Ck

% �� �(����� .
t ≥ max{0, rk,i − (Tk − Ck)} ≥ max{0, rk − (Tk − Ck)}

*�+* "

� �	 �� ����� ������ �� ������ �� ������
�� � "$� ������ �� !���$� �� �2�"'� �$&��� �� �� ���(��������� �� �2�# � �/�2� " *�& ������ %

�� ���( ��������� � % �� �/�2� �� �$&��� &�� �� �� ���(��������� ��� �/�2�� # � ���� �� &� � !��(���
&"��"��$� " �� &� � ���� �$��"! ���" ���"$! ������! ��� �� � "$� �� !���$� �� �2�"'� "
�	
���
	 � A@ ���


s ∈ PFX
��� �8Q���9� 7 R�� 89�
��� H� 6�7� P M� �8Q��� 9� s

��
 9D96�Q�� 7�
� 8���7� P

�� �9
�� ��
 T � ��
�� 7� 6 R���
��

t = un

�� 6� ���
�
(uk)k∈{1,...,n}

��
 78N ��� �89����H�� ��

9��� � ���
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 ���� 
� � �� ��� �� ������ �� ��������� � ����

�

� ���
k ∈ {1, . . . , p} V �� � �

uk = max{0, r1 − (T1 − C1), . . . , rk − (Tk − Ck)}
0- "'1

�

� ���
k ∈ {p + 1, . . . , n} V �� � �

 ��

rk ≥ uk−1
V �� � �

uk = max{uk−1, rk − (Tk − TRs(τk,δk−1))}
0- "�1


 ��
rk < uk−1

V � ����� i = d(uk−1 − rk)/Tke > 0 V �� � �

 ��

TRs(τk,i−1) 6= TRs(τk,i−1+δk
)V �� � �

uk = max{uk−1, rk,i−1 + TRs(τk,i−1+δk
)}

0- "(1

 ��

TRs(τk,i−1) = TRs(τk,i−1+δk
)V �� � �

uk = uk−1
0- ",1

� 8����
��
��� �
�� "

k
3$"�+���

1 ≤ k ≤ p
% �� �2$�"#!� - "� !���"� �� "$� ���� "

)��������� ! ��������� &�" "$� ""���� � " �� ��!("� �� �/�2�� "8���
K ∈ {1, . . . , n}

% �� � &&����� # � �� �$# ����
s
"���"����� � � ��������� ���

K − 1
�/�2��

&� � &"��"����"�� % ��� � ���# � �� &$"����
P

������! ��� $ &�"��" � % � �� �����
∆ ∈ N

" *��� $ &�"��"
��

∆
% ��� �������� �� �� ��!("� � %��������� ����3�� &� � &"��"����"�� # �

τK
��� ��"����! ��� �� !$"�� "$

p
���� � ���# �� �� &$"����

P
"

* %� �"� &�"� % �� �$# ����
s
��� 3����� �� ��� $�2$����� ���� ����"������ 0

Dk ≤ Tk
1 " �� � ����

� ��� .
∀τk,i ∈ τ, TRs(τk,i) ≤ Tk

� ���� % $ �2�# � �������
t
% �� �� ���� � &� �  �� �������� �� �2�# � �/�2� # � ��� ����3� " ��� ��\$"�����

��������� � % �� ! 4!� �/�2� �� & � 3��� ���� &�� ����"!$"�" ��"����! ��� ���"� ����� "
+�����! ��� % $ &�"��" ��

∆
% ��� �������� ��  �� ��������

τK,i
&� � 4�"� ��$� �$� ���� ��� ! 4!��$  �� !$��&$"���� &"#� # � �� � ��

τK,i+δK

&� � 4�"� ��$� �$� " *��� % �� ��� ��� ��������� ��
τK����3$�� �&"#� � ��

∆
���� ���(��� "8 � �� �

rK ≥ ∆
" � ���� % �� ��� ��� ��������� ��

τK
���� ����3$�� �&"#�

∆
" * %�&"#� �� # � &"$�#�� %

�� &"�! �#"� �������� ���(�� ��
τK

��� ����
τK,0

" �� ��!!� - "� !���"� # � �� �$# ����
sK ���

� ���# � ������!��� $ &�"��" ��
t = max{0, rK − (TK − TRs(τK,δK−1))}

" �� �$# ����
s
"���"�����

� �
K

�� ������� ��� &� � &"��"����"�� ��� ���� � ���# � �� &$"����
P

������! ��� $ &�"��" �� .
t = max{∆, rK − (TK − TRs(τK,δK−1))}

8 � �� �
rk < ∆

" *�����$"��� �� &"�! �#"� ��������
τk,i

����3$� �&"#� � ��
∆

% �� �
i = d(∆ −

rk)/Tke > 0
% �3�� �� ���3������

∀x ∈ N, x = bxc = dxe
"8 �

TRs(τK,i−1) 6= TRs(τK,i−1+δK
)
% ���"� � %�&"#� �� ��!!� - "'% τK,i

��� �� &"�! �#"� ��������
���(�� ��

τK
" *�!!�

i > 0
% � %�&"#� �� ��!!� - "� % �� �$# ����

sK ��� � ���# � �� & $"����
P������! ��� $ &�"��" ��

t = rK,i − (Tk −TRs(τK,i−1+δK
))
" �� �$# ����

s
"���"����� � �

K
���������

��� &� � &"��"����"�� ��� ���� � ���# � �� &$"����
P

������! ��� $ &�"��" �� .
t = max{∆, rK,i−1 + TRs(τK,i−1+δK

))}

8 �
TRs(τK,i−1) = TRs(τK,i−1+δK

)
" *�����$"���

τK,j
�� &"�! �#"� �������� ���( �� ��

τK
" * %�&"#�

�� ��!!� - "'% � %�������� τK,i−1
��� ���(�� % �� � ���"�

j < i
" * %�&"#� �� ��!!� - "� % �� �$# ����

sK��� � ���# � �� &$"����
P

������! ��� $ &�"��" ��
t = max{0, rK,j − (TK − TRs(τK,j−1+δK

))}
" 8 �

t = 0
% �� � ���"�

t ≤ ∆
% ����� �� �(����� .

t = rK,j−1 + TRs(τK,j−1+δK
)) ≤ rK,j < ∆
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# � �� � & �"! ���"� +����! ��� �� ���� ��" �� � "$� ������ �� !���$� �� �2�"'� "

� �� � �� ������� �� �.�� � �. ��� ���. ��� �.� �������.� �. ���
���.�

�� �2$�"#!� - ", &�"!�� �� ���� ��" �� � "$� ������ �� !���$� �� �2�"'� " *�& ������ % �� ��!&� ��
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0- "'1 vk = max{0, r1 − (T1 − C1), . . . , rk − (Tk − Ck)} vk = uk0- "�1 vk = max{vk−1, rk − (Tk − Dk)} vk ≥ uk0- "(1 � 0- ", 1 vk = max{vk−1, rk,i−1 + Dk)} vk ≥ uk
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p
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rk,i ≤ t < es(τk,i)
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τk,i
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t
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t
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p
% ���"� � %��������

τk,i
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p
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∀t ∈ N, τk,i ∈ st ⇔ rk,i ≤ t < rk,i + Ck�� �(����� ���"� � %��'�"��2! � ����# $ � " �� +' "� - "( &� " ! �5�"�" �� ��!&� �� "$&���� � % ��
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∀τk,i ∈ τ , TRs(τk,i) ≤ eval�TR(τk,i) ≤ Dk
� � %���� �� � %��'�"��2!� ������� % �� � &� 3��� ! �5�"�" �� � "$� !� "��� &�" �� �2$�"#!� - ",&� � +��! ��� # � ���� �� ������� - ", " ��� !���+������� # � �� � �&&�"���� ���� �����������! ���

� !4!� �"�"� # � ���� �� ������� - ", " 2� ��!��� % �� � ������' ��� �� &� �  � ��� &�"��� ���" ��0- ",1 " ��"�# � �������
(τk,i−1+δk

) = Ck
% �� � � ���

TRs(τk,i−1+δk
) = Ck

" � ��# � ��� ��!&� ��
"$&���� �� & � 3��� &�� ��! �� �" 0��!!� , "�1 % �� �� �$� �� .

TRs(τk,i−1+δk
) = TRs(τk,i−1) = Ck�� &� � � ��� 4�"� ����$ � % ������"  �� &"�&"�$�$ ��! ����"� . �������

(τk,i−1) = Dk
" *�& ������ %

������� �$��"! ���  � !�5�"��� � ��!&� �� "$&���� ��
τk,i−1

% �� �� &� � ���� &�� �� �$� �"�
TRs(τk,i−1) = Dk

" *� ��� �� & �"!�� ���� &�� � %��� "�"
TRs(τk,i−1+δk

) = TRs(τk,i−1)
"�� ��( ��� � �3��� "$� !� ��� !���+������� # � �� � �\��� ��� .
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0- "'1 vk = max{0, r1 − (T1 − C1), . . . , rk − (Tk − Ck)} vk = uk0- "�1 vk = max{vk−1, rk − (Tk − eval�TR(τk,δk−1))} vk ≥ uk0- "(1 vk = max{vk−1, rk,i−1 + eval�TR(τk,i−1+δk
)} vk ≥ uk
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(τk,i−1+δk
) > Ck

⇒ vk = max{vk−1, rk,i−1 + eval�TR(τk,i−1+δk
)}

vk ≥ uk

�������
(τk,i−1+δk

) = Ck

⇒ vk = vk−1
vk = uk

1� � �(������ ���"� � %��'�"��2! � ����# $ � " �� +' "� - ", &� " �&&"��2�" �� "$� ���� !� "�� &�"
�� �2$�"#!� - ", " )$� "��3�! ��� % �� !���"� .
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DMC�Dn2() ≥ un�� ���� � �� ������� 0
τk,i

1 �  �� ��!&��� ��$ ! �5�"$� &�"
(k − 1).Dk

" �� "
k > p

% � %��'�"��2! �
����	# �$������� ������!���  � �&&�� $ ������� " �� ��!&��� ��$ �� ���� � �� �����	# ��� ����
! �5�"$� &�" .

p +

n
∑

k=p+1

(k − 1).Dk ≤ p + D.

n
∑

k=p+1

(k − 1) = p + D
n2 − p2 − (n − p)

2

��"�# �
n ≤ p

% �� �2$�"#!� - "� !� "� �� �� � "$� ������ �� !���$� �� �2�"'� &�"  � ���� � ���� ��
��!&��� ��$ ��� ��

O(n)
" *��� �� ��� &"$���� % �� &� � ���� � &&���"

n ≥ p
" � %�"�"� �� '"���� " ��

�� ��!&��� ��$ �� �����	# ��� ���"� !�5�"$ &�" .
O(D.n2)
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p
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Ck
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τ1, . . . , τK
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τk,i

�� ��� �/�2�� ���� $'�� $
Ck
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K
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τk,i ∈ τ
����� # �

k ≤ p + 1
% � %��'�"��2! �

������� ����� ��� ���������
τk′,i′

��� �/�2�� ���� � %������ ��� �� !$"�� " � $'�� $
p
" �� " �$��"! ���" %

��  �� ����� �������� ��� &����������! ��� ����3� $  � �������
t
% �� $3�� � �� ��������� .

rk′,i′ ≤ t < rk′,i′ + Ck′

� ���� % �� ����� �� "$����$ �� !��� # � � %��������
τk′,i′

���� ����3� " �� "$� ���� !� "� � &� " �� ��!&� ��
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eval�TR(τk,i) = TRs(τk,i)

� "/�� $ ����� &"�&"�$�$ % �� � &� 3��� �$��"! ���" �� ��!&� �� "$&���� ����� ��� ��������� ��
τp+1

" *�����$"���  � �������
t ∈ N

$ &�"��" � # �� �� �$# ����
s
��� � ���# � " �� ���� ���� ��

��!&� �� "$&���� ���
δp+1

&"�! �#"�� ��������� ��
τp+1

����3$�� �&"#�
t
% �� &� � �$��"! ���" � %��

��� �� 5� "� $'�� $
Ck

" ��"�# � � %��� 3$"�+$ % �� &� � '$�$"�����" �� "$� ���� $ �� ��� ��� ���������
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τp+1
& ��# � �� ��!&� �� "$&���� ��� ��������� �� &� � &�� ��! �� �" 0��!!� , "�1 �� # � ��

�$# ���� ��� � ���# � � !���� $ &�"��" ��
t
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τp+1

��� �� 5� "� $'�� $
Cp+1
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"$&���� !� "��� &�" ������� " �$�$"������� ! ��������� ���"� �&&"� �2� "8 &&����� # � �� ��!&� �� "$&���� ��� ���������

τk,i
���

K
�/�2�� ��� &� � &"��"����"�� ���� $'��$

Ck
" �� &� � ���"� !���+�" � %��'�"��2! � ������� �� �� !�5�� � �3���� .
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j ≤ p

$ �� ��'�� � ��� "�!&���$� &�"
j ≤ K

%
[ �� ���������

j > p
$ �� ��'�� � ��� "�!&���$� &�"

j > K
"
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(K, τk,i)
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(τk,i)
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τk,i ∈ τ

H8��N ��
 k ≤ K + 1 V �� � �

eval�TRK(K, τk,i) = TRs(τk,i)

� "/�� $ ����� &"�&"�$�$ �� �� ������ ��� �3��
τK+1
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τp+1
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���' � � ���
τ1, . . . , τK

����� # � �� ��!&� �� "$&���� ��� ���������
τk,i
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�� �$( � � %��$� ���� % ����� ��� �&&���� ����	 % �� ��!&��� ��$ �� ��� �&&�� ��� ��
O(n)

" ��� ��� %
����� ��� �\��� � � &� � ∑n

k=p+1 δk
�&&��� $ �������� " �� ��!&��� ��$ &� " $3�� �" ����� ������ ���� ! �5�"$� &�" .
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n
∑
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(k − 1).Dk.δk ≤ n + P.
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(k − 1) = n + P.
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 ���� 
� � �� ��� �� ������ �� ��������� � ����
�&"#� � %�&& �� $ ����� ��� % � %��'�"��2!� �����	# � �� ! 4!� ��!&��� ��$ # � �����	# & ��# �

K&� � 4�"� $'�� $
p
" 8� ��!&��� ��$ ��� ���� ! �5�"$� &�" .

p + n + (D + P )
n2 − p2 − (n − p)

2��"�# �
n ≤ p

% �� �2$�"#!� - "� ����� �� � "$� ������ �� !���$� �� �2�"'� �3��  �� ��!&��� ��$
�� ���� � ��

O(n)
" *��� �� ��� &"$���� % �� &� � ���� � &&���"

n ≥ p
" � %�"�"� �� '"���� " �� ��

��!&��� ��$ �� ���� � �� �����	# ��� ���"� ! �5�"$ &�" .
O(P.n2)

� �� -���� � �. �� ����. ./���. �. � ����. .� �����.
��� ! �5�"������ �� �� � "$� �� !���$� �� �2�"'� # � �� � �3��� ����$�� &"$�$��!!��� "��

&����� � "  �� ! �5�"����� � ��!&� �� "$&���� ��� ��������� " *��� ����� ������� % �� �  ��������  �
��'�"��2! � &� " �$��"! ���" �� ��!&� �� "$&���� ����� � % �� �������� # �����# � " 1� � &� 3���
��� ��� �&&��# �" �� �2$�"#!� - ", ���� �� ! ���+�" &� " �$��"! ���" �� � "$� �� !���$� �� �2�"'�
������ "*�����$"���  �� �$# ����

s ∈ PFX
��  �� ��������

τk,i ∈ τ
" ��" �$+������ % � %�� ������

τk,i
���

����3� � � �� �� �� ������
t ∈ N

3$"�+��� .
rk,i ≤ t < es(τk,i) = rk,i + TRs(τk,i)

�� " �$+��" � %��'�"��2! � ������� % �� � �3��� ! �5�"$ �� ��!&� �� "$&���� ��
τk,i

" *�����$"���
! ��������� � %��'�"��2!� ����# $ � " �� +' "� - "� "� %��'�"��2!� �������� ��� "$� ""��� " *�& ������ % $ �2�# � �&&�� "$� "��! % �� �

j < k
" 6�� � ���
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� ��? ��	
 	�� � A� ���


s ∈ PFX
��� �8Q���9� 7 R�� 89�
��� H�6�7�P U� � �

∀τk,i ∈ τ , exact�TR(τk,i) = TRs(τk,i)
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���!&�� & �"! �� �� ! �5�"�" �� ������ �� �� ! $!��"� �$������"� " *�& ������ % �� ��!&��� ��$ & � � 4�"�
��&���������� & ��# %���� �$& ��� �� �� ! $��&$"���� " 2� ��!��� % ���� �� ������� - "� % �� � !���"���
# %�� &"���# � �� ��!("� � %��������� ���� �� ��!&� �� "$&���� ��� ���� �$ "���� &�� ��! ��� "
� "/�� $ ����� ! $�2��� �� ���� � � ��!&� �� "$&���� % �� &� � �&&��# �" �� �2$�"#!� - ", ����

� � �� !���+ ������ " �� � %��� ! 4!� &� � �$������"� �� "��2�"�2�" �� &� � ���' � � ���
τ1, . . . , τK����� # � �� ��!&� �� "$&���� ��� ��������� �� ��� �/�2�� ���� $'�� $

Ck
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DMC�exact() = un�� ��!&��� ��$ �� � %��'�"��2! � ��������� �$&��� � ��!("�
I
� %��������� ���� �� ��� �$������"�

�� ���� ��" �� ��!&� �� "$&���� " � ���� # � ���� � %�������� ������$"$� % �� ��!&��� ��$ � % � �&&�� $
�������� ��� ! �5�"$� &�"

n.D
" �� ��!&��� ��$ �� � %��'�"��2! � ��������� ��� ���� ! �5�"$� &�" .

n + n.D.I� %�"�"� �� '"���� " �� �� ��!&��� ��$ �� ��������� ��� ���"� ! �5�"$ &�" .
O(n.D.I)�� 3�"��( �� �� �  �����$� ���� � %��'�"��2!� ��������� ��""��&��� � ��!&� �� "$&���� � %���������

���� �� ���� � %����3����� ��� &���$"�� "� $
P
" � " % �� ��!("� � %��������� # � ��� &"$�#���� ���

� !4!� �"�"� �� '"���� " # � ∑n
k=1 δk

" � �� �� % � %�"�"� �� '"���� " ��
I

��� ��&�������� " ��
��!&��� ��$ �� ��������� ��� ���� ! �5�"$� &�" .
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I
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 ���� 
� � �� ��� �� ������ �� ��������� � ����
&"$��� % "��& ����3�! ��� '% � % , % �� � &"������ "� " �� " �2�# � ��!&�'�� �� ����� % �� � �3��� '$�$"$
��$����"�! ��� & � ��� "� 5 � � �� '��� ����� �� !������� �� �� �2�"'� ��� � ��#!�� �� �/�2�� " �� " ��
��!&�'�� $

p
&"������ "� % �� �2�"'� 3�"�� ���� � %�� ��!(��

{p × 50%, p × 55%, . . . , p × 100%}
" ��+' "� - "� ����� ��� ��"���$"����# �� !� ����� �� �2�# � 5 � �� ���� "

� �� �� ������� �� ���� ������ ��������
�� " $3�� �" ��� "$� ����� # � �� � �3��� �(��� � ���� ��� �������� &"$�$������ % �� � ��3���

�2����"  �� &���� �# � � %�"��������! ��� $ &"��"��$� +��� . �� � �3���  �����$ *4 " 1�� "$� ����� ����
3������  ��# �! ��� &� " ��� �$# ����� 3������ % �� � �� &� 3��� ����  ������" # � ��� � ��#!�� ��
�/�2�� '$�$"$� # � ���� �"������5�(��� &�" *4 " �� +' "� - "� ����# � �� &"�&�"���� �� � ��#!��
'$�$"$� # � ���� �"������5�(��� &�" *4 " �� " ��� $�2�������� � $ � % , % �� � &"� ����� "� % �� &"�&�"����
�� � ��#!�� 3������ ��� �"#� !��(�� ��"�# � �� �2�"'� ��� $ '��� " ��� "$� ����� # � �� � &"$�������
��� ��� $���� ��� !� ����� % �� � ��� �� ���� ���� &�� "�&"$�������!� &� " ��� ( 5 � � �� ���� % ��
����$# ���� % �� � �� ��� &"$������� &�� " ��� ��� % �� � ��!&�"��� �� � "$� �� !���$� �� �2�"'�
�(��� � &�" ��! ������ �3�� ��� ! �5�"������ # � �� � �3��� $��(���� "

�� " �$��"! ���" �� � "$� �� !���$� �� �2�"'� ������ $ &�"��" �� �� ��! ������ % �� � &"� �$����
�� �� ! ���#"� � �3���� " ��"� �� �� ��! ������ % ��� �/�2�� ���� "�&"$����$�� $ �2�# � ������� &�"
� %$��� �� "��� �� �� " �������� ����3� " � %$��� � % �� ��������

τk,i
$  � �� �����

t
��� �$�"�� &�" ��

��!("� � %���#� &"������ " # %���� � �$5 $ "$����$� 0
CEs(τk,i, t)

1 �� &�" �� �������� $ ��� $�2$����0
dk,i − t

1 " 1� � ��! ���� � %��$� ���� �� � �� "��2�"�2���  � �������
t ∈ r + P.N? ��� # � � %$���

�� �2�# � �/�2� ���� ������# � $ ��� � ���� ��# �� ���� $���� $ � %�������
t − P

" * #� # � � %�� �(�����
 � ��� ������� % �� &� � �9 "! �" # � �� �$# ����

s
��� & $"����# � ��& �� � %�� �����

t − P
0*4 ���

�$��"! ������ 1 " 2� ��!��� % � %�� �����
t
�� ��""��&��� &�� !�"�$! ��� $ �� � "$� ������ �� !���$� ��

�2�"'� % ��" �� �$( � � "$'�! � � ���# � & � � �� ��� �" �3��� " �� ��� ���� �$������"� �� &�"�� "�"
�� �$# ���� � %��$� ���� �� � %�������

t′ = t − P − 1
5 �# %$

t′ = 0
� &�"� " � �2�# � $��& �

t′
��

�� &�"�� "� % ��
st′ ≡1 st′+P

���"� �� &���� $
t′ − 1

% ����� � %�� ����� ����� � %���"$� ���� �� "$'�! �
� ���# � ���

t′ + 1
"

1�!("� �� �/�2�� 8 ��#!�� �"������5�(��� &�" *4

���� " �� �� ! $��&$"���� 1�!("� � %�� ������� '$�$"$�� ��"� �� �2�# �
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∀t ≥ δ, ∀e ∈ E, ∀x ⊂ τ, Q(t, e, x) ⇔ Q(t + P, e, {τk,i|τk,i−δk
∈ x})
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∀τk,i ∈ τ , TRs(τk,i) ≤ Dk

�� " ���$'"�" ����� ����"����� % �� 3$"�+� &� "  � ������� ����$ # � �� ��� ��� ��������� ����
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� �3��� .

Qre(t, e, x) ⇔
[

∀τk ∈ τ, t ≥ rk ∧ (t − rk) mod Tk = Dk − 1 ⇒ ek + |x ∩ {τk,b(t−rk)/Tkc}| = Ck

]
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Qre′(t, e, x) ⇔
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∀τk ∈ τ, t ≥ rk ∧ rk,i ≤ t < dk,i ⇒ dk,i − t − 1 ≥ Ck − ek − |x ∩ {τk,i}|��
i = b(t − rk)/Tkc

]
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��$� �$�� ��! ����$! ��� � %���#�� 5 �! ��� �� ��!("� �� &"� ����� "� .

∀t ∈ N, |st| ≤ p

1�� "����! ��� % �� "��&��� � ��!("� �� &"� ����� "� � %��&"�! � ���"� ����� .
Qnp(t, e, x) ⇔ |x| ≤ p

*���� ����"����� ��� ����"�!��� & $"����# � "
� ��? ��	
 	�� 
 A� M� 9��
����
�

Qnp
��
 9D96�Q�� 7� � 8���7� P

T � ��
�� 7� 6 R���
��

r P

� 	
�
	�� �	 ?�
�
�	��	 A 1� � �3��� 3 ���� �� �2�&��"� � # � ��� ��!! ��������� �� ��� � ��
�2"�� �������� ���"� ��� �/�2�� ���� "�&"$����$�� &�" ��� "�������� �� &"$�$����� " 1� � �� ������$�
"��� ��� # � ��� ����"������ �� &"$�$����� ��!&�� . �� � �/�2�� ��$�� &�"  �� "������� �� &"$�$�����
���3��� �3��" �� ! 4!� &$"���� " � ���� % ��"�# �

τk
&"$�#��

τk′

% �2�# � ��������
τk′,i

�� &� � 4�"�
��$� �$� # % �� !��� � %��������

τk,i
��"! ��$� " �� !�"! �� �� "��&��� ��� ����"������ �� &"$�$�����

����� .
∀τk,i, τk′,i ∈ τ, τk � τk′ ⇒ CEs(τk′,i, es(τk,i)) = 0

*�����$"��� �� � �/�2�� ��$�� &�"  �� "������� �� &"$�$�����
τk � τk′

" * #� # % �� ��������
τk′,i� %��$� �� $  � �������

t
����$ % � %��������

τk,i
���� 4�"� ��"! ��$� " �� " ���� % �� ���� !�"�$! ��� �3��"

t ≥ rk,b(t−rk′ )/Tk′c
" ������

i = b(t − rk′)/Tk′c
" *� � ��� ���� $ &"���"� �� ������$"����� �� &� �

�� �� ���������
t ≥ rk,i

.
[ ����

ek = Ck
. � %��������

τk,i
��� ��"! ��$� %

[ ����
t ≥ rk,i+1

. � %��������
τk,i+1

��� ����3$� % & ��# � �� �$# ���� ��� 3����� �� # �
Dk ≤ Tk

%
���"� � %��������

τk,i
��� (��� +��� "

�� &� � ���� !�"! ��" �� ����"����� ��� "�������� �� &"$�$����� ��� �� .

Qrp(t, e, x) ⇔

[

∀τk, τk′ ∈ τ, τk � τk′ ∧ ek′ > 0 ⇒ t ≥ rk,i ∧ (ek = Ck ∨ t ≥ rk,i+1)��
i = b(t − rk′ )/Tk′c

]

�� ��!&�"��! ��� �� �� &"$����� ��� ���$& ������ �� �� ! $��&$"���� �� "���� % �� "$� ���� � �3���
��� ���� 3$"�+$ "
� ��? ��	
 	�� 
 A� M� 9��
����
�

Qrp
��
 9D96�Q�� 7� � 8���7� P

T � ��
�� 7� 6 R���
��

r P
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�
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	 A �� " !��$����" �� � &� �� ����"������ % ��  ������ '$�$"���! ��� ��� �$! ��
&2�"�� " �� " �� &�� ��� "��" �� !�"! ����! � % �� � ���&���� ��� �� � "���"������� � �3����� .

[ �� � ��#!� �� �/�2�� ��� ���$ � %� &� �  � �$! �&2�"�
[ �2�# � �������� "$����� � &� �  � ���#� � �$! �&2�"�

W XY Z � "' [ ���#� � �$! �&2�"� &� " �� �/�2�
τk ∈ τ



� 	� 	 �� �������� 
 �� ��
� �(
� %$� �� ��""��&������ $ ��� �� � "���"������� � %$���� ! ������! ������ � ��� '$�$"�� "*�����$"���  �� �/�2�

τk ∈ τ
% �� � !��$������ � %���#� # %���� &� � "$�����" � �$! �&2�"� $

� %���� ��� �� � �� !�"! ������ � �3����� 03��" +' "� � "'1 .
[

αk
. �� &"�! �#"� ����" ����� �&&�"������ $ �� ������� �"���# � %

[
βk

. �� ��"��#"� ����" ����� �&&�"������ $ �� ������� �"���# � "��"�# % �� �/�2�
τk ∈ τ

� %���#�� 5 �! ��� � �$!�&2�"� % �� � &����� &�" ���3������
αk = βk = −1

"
*��� �� ���"� %  �� �������� ���#�� � �$! �&2�"� $  � �������

t
�� �� �� ��! ��� �� .

αk ≤ CEs(τk,i, t) < βk ∧ αk < CEs(τk,i, t + 1) ≤ βk

*��� �� �� �� � ��� % �� ����
sems(τk,i, t)

�� &"$����� �$+�� &�" ����� ��������� " � %���� ���� ! � ����
��� �����!���� �� �� �� ��! ��� �� $ �2�# � �� ����� �� ��!("� � %��������� �� ������� �"���# � ��� �� !$"�� "
� $'�� $ ' .

∀t ∈ N, |{τk,i ∈ τ |sems(τk,i, t)}| ≤ 1
�� " ���$'"�" �� ����"����� � %���� ���� ! � ���� ��� ���#� � � �$! �&2�"�� % ��  ������ � %��&"������

����$� ������� � �� �&&�"���� # ��# �� !���+������� .

Qem(t, e, x) ⇔

[

|{τk ∈ τ |αk ≤ ek < βk ∧ αk < ek + |x ∩ {τk,i}| ≤ βk}| ≤ 1��
i = b(t − rk)/Tkc

]

*� &"$����� �� �$&������ &�� �� �� ! $��&$"���� ������$"$� % �� "$� ���� � �3��� ��� ���� 3$"�+$ "
� ��? ��	
	�� 
 A@ M� 9��
����
�

Qem
��
 9D96�Q�� 7� � 8���7� P

T � ��
�� 7� 6 R���
��

r P

� �	 �	 � ���� ������� �� �� �� ���
(At)t∈r+P.N� %$� �� # � �� � �3��� ! ��$� ���� �� ������� � "( "' "�&��� � " �� � 2 &��2#��� " *��� �� �������

&"$�$����� % �� � �3��� !���"$ # % � ��"���� ��!("� �� ����"������ ������# �� ���� ��&"�! �(���
�� � �� !�"!� �� ����"������ � %��$� ���� 0&"$�����1 &$"����# �� " *��� ����� ������� % �� � !���"���
# � ��� � ��#!�� �� �/�2�� �� ! �� $ ��� �� ��� ����"������ 3$"�+���

Ar+P ⊂ Ar
" � ���� % � %���� ��

! ��$� ���� �� ������� � "( "' � %�&&��# � $ ��� � ��#!�� �� �/�2�� "
�	
���
	 
 A@ �� 6� �D�
E�� 7� 
F9G ��

τ
��
 ���� �� ��� ��� 6�� 9��
����
��

Qre, Qnp, Qrp, Qem
V

� 6��� �� � �

Ar+P ⊂ Ar

� 8����
��
��� �8���
e ∈ Ar+P

" ��" �$+������ % �� �� ����  �� �$# ����
s ∈ Vr+P

3$"�+���
ε(s, r + P ) = e

"
*$+������� ! ���������  �� �$# ���� � %��$� ����

s′
�� �� ! ���#"� � �3���� .

∀t ∈ N, s′t = {τk,i−δk
|τk,i ∈ st+P ∧ i ≥ δk}

� �2�# � �������
t
% �� �$# ����

s′
����� �$+��� ��""��&��� $ �� �$# ����

s
% �$���$� ��

P
 ���$� ��

��!&� 3�"� �� '� �2� % �� "���"����� � � ���������
τk,i

���� �� ���� � %����3����� ��� &���$"�� "� � 
$'��� $

rk + P
"

��" �����" ����� % �� �
ε(s′, r) = e

" � ���� % �� �$# ����
s′

&�"! �� � %�������"� � %$���
e
��

r
$��&�� "4 ���"��� ! ��������� # � �� �$# ����

s′
�&&�"����� $

Vr
"

��" �$+������ % �� �$# ����
s
��� 3����� % �� � ����

∀t ∈ N, |st| ≤ p
" �� �(����� ���"� .

∀t ∈ N, |s′t| ≤ |st+P | ≤ p

*��� % �� �$# ����
s′

"��&���� �� ��!("� �� &"������ "� ���&���( ��� "*�����$"���  �� ��������
τk,i ∈ τ

���� � %$�2$���� �&&�"����� $ � %����"3����
[0, r[

" ��" �����" ��
���� % &� "

t ≥ rk
% �� �

εk(s′, t) = εk(s, t+P )
" � " % &� " �� �$# ����

s
% �� ��� ��� $�2$����� ��� �/�2��

�&&�"������ $ � %����"3����
[0, r+P [

���� "��& ���$�� " � �� �� % � %��������
τk,i

"��& ���� ��� $�2$���� ����
�� �$# ����

s′
"



�, �������� � 	 �� �������� 
 �� ��
� � ��� ��� �� �� �
�� � ��� ������
��" �����" ����� % �2�# � �������� ��$� �$� ���� �� �$# ����

s′
��""��&��� $  �� ��������

��$� �$� ���� �� �$# ����
s
������! ���

P
 ���$� �� ��!&� �&"#� " �� �� �$� �� .

∀t ∈ N, |{τk,i|sems′(τk,i, t)}| ≤ |{τk,i|sems(τk,i, t + P )}| ≤ 1

�� �$# ����
s′

"��&���� ���� � %���� ���� ! � ���� ��� ���#� � � �$!�&2�"�� "*�����$"��� !��������� �� � ��������� ��$�� &�"  �� "������� �� &"$�$�����
τk,i � τk′,i

" *��
�� � ��������� ��""��&������ "��& ����3�!��� ���� �� �$# ����

s′
� � ���������

τk,i+δk

��
τk′,i+δk′�� �� �$# ����

s
" � " % �� �$# ����

s
��� 3����� 5 �# %$ � %�������

r + P
% ����� & � " �� �

t ≤ max{r +
P, es(τk,i+δk

)}
% �� � .

CEs(τk′,i+δk′
, t) = 0��" �����" ����� % �� �� �$� �� &� " �� �

t ≤ max{r, es′(τk,i)}
.

CEs′(τk′,i, t) = 0

�� �$# ����
s′

"��&���� ���� ��� "�������� �� &"$�$����� "
� ���� % �� �$# ����

s′
��� 3����� 5 �# %$ � %�� �����

r
% �� � ����

e ∈ Ar
"*�+* "

� �� �/� ���� .��������

��� "$� ����� �(��� � ���� �� ������� &"$�$����� ���� 3���(��� # ���� # � ���� �� ! $�2��� 2�"��
��'�� ������$"$� " ��" ���!&�� % �� ��� "��"� 3� ���� �� '"�&2� �� ! �"# �'� '$�$"$ &�" �� "$��� ��
���"� &"�&��$ &�" &,-) % ���� �� 3�� ! � ��'���"$ &�" �� !��# �� '$�! $�"�# � &"�&��$ &�" &�� % �,) %� ����"� ���� �� ���'�'� ��'���"$ &�" � %� ��! ��� +�� &"�&��$ ���� &�() " *��� �� &�"��� �� % �� �
&"�&�����  �� �� 3���� ! $�2��� 2�"�� ��'�� (��$� � " ��� �2����� �� 4 �"��3 " �� "��"� 3�  �� !���
�� &� � ��� ! 4!�� &"�&"�$�$� ���� ��� ����"�( ����� �� &"�(�(����$� �(��� �� " *��� �� � ��� % �� �
3$"�+��� ��&$"�! ������! ��� ��� "$� ����� ��  �������� ��� �!&�$! ��������� "$����$�� &� " ���"�
!��# �� (��$ � " ��� �2����� �� 4 �"��3 03��" &�"��� �� 1 "
� �� �
 � ����������� �� �� �� ���

(At)t∈r+P.N*�����$"��� �� � ��#!� �� �/�2�� � �3��� 0&� " ��(�� !���&"� ����� "1 .
rk Ck Dk Tk

τ1
� - '� '-

τ2
� ( � '-

τ3
( ' - -

τ4
- , '� '-

1� � �3��� �&&��# $  �� !$�2��� 2�"�� ��'�� $ �� � ��#!� �� $3�� ��� �� ��!("� � %$���� ������
'��(��� $ �2�# � ������� " 1� � �3��� �"���$ �$&�"$! ��� ��� �� � 3�"������ # � �� � �3��� &"�&��$��
&� " ���$'"�" �� ����"����� &�"���� � " ��� $�2$����� ��� �/�2�� "

��  �������� �� &"$�����
Qre

% �� ��!("� � %$���� �������� $ �2�# � ������� ��� ����# $ ���� ��
��(��� � �3��� .

1�!("� � %$���� ��������
t = 5..19

�� �� '�� ', (, ,, -' � , � � , � � '�
t = 20..34

�� �� '�� ', (, ,, -' · · ·
�� " �� &"$�����

Qre′

% �� ��!("� � %$���� �������� $ �2�# � �� ����� ��� ����# $ ���� �� ��(��� 
� �3��� .

1�!("� � %$���� ��������
t = 5..19

�� ,, ,� '� '� '- '� - � ( � , � � '�
t = 20..34

�� ,, ,� '� '� '- '�
· · ·



� 	� 	 ��������� ������� �-
� �� # � ���� �� &"$�����  �����$ &� " "�&"$�����" �� ����"����� &�"���� � " ��� $�2$����� ���

�/�2�� % �� "�! �"# � # � �� ��!("� � %$���� �������� �� &� � &�� �"� ��"� ���"� �� � !$��&$"�����
� ������3�� 0��� % �� ��� �������� 1 " * %� �"� &�"� % �� � ���

(At)t∈r+P.N
���3�"'� �#� � %�������

t = r
"� % ���������� � &"$�����

Qre′

&�"! �� �� ��! �� �" ��'� �+����3�! ��� �� ��!("� � %$���� $ �"����" "
� �� �� ���� ��������� �� �� �� ���

(At)t∈r+P.N*��� �� ������� &"$�$����� % �� � �3��� &"$����$  � ���!&�� �� �� � ���
(At)t∈r+P.N

���3�"'�
�#� � %�������

t = r
" 2� ��!��� % ��!!� �� !���"� � %���!&�� � �3��� % � %�������

r
�� ������� � &��  ��

(�"�� $ �� � "$� �� ���3�"'���� ��
(At)t∈r+P.N

"*�����$"��� �� � ��#!� �� �/�2�� � �3��� 0&� " ��(�� !���&"� ����� "1 .
rk Ck Dk Tk

τ1
' ( � '�

τ2
, ( , -

��  �������� �� &"$�����
Qre′

% �� ��!("� � %$���� �������� $ �2�# � ������� ��� ����# $ ���� ��
��(��� � �3��� .

1�!("� � %$���� ��������
t = 4..13 , � � , ' ' � � ( �
t = 14..23

( � - ( ' ' �
· · ·

�� " �� � ��#!� �� �/�2�� % �� ���( ��������� ��
(At)t∈r+P.N

�� &"�� �� $
t = 8 > r = 4

" � ���� %
r
� %���

&��  �� (�"�� �� �� � "$� �� ���(��������� �� �� � ���
(At)t∈r+P.N

"
1� � � %�3��� &�� "$ ��� $ &"�� �"�  � ���!&�� �� ����� ���(��������� �&&�"��� �&"#�

r + P
% ��

���� ! 4!� ��"�# � �*+ &"�� ��  �� �$# ���� � %��$� ���� ���� �� � "$� �� !���$� �� �2�"'� ���#��
r + P

" )�&"����� � %���!&�� ( "' &"$����$ &�'� (- " �� �$# ���� &"�� ��� &�" �*+ �� (�&"� ����� "
&� " �� � ��#!� �� �/�2�� ��� � ���# � �#�

t = 14 > r + P = 11
" �� ����� ! ��������� �� ��!("�

� %$���� �����'��(��� $ �2�# � ������� ��  �������� �� &"$�����
Qre′

.
1�!("� � %$���� ��������

t = 3..10
�( �� '� � ( ( ', '�

t = 11..18
�( �� '� · · ·�� � ���

(At)t∈r+P.N
���3�"'� ���� �#�

t = 3 = r
% ���"� # � �� �$# ���� &"�� ��� &�" �*+ 0��

���� &"��� �� ��!&�� &�" ��� ! $�2���� 2�"�� ��'�� 1 ��� � ���# � �� ��!��� $ &�"��" ��
t = 14

" *��
���!&�� !���"� ���� # � ��� ! $�2���� 2�"�� ��'�� &� 3��� ���3�"'�" ���"� # � ��"������ �$# �����
���� ����"� �� &2��� �� !���$� �� �2�"'� " *� ������� ��� !#"�  � �3����'� ��"���� � � !$�2����
2�"�� ��'�� 3���$�3�� �� �� � "$� �� ��! ������ &�" "�&&�"� � � &�����# �� ��� ��'�� ��!!� �*+ ����+ " ��" ���!&�� % $ �� &�'� (� % �� � �3��� &"$����$  � � ��#!� �� �/�2�� ���� �� "$'�! � � ���# �
�� �� �$# ���� � %��$� ���� &"�� ��� &�" �*+ �� (�&"� ����� " ��!!���� ��

t = 139 > r+6P
" 1� �

�3��� �&&��# $ ���"� ! $�2��� 2�"�� ��'�� $ �� � ��#!� �� �/�2�� . ���� ���3�"'� �#�
t = 11 = r �

� �� �	 ������� ��� �� ������ �����
�� !��� # � �� � � %� ��� &�� & �(��� �"  � � ��#!� �� �/�2�� ���� �� � "$� �� ���(���������

���#��
r +P

�� � � �! ��$ $ ���5 ��� "�" # �
[0, r +P [

& ���� 4�"�  � ����"3���� � %$� �� " 2� ��!��� %
� %���!&�� � �3��� !���"� # � ��"����� � ��#!�� �� �/�2�� &� 3��� 4�"� �"������5�(��� 5 �# %$  �
������� &���$"�� " $

r + P
(��� # %�� � %�� ���� � � �� �$# ���� ��+��!��� 3����� "*�����$"��� �� � ��#!� �� �/�2�� � �3��� 0&� " ��(�� !���&"� ����� "1 .

rk Ck Dk Tk

τ1
, ( - -

τ2
' - - '-

��  �������� �� &"$�����
Qre

% �� ��!("� � %$���� �������� $ �2�# � ������� ��� ����# $ ���� ��
��(��� � �3��� .
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t = 4..18 , � ' � ( ' � ( , , ' � ( � ''
t = 19..33

( � ' � �

�� �� ���� ���� ��� �$# ����� 3������ 5 �# %$ � %�������
t = 21 > r + P = 19

% !��� ��� ��� � � ��
�$# ���� � %��$� ���� �� &�"! �� �� "��&����" �� ��� ��� ����"������ "*�� ��\$"���� ���!&��� �� � �! #���� $ ���5 ��� "�" ��� �� � &����� � �3���� .

[ &� " �� � � ��#!� �� �/�2�� �"������5�(�� % ��� ! $�2���� 2�"�� ��'�� ���3�"'��� � &� � ��"�
��

r + P − 1
%

[
[0, r + 2P [

���  � ����"3���� �� !����(����$ ! ���&"� ����� " &� " ��� ! $�2���� 2�"����'�� "
� �� �� ��������� � ���������� �������������

*��� ����� ������� % �� � ������$"��� ��� ! $�2���� 2�"�� ��'�� # � �� &"������ �� ��!&�� # �
��� �$# ����� �����"3���3�� "*�����$"��� �� � ��#!� �� �/�2�� � �3��� 0&� " ��(�� (�&"� ����� "1 .

rk Ck Dk Tk

τ1
( - � �

τ2
� , � �

τ3
� , � �

τ4
� ' , �

��  �������� �� &"$�����
Qre

�� �� ������$"��� �� ��� ��� �$# ����� � %��$� ���� 0�����"3���3� ��
���������"3���3�1 % �� ��!("� � %$���� �������� $ �2�# � �� ����� ��� ����# $ ���� �� ��(��� � �3��� .

1�!("� � %$���� ��������
t = 3..10

�( �� '� � ( ( ', '�
t = 11..18

�( �� '� · · ·
��  �������� �� &"$�����

Qre
�� �� ������$"��� ����� !��� �� ��!��� ��� �$# ����� � %��$� ����

�����"3���3�� % �� ��!("� � %$���� �������� $ �2�# � ������� ��� ����# $ ���� �� ��(��� � �3��� .
1�!("� � %$���� ��������

t = 3..10
( - ( � � � � �

t = 11..18 � '' � , ( ( '� '(
t = 19..26

', '� '( - ( (
· · ·

*�� ���!&�� !���"� # � �� !��� �� �� ������$"�" # � ��� �$# ����� � %��$� ���� �����"3���3��
"�&� ��� �� ���( ��������� �� �� � ���

(At)t∈r+P.N
" *� &� � % �� "�! �"# � # � �� &"�&"�$�$ �� �$�"����

����� �� �� � ���
(At)t∈r+P.N

� %��� &�� 3$"�+$� . $ � %�������
t = 3

% ��  � ( $���� �����'��(��� % �� $
�� ! $��& $"���� � �3���� ��

t = 11
% ��  � � $���� �����'��(��� " � ���� % �� !��� # � �� ��!("� � %$����

���3�"'� � %�!&��# � &�� !�"�$! ��� # � ��� ����!(���
At

��""��&������ ������ $'� � " 1��"� ���� ��
�� � %�&&��# � ���� &�� ��"����! ��� � � !$�2���� 2�"�� ��'�� ������$"��� �� ��!��� ��� �$# �����
�����"3���3�� %  �� $� �� � &&�$! �����"� ��� ���"� �$������"� "
� �� -��� ��� ���

�� " ��� ! $�2���� 2�"����'�� �"������ ��� �$# ����� �����"3���3�� �
 ���������"3���3�� % �� �
�3��� &"�&��$  �� ! $�2��� &�"! ������ � %�(����"  �� � "$� �� ��! ������ +��� . � %����!(�� ���
$���� �����'��(��� ��� �$�"������� �� +��� &�" �� ���(�����" " � ���� % �� ��!&�"��� �� ��!("� � %$����
�����'��(��� $ �� � �������� �������� � %������! ���  �� ! $��&$"���� % �� &� � �$����" �� ��"! �������
��� ! $�2���� 2�"�� ��'�� "

1� � �3��� �(��"3$ ��&$"�! ������! ��� �� � "$� � %$� �� �$������"� &� " ��� ! $�2���� 2�"����'�� "
1� � �3��� !���"$ # %���� &� � 4�"� �� !$"�� "� $

r + 2P
!4!� ��"�# � ��� �$# ����� � %��$� ����

��!!� ������ �� �*+ �� ��3������� � ���# �� # %�&"#�
r + P

% �� �$��������� ����  � ����"3����
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� %$� �� & � � '"��� # �
[0, r + 2P ]

" *� &� � % �� � � %�3��� &�� "$ ��� $ �����" �"�  � � ��#!� ��
�/�2�� �$���������  �� � "$� � %$� �� &� " ��� !$�2���� 2�"�� ��'�� # � ���� � &$"�� "� $

r + 2P
"2� ��!��� % �� � � %�3��� &�� & $��(��" !�"!����! ���  �� ����� (�"�� " *� &������$ ��!(�� 4�"�  ��

3��� ���$"������� �� "��2�"�2� & ��# %�� "���"��� ��� ! $�2���� 2�"����'�� &� � "�&���! ��� ��! ��( ���
&� " ��� � ��#!�� ! ���&"������ "� # � ��� &�����# �� �����'�� "�� &"��� �� ��!&�� ��� �� ��� �$# ����� �����"3���3�� ��!(�� "�! ���"� �� # ������  � ��"����
��!("� �� ��� "$� ����� " � %$� �� ��� ! $�2���� 2�"�� ��'�� ������$"��� �� ��! ��� ��� �$# �����
�$�������  �� ���� �� � &&�$! �����"� " +�����! ��� % �� � �3��� ������$"$ ��� ��� �"�2 ����� "�� ! ��
��&"� ����� "� �� &"$�!&��3�� �3�� ! �'"����� '��(��� " * %� �"�� � &�� � %��$� ��!� &� 3��� � ��� 4�"�
$� ��$� "
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*� ��!("� � ��$� ��!� ��!&��"$�� ���� (��$� � "  � ��!("� ��! ��$ �� ��3�� � �� &"��"��$ &'�-) "�$�$"���! ��� % $ �2�# � �/�2� ��� ���"�( $  � ��3�� �� &"��"��$ �������� �� ��� � ��� � �"�� �/�2�� "��� �"�������� "�  �����$� &�" ��� ��$� ��!� �&&�"�������� $ �� ������ ��� &�����# �� $ &"��"��$�+��� " �� " ��� � ��#!�� �� �/�2�� ���$& �������� $ �$&�"�� ��! ����$� �"�������$� �� ��������

!���&"� ����� " &"$�!&��! % �� �� ���� ��� &���� �# �� $ &"��"��$� +��� �&��! ���� ���� �� ������ �+� %
&�" ���!&�� *4 &�') " 4 ��2� "� ��!��� % ���� �� � �������� & � � '$�$"�� % �� � %�� ���� &�� �� &�����# �$ &"��"��$� +��� �&��! ��� ���� �+� " � %���"�( ���� ��� &"��"��$� ������� � ���� � % � ��� ��5 � �
!�5 � "� ��"� �� �� �����&���� �� ��� � ��#!�� ��!&��"$�� "

�� " �� �������� !���&"� ����� " &"$�!&��! % &� ) &"�&���  � ��'�"��2! � �&��! �� ���� �+� ��
��!&��� ��$ &�� ���&�� ��! ���� &� " ���"�( �" ��� &"��"��$� � � �/�2�� " �� " ! $�2��� "�&��� � "
�� &"�&"�$�$ � �3���� . ��� ��!&� �� "$&���� �� �� �/�2� �� &� � !��(�� &"��"��$ �� �$&������ &�� ��
� %�"�"� �� &"��"��$ ��� � �"�� �/�2�� " � %��'�"��2! � �������� ���"� $ "��2�"�2�"  �� �/�2� # � & ����
�3��" �� &"��"��$ �� & � � !��(�� .

'" �� �$���������  �� �/�2�
τk

&� " 4�"� ����� �� &� � !��(�� &"��"��$ %
� " �� ���"�( � ��� &"��"��$� # �����# �� � � � �"�� �/�2�� % &� "3 # %����� ������ � &$"�� "�� $

����� ��
τk

%
( " �� ��! �� � %��$� ���� �� �(��"3��� ��� ��!&� �� "$&���� ��

τk
%

, " �� �� ��� ��� ��������� ��
τk

"��& ������ �� " $�2$���� .
� ���"� �� ���"�( � �� &� � !��(�� &"��"��$ $

τk
�� �� "$& #�� � %��'�"��2! � �3��

τ \ {τk}
%

� ����� �� "��2�"�2�  �� � �"� �/�2� &� " 4�"� ����� �� &� � !��(�� &"��"��$ "
*���� ! $�2��� ��� �&��! ��� &� " ���"�( �" ��� &"��"��$� +��� � � �/�2�� " � �2�# � $��& � % �� ����
�����" � &� �

n
�/�2�� ��!!� ��������� $ �� &� � !��(�� &"��"��$ " �� ��!&��� ��$ �� ����� ! $�2���

��� ���� ��
O(n2.S)

% ��
S

��� �� ��!&��� ��$ � &"� ���� � & �"! ������ �� �$��"! ���" �� �� ��� ���
��������� � % �� �/�2� "��& ������ �� " $�2$���� " �$�$"���! ��� % � � �� ��������� � %�"������5�(����$
&�� ��! ���� �� &� � 4�"�  �����$� %

S
��� ���� �� ��!&��� ��$ ��&���������� "

�� �������� ! ���&"������ " % �� &"�&"�$�$ $ �� (��� �� ��� ��'�"��2!� � %��� &� � 3$"�+$� &�) " ���� &� � ���� &�� 4�"� $���� � �������� ! ���&"� ����� " ���� & �"�"� � %�&��! ����$ �� � %���"�( �
���� ��� &"��"��$� " *��� �� �2�&��"� % �� � �$3���&&���  �� �&&"��2� &�"! ������ � %���"�( �" ���
&"��"��$� +��� &� " ��� ��������� ! ���&"� ����� "� " 2� � � %�(�"� % �� � ��"���$"����� ��� �$# �����
� %��$� ����� &"�� ���(��� &�" ��� &�����# �� $ &"��"��$� +��� " � &�"��" � % �� �$# ���� � %��$� ����
3����� # �����# � % �� � &"�&����� ��� ���  �� ! $�2��� &� " �$��"! ���" � %�� �� ����  �� ���"�( ����
�� &"��"��$� +��� # � &�"! ���� � %��'���"�" ����� �$# ���� " 1� � &"�� ����� � ��� � %����!(�� �� ���

� '
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���"�( ����� ��"�# %�� �� �� ���� " *� "$� ���� & �"! �� �� �"���!�"! �" � %�!&�"�� # ���� �$# ���� � %��$�
� ���� 3����� 0&�" ���!&�� �(��� � &�"  �� &�����# � �� ���'�� � &�"  �� ! $�2��� 2�"�� ��'��1 ��
 �� �$# ���� � %��$� ���� ������# � ! ��� &"�� ��� &�"  �� &���� �# � $ &"��"��$� +��� " ��� ��$� ��!�
��!&��"$�� "�&����� '$�$"���! ��� � " ��� &"��"��$� +��� % ���"� ! $�2��� &�"! �� �� �� " ���$'"�"
��� �$# ����� � %��$� ���� ��\$"����� �� ������ !� "���� &�" ��� &�����# �� $ &"��"��$� +��� ������# ��
# � % "�&&�������� % �� ���� '$�$"���! ��� &�� �&��! ���� "

+�����! ��� % �� � ��!&�$���� ���"� �&&"��2� &�"  �� ! $�2��� &�"! ������ �� �$��"! ���" � %���
��!(�� ��� ���+' "������ �� &"��"��$ +�� # � &�"! ������ � %�"��������"  � � ��#!� �� �/�2�� ����$ %
���� $� !$"�" �� ��� ���

n!
���+' "������ &����(��� " 1��"� !$�2��� ��� �&��! ��� &� " ���"�( �"

��� &"��"��$� +��� �� �������� ! ���&"� ����� " &"$�!&��! �3�� ! �'"����� ������ " �� ��!&��� ��$ ��
���"� ��'�"��2! � ��� &"�&�"��������� � ��!("� �� ���+' "������ 3������ " 1�� ��&$"�! ���������
���+ "! ��� �� &���� & ��# � �� ��!&� �� ���� �  �����$ &�" ���"� ��'�"��2! � ��! �� � ��"�# � ��
�2�"'� � � ��#!� �� �/�2�� � '! ���� "

*��� �� ������� � "( % �� � $� ����� ��� "�������� �� &"��"��$ ��� ���� &�"  �� �$# ���� � %��$� ���� "��� ��� % �� � �������  �� ! $�2��� &� " �$��"! ���" ��� ���+' "������ �� &"��"��$ +�� ��'���"���
 �� �$# ���� � %��$� ���� ����$� " +�����! ��� % �� � &"�&�����  � ��'�"��2! � &� " �$��"! ���" ���
���+' "������ �� &"��"��$ +�� �"������5���  � � ��#!� �� �/�2�� ����$ " *��� �� ������� � "- % �� ��&&��# ��� ���"� !$�2��� � ��� ��� � ��#!�� �� �/�2�� ���$&�������� ��$� �$�� �� ! ���&"��
����� " % �� ���� �� ������� � "� % �� � $3�� ��� ��&$"�! ������! ��� �� ��!&��� ��$ �� ���� � �� ���"�
! $�2��� % ����� # � �� & ������� � %�"��������! ��� # %���� &�"! �� � %�������"� "

� �, -���./�. � 0����.
1� � $� ����� ��� �$# ����� � %�"��������! ��� ! ���&"� ����� "� &"$�!&��!� �3�� ! �'"����� ���

���� ��'���"$�� &�" ��� &�����# �� $ &"��"��$� +��� " 1� � ������$"��� ��� � ��#!�� �� �/�2�� ���
�$&�������� % $ $�2$����� �3��� � � " "�# 4�� % �� $ �$&�"�� ��\$"$� " � ���� % ���� �� �� �$# ����
3����� % �� �� ���� $ �2�# � �� ����� � &� �  �� �������� ����3� �� �2�# � �/�2� " *���� &"�&"�$�$ &�"�
!�� �� "�&"$�����" ��� �$# ����� � %��$� ����� 3������ �� ����# ��� % $ �� &���� ��� �� ������� ����3�� %
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∀τk ∈ τ, k 6= i ⇒ (τi, τk) ∈ RP (s)
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τj

��� ����
n−1

" *� &"� �2� �� &"� �2� % �� ���"�( � ��� ��  �� &"��"��$$ �2�� �� ��� �/�2�� "8 &&����� ! ��������� # � �� "�������
RP (s)

���� &�"������ " � ��"� % �� �� ���� � !����  � �� &��
�� �/�2��

(τi, τj)
3$"�+���

(τi, τj) 6∈ RP (s)
��

(τj , τi) 6∈ RP (s)
" ��� &"��"��$� ��

τi
�� ��

τj
��

���� ���� &�� �$&�"��'$�� � ���� ��'� �+� # � ��"� �� �� '$�$"����� �� �� �$# ����
s
% �� � %��� 5 �!���



�	� 	 �� ������� 
�� ���� ���������� ��� ����
�� ��

�$������"� �� ��!&�"�" �� &"��"��$ ��
τi

�3�� ����� ��
τj

" �� "�������
RP (s)

��""��&��� ���"� $
&� ��� "� ���+' "������ �� &"��"��$ " �� " ��� �(����" % �� �����" �� �� � "�������� ����"!$����"�� .

R1 = R ∪ {(τi, τj)} ∧ R2 = R ∪ {(τj , τi)}
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n!

1 � ����� ��� &� ��3���'��(�� " 2� ��!��� % ��� ! �5�"���� �� �� � "$� �� !���$� �� �2�"'� # �
�� � �3��� &"�&��$� ���� �� �2�&��"� - &�"!������ �� !���"�" !�����! ��� # �

r +
∑n

k=p+1 Tk
���

 �� (�"�� � &$"�� "� 3���(�� # ���� # � ���� �� ���+' "����� �� &"��"��$ +��  �����$� "
�� " � %�! &�$! �������� �� ���"� ��'�"��2! � % �� � �3��� 3� � ! ���! ���" � !�� �! ! �� � "$�

�� ��! ������ $ �\��� �" " �� " ���� % ��  ������  �� !$�2��� �� �$������� ;$ �� 3��$�< �� � %���"$�
���� �� "$'�! � � ���# � " *�����$"���  � �������

t ≥ r + P
" 8 � � %$��� ��� �/�2�� ��� �� ! 4!� ��

t�� ��
t − P

���"� �� �$# ���� � %��$� ���� ��� � ���# � $ &�"��" ��
t − P

% �� � %����"3���� � %$� �� ���
[0, t]

" � %$��� � % �� �/�2�
τk

$ � %�������
t
����  �� �$# ���� � %��$� ����

s
��� �$�"�� &�" �� # �����$

Ck,b(t−rk)/Tkc(s, t)
" � &�"��" �� �� "$� ���� % �� � &� 3��� �$��"! ���" ;$ �� 3��$�< � %������� �� ���

�$# ����� � %��$� ���� ���� �� ��� � ���# �� �� ���� � %������� $ &�"��" � # �� �� (���
BV

t,p(τ)
���

���(�� "
� �� �	 � ��������� �� �� ��� � ��

Bτ,t,p,V� %��'�"��2!� # � �� � &"�&����� �����" �� "$� "��3�! ���
Bτ,t,p,V

�� �!&�$!���� �� �"��#"� � %�"�
"4� ��""��&������ � ��� '$�$"�� " � �2�# � �������

t ∈ N
% �� ��" �� "� �� ����$��  �����$�

��""��&��� $  �� ����� �� �"�&���� ��!&��$� ����� .
[

R
.  �� "������� �� &"��"��$

[
Ik = Ck,b(t−rk)/Tkc,t(s(R, p, t))

. �� ��� ����� �� "���� �� �2�# � �/�2�
τk[

(Mk)τk∈τ
. �� ��� ����� ��� �/�2�� � �$( � �� �� !$��&$"���� �� "����

)�!�"# ��� # � �� ������������ ��
I
�� �� � %������� �� "���

t
&�"! �� �� �$��"! ���" � %$��� ��

� %����!(�� � � ��#!� . �� &� � �� �$� �"� &�" ���!&�� �� ��� ��$ �� �2�# � �/�2� 0
laxk(I, t)

1 % ���
�/�2�� ����3�� 0

act(I, t)
1 " ��" ���3������ % ��"�# � �� �/�2�

τk
� %��� &�� ����3� % �� ������#"� # � ��

��� ��$ ��� ��+��� 0
τk /∈ act(I, t) ⇒ laxk(I, t) = +∞

1 "



�	� 	 �� ���� ��
����
�� ��� '�(
�� +' "� � ", ����# � � %��'�"��2! � �����" ����� ��� "�������� ��

Bτ,t+1,p,V
"$� ����� � % �� "�������

��
Bτ,t,p,V

" �� " �(����" �� (��� ! ���! ��� ���(����$� % �� � � �3��� �� ! $�2��� � �3���� " � �2�# �
$��&� % � %��'�"��2! � "$���������� ��� �2�!&�

Ik
��� �/�2��

τk
# � �� "$����3��� $ ��� ���������$ " ��� ��� %

�� "��2�"�2� ��� �$# ����� � ���# �� " ��+� % �� �����" ��
Bτ,t+1,p,V

$ &�"��" ��
Bτ,t,p,V

" )�!�"# ���
# � �#� # � � %��'�"��2! � �$�����  �� �$# ���� � ���# � % �� "���"� �� "������� ��""��&������� ��

B
��

�� & ���� ����
res

" ��"�# � � %��'�"��2! � ��"! ��� %
res

�������� �� (��� ! ���! ��� ���(����$� " �� +' "�
� "- ����# � � %��'�"��2! � �����" ����� �� (��� ! ���! ��� ���(����$� "

�� ��!("� � %$�$! ���� ������ � ����
Bτ,t,p,V

��""��&��� � ��!("� �� �$# ����� 3������ �� ���
'���"�(��� &�"  �� ���+' "����� �� &"��"��$ +�� % �� �� �$&��� ���� &�� � ��!("� �� ���+' "������
�� &"��"��$ +�� &����(��� 0

|τ |!
1 "

�� "  �� "�������
R′ ∈ Bτ,t+1,p,V

% �� �� ����  ��  ��# � "�������
R ∈ Bτ,t,p,V

��  ��  ��# �
������

a ⊂ act(I)
������ # �

R′ = R ∪ RPact(I)(a)
" � ���� % �� (���

B
�����" ��� &�" � %��'�"��2!� ��

�������� &�� �� �� (��� . �2�# � "������� � % �&&�"��� # % �� �� �� !��� " *���� &"�&"�$�$ ��� �"#�

���
(t, R, I, M, B′, a, k) �

s :=
∑|τ |

k=1 ak��
k > |τ |

���� �
��

s = min{p, |act(I, t)|}
���� �

�����
�
� ��� �

���� ����
τi ∈ τ

��� ���
ai = 1

�
���� ����

τj ∈ act(I, t)
��� ���

aj = 0��
(τj , τi) ∈ R

���� � �����
�
� ����

�� ����� � ��� � ���� �
B′ := B′ ∪ (R ∪ RPact(I,t)(a), I + a, M)��	�	

��
s < p

��
τk ∈ act(I, t)

���� �
���

(t, R, I, M, B′, (a1, .., ak−1, 1, ak+1, .., an), k + 1)��
laxk(I, t) > 0

���� �
���

(t, R, I, M, B′, (a1, .., ak−1, 0, ak+1, .., an), k + 1)

WXY Z � ", [ � �'�"��2! � �� ���� � ��� "�������� ��
Bτ,t+1,p,V

"$� ����� � % �� "�������
R ∈ Bτ,t,p,V

t := 0
B := {(∅, (0, . . . , 0), (−1, . . . ,−1))}
res := ∅��	� ���

B 6= ∅
�����

���� ����
k

��� ���
t ∈ rk + T.N

���� �
���� ����

(R, I, M) ∈ B
�����

Ik := 0��
t ∈ r + P.N

���� �
���� ����

(R, I, M) ∈ B
�����

��
I = M

���� �
res := res ∪ R
B := B \ {(R, I, M)}��

M = (−1, . . . ,−1)
���� �

M := I
B′ := ∅
���� ����

(R, I, M) ∈ B
�����

���
(t, R, I, M, B′, (0, . . . , 0), 1)

B := B′

t := t + 1

WXY Z � "- [ � �'�"��2! � �� ���� � ��
Bτ,t,p,V



'�,�������� �	 ���
 ������ 
�� ���� ���������� 
� ��������� � ���� ����
��
�!&�"����� . �� ���� � %$���� &�� 3$"�+$� % �� ��"��� �$������"� % $ �2�# � �5� � � % �� "������� ���� ��
(��� % �� 3$"�+�" �� ���� � % ��� &�� �$5 $ � ���� ���"����"���  �� ��!&��� ��$ �"#� �!&�"����� "� %��'�"��2!�  ������ �� � �&$"������ � " ��� "�������� �� &"��"��$ . �� "��2�"�2� � % � �� &��

(τi, τj)���� �� ��7� "� �"������3� � % �� "�������
R
% �� � %�5� � � % � �� &��

(τi, τj)
$ �� ��7� "� �"������3�

� % �� "�������
R
% ���2��� # � ��� ���� � %���"���� &�� �� � ��� " �+� �� "$�����" ��� �� � �&$"������

�9 ����! ��� % �� ��� �$������"� �� �$3���&&�"  �� ��" �� "� �� ����$� ���&�$� "
�� &� � �&��! ���" � %��'�"��2! � $ &�"��" � ������� � �3��� " 2��� # � ���

p
�/�2�� ��� &� �

&"��"����"�� 0&� "  �� "������� ����$� 1 "������ ����3�� % � %��'�"��2! � �\��� � ��� ���� �� "��������� .$ �2�# � ������� % �� "��2�"�2� �� ��� ��� ������� &����( ��� �� �$��"! ��� ��� "�������� ��'���"$�� " � " %
�� � % � # % �� �� �� ������ &����(�� . ������ �" $ ��$� ��" ���

p
�/�2�� ��� & � � &"��"����"�� % ��

���"� �� "������� �� &"��"��$ � %$3�� � &�� " *�!!� ��� �� ������ � %����3����� ��� �/�2�� ���� ���� �
�� # � �� � "$� � %��$� ���� ��� �/�2�� ��� � ��� ���� � % �� &� � &"$3��" ��� �������� � �# ��� ��
��!(������� �� �/�2�� �� �� "� � %��$� ���� "��# � �� �2��'�" " � �  � � �� � %��'�"��2! � % �� �� ���
��������� �$ ���� �!&�"����� % �� &� � ���� "$�����" ��� ; �� �� ��!&�"���< � ��� �� �"����" �2�# �
������� "
� �� �/� ���� .��������

� �� �
 �� ����� �� � ������������ �� �� ������� ���

�� ����� �� 3��������� � � ��#!� �� �/�2�� � �3��� � "  �� �"�2����� "� (�&"������ " .
rk Ck Dk Tk

τ1 15 7 11 38
τ2 47 1 8 38
τ3 4 4 43 45
τ4 17 8 13 19
τ5 43 3 3 6
τ6 22 8 11 19
τ7 30 6 25 25*� � ��#!� �� �/�2�� � %��� &�� �"������5�(�� &�" )4 �� *4 " *� &� � % !4!� ��� &�����# �� $

&"��"��$� � ��! �# �� �*+ �� ��+ $�2� ��� $ � %�"��������" " �&&��# ��� ! ��������� ���"� !$�2���$ �� � ��#!� �� �/�2�� "�� (��� ! ���! ��� % ���( ����$� �#�
t = 17147

�� &"�� ��� &�" � %��'�"��2!� �� �� ������� � "- "( %��������  �� �� �� "������� �� &"��"��$ 0���$�
R

���� �� � ���1 .
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� # �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� � �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� $ �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� ! �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� � �

�� ����� # ��� ��� � �� ��� ������ ��� �� ����� � �

�� ����� $ ��� ��� � �� ��� ������ ��� �� ����� # �
�� ����� $ ��� ��� � �� ��� ������ ��� �� ����� � �
�� ����� $ ��� ��� � �� ��� ������ ��� �� ����� ! �
�� ����� $ ��� ��� � �� ��� ������ ��� �� ����� � �

�� ����� � ��� ��� � �� ��� ������ ��� �� ����� # �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� � �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� $ �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� ! �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� � �

�� ����� ! ��� ��� � �� ��� ������ ��� �� ����� # �



�	� 	 ��������� ������� '�-
�� ����� ! ��� ��� � �� ��� ������ ��� �� ����� � �
�� ����� ! ��� ��� � �� ��� ������ ��� �� ����� � �

�� ����� � ��� ��� � �� ��� ������ ��� �� ����� # �
�� ����� � ��� ��� � �� ��� ������ ��� �� ����� � �

�� (��� � %$���� &�� 3��� % �� � ��#!� �� �/�2�� ��� ���� �"������5�(�� �� &"��"��$� +��� " )��
!�"# ��� # � �� "�������

R
� %��� &�� ������ & ��# � ��� �/�2��

τ1
��

τ5
�� ���� &�� �$&�"��'$�� " ��

�&&��# ��� �� !$�2��� �� �� ������� � "( "( % �� �(����� �� � ���+' "������ �� &"��"��$ ��!&���( ���
�3��

R
"

2���
R1 = R ∪ {(τ1, τ5)} R2 = R ∪ {(τ5, τ1)}

τ1
� �

τ2
� �

τ3
' '

τ4
- -

τ5
� �

τ6
, ,

τ7
( (

*�� ���!&�� !���"� ����"�! ��� # � ���"� ! $�2��� &�"! �� � %�(����" ��� ��� ����� � %�"�������
��! ��� �� 3����� &�" "�&&�"� � � &�����# �� 2�(�� ����� " �� !���"� � ��� # � ��� ��'�"��2! �� $
&"��"��$� � ��! �# �� ��!!� �*+ �� ��+ ���� ��!&�$! �����"�� �3�� ��� ��'�"��2! �� $ &"��"��$�+��� " * %� �"� &�"� % �� ���� � �� �� (��� ! ���! ��� �� ��� �� � ���+' "������ �� &"��"��$ +�� 3������
&"��� !���� � % � ��� �#!� �� ������� � "  � �&&���� - $ � %-��� "*��� �� �2�&��"� - % �� � �3��� !���"$ 0�2$�"#!� - "'1 # � � %�"�"� �� &"��"��$ ���"� ���

p
�/�2��

��� &� � &"��"����"�� � %� &�� � %��� ���� � " �� �$# ���� &"�� ��� " �� "��"� 3� ��� ����� &"�&"�$�$
& ��# � �� "������� ������ � ���� �� (��� �� �$&�"��'� &�� ��� �� � �/�2�� ��� &� � &"��"����"�� 0

τ1��
τ5

1 "
� �� �� ������������ ��������

*��� ����� ������� % �� � ��!&�"��� ���"� !$�2��� % �&&��$�
PFX

% �3�� ��� &���� �# �� � %�"�
��������! ��� )4 % *4 % �*+ % ��+ % �� � ��� �3�� � %��'�"��2! � )4 �68

[m/(3m − 2)]
�$+�� ����&-) "1� � �3��� '$�$"$ ��$����"�! ��� &� ��� "� $�2��������� �� � ��#!�� �� �/�2�� " *2�# � $�2�� �

������ �������� '��� � ��#!�� �� �/�2�� �$+��� &� "  � ��!("� �� &"� ����� "� ����$ 0
p ∈

{1, 2, 3, 4}
1 ��  �� �2�"'� *�6 ����$� 0

U ∈ {p − 0, 5, . . . , p − 0, 1, p}
1 " ��� &�"�! #�"�� ��� �/�2��

���� ���"�( $� ��$����"�! ��� ��  �������� �� !$�2��� � �3���� .
'" ��� & $"����� 0

Tk
1 ���� �2������  � �!�"! $!��� ���"� ' �� '�� %

� " ��� � "$�� � %��$� ���� 0
Ck

1 ���� �2������  ��!�"!$!��� ���"� ' �� ,� %( " ��� $�2$����� 0
Dk

1 ���� �2������  ��!�"! $!��� ���"�
Ck

��
Tk

%
, " ��� ����� �� &"�! �#"� ����3����� 0

rk
1 ���� �2������  � �!�"! $!��� ���"� � ��

Tk
"

*2�# � � ��#!� �� �/�2�� ��� '$�$"$ ��$"���3�! ��� �� �5� ����  �� �� 3���� �/�2� ���� # � �� �2�"'�*�6 �$��"$� � %��� &�� �������� " �� !� ���� % �2�# � � ��#!� ��������  �� ������� �� �/�2�� "*2�# � � ��#!� �� �/�2�� ��� ��! �$ $ � %���� �� �2�# � !$�2��� � %�"��������! ��� " � �� �� % �� �
�(������ &� " �2�# � $�2�������� �� �2�# � !$�2��� � %�"��������! ��� �� ��!("� �� � ��#!�� ��
�/�2�� # %���� & �"!�� � %�"��������" " *� ��!("� �$�"�� �� & ������� � %�"��������! ��� �� �2�# �
! $�2��� " 1�� "$� ����� &"$������� �� & ������� � %�"��������! ��� ��� ! $�2���� )4 % *4 % �*+ %��+ % )4 �68

[m/(3m − 2)]
�� �+� 03��" +' "� � "� 1 " 1� � �� � ���$"������ &�"��� ��#"�! ��� $ ��

�� "( � �+� # � ��""��&��� $ �� ! $�2��� # � �� � &"$������� ��� �� # � ��� "�&"$�������3� �� ��
& ������� � %�"��������!��� ��� ��$� ��!� ��!&��"$�� $ &"��"��$� +��� "2� � ��� � ��#!�� �� �/�2�� �� ���� &�� �"������5�(��� " 2� ��!��� % �*+ �� ��+ ���� �&��! � �
�� !���&"� ����� " % ��� �� �� " & �"!�"!���� ����# � ���� �� ��������� �$ �� �� � �� � ��#!�� �"����
���5�(��� " ��� &�"!�"! ����� �� *4 �� �� �+� ���� �"#� &"� �2�� (��� # � *4 �� ���� �&��! �� ��
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�	�	 ��� �� ����� '��
!���&"� ����� " # � ��"�# � ��� �/�2�� ���� $ �$&�"�� ��! ����$� " �� &���� �# � *4 % (��� # � � %$����
&�� �� 5� "� �&��! ��� �� !���&"� ����� " % ��� ����  �� �"#� (���� &���� �# � � %�"��������! ��� ��
&"��"��$� +��� " � �� �� % � % ���������� � %� �"�� &�����# �� $ &"��"��$� +��� �� !���&"� ����� " �� ��!(��
&�� &"�! ���� �� "

��3�"��! ��� % � � �� &�����# � �����'�� � %��� �&��! ��� �� ! ���&"� ����� " &(,) " *��� �� �������� %
��� "$� ����� ����# $� � " �� +' "� � "� !���"��� # � ��+ ��! ��� �� ��� ��� � �"�� ! $�2���� " *��
&������ % ��� �"��������! ���� &"�� ��� &�" ��+ �����������  � '"��� ��!("� �� �2��'�! ����
�� �������� " �$�$"���! ��� % �� ���� *�6 ��� �� � %��� &�� ����&��( �� " �� !��� % ���� ��� ��&$"��
!��������� % ��+ ��"� &"����&���! ��� �� "$!$"���� &� " �&&"�� �! �" �� �� � �� � ��#!�� �� �/�2��
�"������5�(��� "

1�� "����! ��� % �+� ��! ��� ��� �"��� � �"�� &���� �# �� $ &"��"��$� +��� 0)4 % *4 �� )4 �68
[m/(3m − 2)]

1 " � �� �� % � � �� ��� �"��� �� & �"! �� � %��&�����" & �����! ��� �� & ������� �� � %�"�
��������! ��� �� &"��"��$� +��� " *� &� � % ��� "$� ����� !���"��� � ��� # � �+� ��! ��� �*+ " *�
"$� ���� ��� � "&"����� . �� ��� & � � ���$"������ � %�"��������" �� &"��"��$� +��� �3��  �� ���"�( ����
��� &"��"��$� ���&�$� $ �2�# � � ��#!� # � � % ������"  �� &���� �# � � %�"��������! ��� $ &"��"��$�
� ��! �# �� ��!!� �*+ # � ��� &� "���� ��"'�! ��� "����� � &� " ��� # ����$� ���� �� ��! ���� "�� & ������� � %�"��������! ��� �������� &�"��� �"#� ���� "�'����� &� " ��� ! $�2���� ;2�"����'��<
�� ���� � �� &"��"��$� +��� ��!!� �+� "�� +' "� � "� &"$����� �� ��!&� �� ���� � ! � ��  �����$ &�" �+� � "  � �&&���� - $ � %-�� � &� " � � ��#!� �� �/�2�� " �� ��!&� �� ���� � 3�"�� ����� � %��3�"�� �� �� �2�"'� ��� � ��#!�� �� �/�2�� "* %���  �� ����$# ���� ��"���� �� � % ���������� ��� (���� &� " "�&"$�����" � %����!(�� ��� ��� ����� $
 � �������

t
. �� ��!&��� ��$ ��� &"�&�"��������� � ��!("� �� �$# ����� 3������ �� ���' � "

t
% � 

��� � ��!("� �� ���+' "������ �� &"��"��$ +�� &����(��� 0
n!

1 " *��� % &� � ��� � ��#!�� �� �/�2��
���� ����"����� % !���� ��  � �� ��� ����� �� ���� % &� � �� ���� � ��� �� "� " *���� &"�&"�$�$ ��� �"#�
���$"������� �� & �"! �� � %��3���'�" � % ���������� �� �+� �3�� ��� � ��#!�� �� ������ ��� ��"����� "

� �� -��� ��� ���
1� � �3��� &"$����$  �� �� 3���� ! $�2��� &� " �(����" ��� ���+' "������ �� &"��"��$ 3������ "2� � � %�(�"� % �� � �3��� �$��"! ��$ ��� ���������� �$������"�� &� " # % �� �$# ���� � %��$� ����

����$� ���� &"�� ���(�� &�"  �� ���+' "����� �� &"��"��$ +�� " *� "$� ���� &�"! �� � %���$'"�" ���
�$# ����� � %��$� ���� &"�� ���� &�" � %�!&�"�� # ���� �&&"� �2� % ��"�# � � %��� &����(�� " ��� ��� %
�� � �3��� &"�&��$  �� ! $�2��� &� " �$��"! ���" 
��
�� ��� ���+' "������ �� &"��"��$ +�� ��
�������� ! ���&"� ����� " �� &"$�!&��! �3�� ! �'"����� ������ # � �"���������� ��""����! ���  �
� ��#!� �� �/�2�� ����$ " ��� ��&$"�! ��������� ��� !���"$ &� ��� "� &����� .

'" �� & ������� � %�"��������! ��� �� &"��"��$� +��� �$&���� ����� �� �*+ %
� " � � �� &�����# � ��� ��'�� $ &"��"��$� +��� ����$� �� & �"!�� � %��&�����" &�����! ��� �� & �������

WXY Z � "� [ 2�!&� �� ���� � ! � �� �� �+�
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� %�"��������! ��� �� &"��"��$� +��� % �� "��� "� $ ��� ! $�2���� ��!!� �+� &�"��� ����
�$������"� %

( " �+� &�"! �� � %�"��������" ��"����� � ��#!�� �� �/�2�� # � �� ���� �"������5�(��� � � &�"
)4 % �� &�" *4 % �� &�" �*+ �� �� &�" ��+ % ���"� !$�2��� &�"!�� ���� � %�(����" �� �� 3�����
��� ����� &� " �"��������"  � � ��#!� �� �/�2�� "

� %��'�"��2!� # � �� � �3��� &"�&��$ &� � 4�"� �&��! ��$ � " &� ��� "� &����� 03��" ������� � "- "(1 "*� &� � % �� �"����! ��� �� �2�# � "������� �� �� (��� $���� ���$&������ ��� � �"�� "�������� % �� &� �!�����!��� �� &�"���$����" "
* %� �"� &�"� % ���"� ! $�2��� ��� �"#� !�� ��(�� " � �����! ��� �� � %��'�"��2! � % �� (��� ��� �� ��

������$� �3�� �� "������� 3��� � ����� 3��� " ��""��&��� $  �� "��2�"�2� ��2� ���3� ��� ���+' "������
�� &"��"��$ +�� 3������ " �� �2���������  �� � �"� "������� �������� % �� &� � ' ���" � %��'�"��2!� 3�"�
 � �� ������!(�� ��� ��� ����� " *��� "��� &����(�� �� � �� 3�����  ����������� �� � %��'�"��2! � .

' " �� �����&�� " � � ��#!� ��!&��"$�� &� � ���"�� �"� ��� ����"������ � " ��� &"��"��$� ���
�/�2�� �� �!&����� &�" ���!&�� # % �� �/�2� ���� &� � &"��"����"� # % �� � �"� %

� " &� � '$�$"���! ��� % �� &� � �\��� �"  �� "$��� ���� ���"$! ������ �� �&&��# ��� � %��'�"��2! �$ ��� �� ������!(��� � � ��#!� �� �/�2�� �� �� ��!(����� ��� ��� ��� ��� ����� �(��� �� �
��\$"����� ! ���� �� � 3"� & � 3��� ��� 4�"� ��3���'$�� "

�� &����(����$ �� !��"�  �� "$��� ���� ���"$! ������ & � � 4�"� �"#�  ���� &� " �&&��# �" ���"� !$�2���$ �� ;'"��< � ��#!�� �� �/�2�� "
1��"� �!&�$! �������� �� �+� ��� (��$� � "  �� "��2�"�2� �� ��"'� " ��� ��� ����� . ���� ���

���� �"����$� 3�"�  �� "��2�"�2� ��2� ���3� ��� ��� ����� " ��  ��������  �� "��2�"�2� �� &"� !���
�� " % � %��'�"��2! � �� !� ������"� � " �� "��2�"�2� � % �� ��� ���� % ����� �!&�$! �������� &�"!�� ����
� %�(��� �" ��� "$� ����� &� � "�&���! ��� " *���� �&&"��2� & �"! �� � ��� � %���"�� �"� �� � %����"����3��$
���� �� �$"� ��!��� �� � %��'�"��2!� . &�" ���!&�� % $ �2�# � �(������� � % �� ��� ���� % �� &� �
�$����" �� ���&&�" � �� ������ �" �� "��2�"�2� % �� &� � � ��� ' ���" � %��'�"��2! � 3�"�  �� ��� �
���� &�"��� ��#"� �� �2��������� &� " � � �� &"� �2���� "������� $  ������" �� ���� �!&������! ��� ���
&"� �2����� ��� ����� # %�� 3� ��&��"�" "

1��"� ! $�2��� � $�$ �$+��� &� " �"����" ��� � ��#!�� �� �/�2�� &$"����# �� �� ���$& �������� "2� ��!��� % �� 3������$ ��� �$# ����� ��� �$+��� &�"  � &"$�����
Q
% ���� ��� ���� ;'$�$"�# �< " �� &� �

���� ���"�� �"� !�����!��� �� �� 3����� ����"������ �� 3��������� ��!!� ��� "�������� �� &"$�$����� %
�� ����&"$�!&���� % � %���� ���� ! � ���� � �� &�"��'� �� "���� "��� " 2� ��!��� % ��"�# � ��� �/�2��
���� ����"�$&�������� % �� �� &� � &� � "�&"$�����" � %$��� � % �� �������� &�" ��� �� �� $���� ;����3�<
�� ;��$� �$�< % �� !� � � ��� ������$"�" # % �� �/�2� &� � 4�"� (��# $� " ��� "�������� �� &"��"��$
��'���"$�� $  � ������� ����$ �� �$&������ &�� ��� �/�2�� (��# $�� & ��# � ��������� �� ���� &��
$��'�(��� &� " 4�"� ��$� �$�� " ����� �$& ������ ���� �� ��! ��� ��� �/�2�� ;&"4���< �� ;��$� �$��< . ���
�/�2�� ;��$� �$��< $���� &� � &"��"����"�� # � ��� �/�2�� ;&"4���< " 6�� !��� ��� ������$"������ &"����
�� ��!&�� % ���"� ! $�2��� &� ""� 4�"� 2 ("��$� �3�� ��� &"��� ����� �� '������ �� "���� "��� " ��
&� ""� ���"� �$��"! ���" ��� ���+' "������ �� &"��"��$ +�� # � �"����������  � � ��#!� ��  ��������
&�" ���!&�� � �� � �*� "��� �"�3� � !��$� ���� �� �2�&��"� ��� !��� � %�( 5 �� � % � �"����� �� ! �� $  �� "�3 � ����"���������
�� ���� "
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*��� �� �2�&��"� � % �� � �3��� $� ��$ �� & ������� ��� �"��������! ���� $ &"��"��$� +��� ��
�������� &"$�!&��! �3�� ! �'"����� ������ " *� ���� �� "$3# ���� �"#� �9 ����� ��"�# � �� �2�"'� � 
� ��#!� �� �/�2�� � %��� &�� �"�& $��3$� 0� ��� 1 " *�& ������ % ��� � ��#!�� �� �/�2�� $ &� � ��
��� �� �2�"'� ���� �� "���� & ��# � � %�� $3��� '$�$"���! ��� �� � "���! ��������" ��� �"�2�����
� "�� !��$"������ " �� " �� � ��� % �� ��� ���� �$������"� � % ������"  �� ������ � %�"�������� "� & � �
& �"!�"! ���� "

*��� �� �2�&��"� ( % �� � �3��� &"$����$ �� � �� 3����� ������� �� &���� �# �� � %�"��������! ���
0�+ � �� �+ �1 " 1� � �3��� ��� ��� !���"$ # � �� &�����# � �*+ �&&�"����� $ �+ � " *���� &"�&"�$�$
��� !#"� $ �+ �  �� ��"����� & ������� � %�"��������! ��� . �*+ ��� �&��! �� �� !���&"� ����� " %
��� �� �#� # % � � ��#!� �� �/�2�� ��� �"������5�(�� �� !���&"� ����� " % �� �� ����  �� &�����# �
�� �+ � �"������5��� �� � ��#!� " ��" ����� "� % ��� �� � ������� ���� 5 ���� � &$"�� "�� $ �+� .
����� �� &����������� �� ����"! $����"�� ���"� ��� &���� �# �� $ &"��"��$� +��� �� ������ $ &"��"��$�
� ��! �# �� " �� " �(����" �� �� 3����� ��� ����� � %�"��������! ��� % ��� �������� �� � ��� �! ��$�$ �� � ���$"����" $ ��� �� � ������� �� &�����# �� � %�"��������! ��� "

*��� �� ������� � "� % �� � �$��"! ����� ��&$"�! ������! ��� �� & ������� � %�"��������!��� ��
�� ������ �+ � �� �������� &"$�!&��! �3�� ! �'"����� ������ " �� " ���� % �� � ���&���� �� ! $�2���
�$3���&&$� ���� �� �2�&��"� � � �"����! ��� ��� ���+' "������ �� &"��"��$ +�� &�" �� ������� " *���
�� ������� � "( % �� � $� ����� �� &���������!��� �� �*+ &�" "�&&�"� $ �+ � % �� �� � �� �$� �����  �
"$� ���� � %�&��! ����$ &� " ����� ������ �� &�����# �� � %�"��������! ��� " �� ������ �+ � &"$�������
��� &"�&"�$�$� ���$"�������� % �� � �3��� �&&"�!���� ���"� $� �� " *��� �� ������� � ", % �� � &"�&�����& � ��� "� &"� �$�$� &�"! ������ �� ���� ��" &� "  � � ��#!� �� �/�2�� ����$ ��� ���+' "������ ��
&"��"��$ 3������ # � �&&�"�������� $ �+ � "

� �, ����������� ����� ���� �� �

*��� ����� ������� % �� � "�! �����  �� �������� � &"�( �#!� �+ � 0�$��"! ���" ��� ���+' "������
�+� # � �"����������  � � ��#!� �� �/�2��1 $  �� �������� � &"�(�#!� �+� 0�$��"! ���" ���
���+' "������ �+� # � �"����������  � � ��#!� �� �/�2��1 " ��� ��� % �� �  �������� �� ! $�2���
����$� ���� �� �2�&��"� � &� " "$�� �"� �� &"�( �#!� �+ � "

'��
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*�����$"���  � � ��#!� �� �/�2��
τ

�� ���� ������ � �  � � ��#!� % ���$
τ? % ��!&��$ �� �/�2��

��� � 8���7�Q��� .
τk ∈ τ ⇒ ∀i ∈ N, (rk,i, Ck, dk,i) ∈ τ?

� ���� % &� " �2�# � �/�2�
τk ∈ τ

% �� ���"�� ��  �� ��+���$ �� �/�2�� ����
τ? # � ��""��&������ � �

��������� � ������3�� ��
τk

03��" +' "� � "'1 "�� � ��#!�
τ? �� 3$"�+� &�� �� � $ !��� ��� 2 &��2#���  �����$�� &� " �� "$��� ���� � &"�(�#!�
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�/�2�� ����3�� �� ��� �/�2�� ��$� �$�� $  � ������� ����$ % ����� �� �$& ������ ���� &�� ��"����! ���
�� �� "#'�� � %����3����� ��� �/�2�� "
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τ
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τ? % �� &� �  ������" ��� "�������� �� &"��"��$ &�"���� �� ��! ��� � "
� %�������� �� "���� �� �2�# � �/�2� "

� " % � %�������� �� "���� ��� �/�2�� �2��'� $ �2�# � "$����3����� % ��� �� ��� ��������� "�&"$����$��
���� ��� "�������� �� &"��"��$ $3�� ��� � �� "� � ��!&� " *��� ���"�� ��  �� �� 3���� $��&� ����
� %��'�"��2! � . $ �2�# � ��"! ������� � % �� �������� % �� ���� "$����������" ��� "�������� �� &"��"��$
��""��&������ $ ����� �/�2� % �+� # � � %�������� � �3���� & ���� �3��" � %�!&�"�� # ���� &"��"��$ "*�&������ % ����� "$�������������� &� � ��'���"�" ��� "���������� .  � !4!� �"�&���

(R, I, M)&� � 4�"� �5� �$ $
B

�� &� ��� "� ! ���#"�� " *��� �+� % �� ��� �� +' "� ��� �!&����(�� % � %��'�"��2! �
�� "��2�"�2� ��� ���+' "������ �� &"��"��$ +�� 3������ 03��" ������� � "- "(1 �� �������� ���� &�� ��
! $�����! � �� �$������� ��� �� (���� " �� ��� ���"� �$������"� � %�� �5� ��"  � % ���� �� � ��� �� � ��

���
(t, R, I, M, B′, a, k) �

s :=
∑|τ |

k=1 ak��
k > |τ |

���� �
��

s = min{p, |act(I, t)|}
���� �

�����
�
� ��� �

���� ����
τi ∈ τ

��� ���
ai = 1

�
���� ����

τj ∈ act(I, t)
��� ���

aj = 0��
(τj , τi) ∈ R

���� � �����
�
� ����

�� ����� � ��� � ���� �
b := ∪(R ∪ RPact(I,t)(a), I + a, M)
���� ����

τi ∈ τ
��� ���

Ii = Ci − 1
��

ai = 1
�

���� ����
τj ∈ τ

�����
b := b \ {(τi, tauj), (τj , taui)}

B′ := B′ ∪ b��	�	
��

s < p
��

τk ∈ act(I, t)
���� �

���
(t, R, I, M, B′, (a1, .., ak−1, 1, ak+1, .., an), k + 1)��

laxk(I, t) > 0
���� �

���
(t, R, I, M, B′, (a1, .., ak−1, 0, ak+1, .., an), k + 1)

WXY Z � "( [ � �'�"��2! � 0'1 ���&�$ &� " �+ �

t := 0
B := {(∅, (0, . . . , 0), (−1, . . . ,−1))}
res := FALSE��	� ���

B 6= ∅ ∧ res = FALSE
�����

���� ����
k

��� ���
t ∈ rk + T.N

���� �
���� ����

(R, I, M) ∈ B
�����

Ik := 0��
t ∈ r + P.N

���� �
���� ����

(R, I, M) ∈ B
�����

��
I = M

���� �
res := TRUE��

M = (−1, . . . ,−1)
���� �

M := I��
res = FAUX

���� �
B′ := ∅
���� ����

(R, I, M) ∈ B
�����

���
(t, R, I, M, B′, (0, . . . , 0), 1)

B :=
��"!

(B′)
t := t + 1�����	 ���
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τ
�� �D�
E�� 7� 
F9G �� H8��N ��
 U ≤ p

�

s
6� �8Q��� 9� 7 R�� 89�
��� � ��7��
�

� �� ��� P � R�6 �� ��
� �� ���
��

t ∈ N

� ��
8����� T 6 R��
�8� 7��� 6� �8O �� � 9D96�Q�� 7�
s
�
 H8��N ��
 6�9��7�
��� 7��� 8� 9�
7������V � 6��� 6� �8Q��� 9� s

��
 ����� � ��7�9
�S6� � �� ��� � �6�
�Q�� ��� ��
����

T �� � �
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)�! �"# ��� # � �� � "$� �� �� !���$� �� �2�"'� �� �� �$# ���� &"$����$� � " �� +' "� � "� ���
��"����! ��� � &$"�� "� $

r+P = 12
" *��� � %��� &�� �� � 2���"� . �� � � %�3��� &�� "$ ��� $ �(����"

 �� �$# ���� � %��$� ���� 3����� &"�� ��� &�" �*+ # � �� ���� &�� &"�� ���(�� &�" �+ � ���� # � ��
� "$� �� !���$� �� �2�"'� ���� ��"����! ��� � &$"�� "� $

r + P
"

��� ���+' "������ �+ � ���� "�&"$�����(��� $ � %���� � % � ��!("� +�� �� ��3�� � �� &"��"��$ "� %���!&�� ����$ ������� � !���"� # � &�"!��� �� ���+' "����� �� &"��"��$ �� �+ � ��""��&������ $

WXY Z � "� [ � "��������! ��� (�&"� ����� " &�" �*+ � � ��#!� �� �/�2�� �� � %���!&�� � "'
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� %���� � % � ��!("� +�� �� ��3�� � �� &"��"��$ " � " % ��� ��$� ��!� ��!&��"$�� �\"��� '$�$"���! ���  �
��!("� �� ��3�� � �� &"��"��$ "�����3�! ��� "���"���� " �� ������ �+ � &�"��� ���� &�"��� ��#"�!���
���&�$� $ �� " �"�2����� "� �� ��3"��� & �"!���"� � %��&�����" & �����! ��� �� " & ������� � %�"������ �
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*�� ��\$"����� "�! �"# �� �� � �! #���� $ �� ���5 ��� "� � �3���� % &� "  � � ��#!� �� �/�2��
����$ % �� � .

�� �$# ���� &"�� ��� &�" �*+ ��� ��'���"�(�� &�"  �� &�����# � �� �+ �
⇔�� �$# ���� &"�� ��� &�" �*+ ��� ��'���"�(��$ � %���� � % � ��!("� +�� �� ��3�� � �� &"��"��$ +�� &�" ���������
⇔�� � "$� �� !���$� �� �2�"'� �� �� �$# ���� &"�� ��� &�" �*+ ��� �� !$"�� "� � $'��� $

r + P

� %$� �� �� �� "$����$ � ��� �� ��� $# �3������� �� � ��!(��  �� &���� �� "��2�"�2� ���$"�������
&� " ! �� � ��"��" ��� &"�&"�$�$� ��� �"��������! ���� ! ���&"������ "� "

� �� ���������.� .��� �� � �����.�
*���"��"�! ��� � � ��� ��� &"��"��$� +��� % �� ��!("� �� ���+' "������ �+ � 3������ ��� &���������

��! ��� ��+�� " �� "��2�"�2� �� � %$� ! $"����� �� ��� ���+' "������ ��� ���� �!&����(�� " *� �������
��� � ��� 3���(�� &� " ��� ���+' "������ �+ � " ��" ����� "� % �� ������ �+ � &"$����� ��� &"�&"�$�$�
���$"�������� " *��� ����� ������� % �� � �� � "���"��'���� ���� $ ���� �� �� � $� ����� &� ��� "�
! $�2���� & �"! ������ �� ���� ��" ��� ���+' "������ �� &"��"��$ 3������ "

�� ������ �+ � ��""��&��� � � ���+' "������ �� &"��"��$ # � ���"�( ��� �� ! 4!� &"��"��$ $
�� � �� ������� $# �3������� � � "� " �&&�"������ $ �� ! 4!� �/�2� �� ��������� � %������!���  ��
! $��&$"���� " *���� "���"������ &�"��� �"#� "�������(�� �� ��"! � � %�"��������! ��� �� � ��� ��
��"!� � %��&��������� . ��� ��$� ��!� ��!&��"$��  �������� ��� &"��"��$� +��� & � 3��� 4�"� ���&�$� � �
���+' "������ �+ � "

� �� �
 � ��������� �� ���� ������
*��� �� ������� � "� "' % �� � �3��� "�&"$����$  �� ���+' "����� �+ � $ � %���� � % �� ���+' "�����

�+� ��  ��������  � � ��#!� �� �/�2�� ����"!$����"�
τ? " �� " ��� ���+' "������ �� �+ � % �� � ��#!�

τ? &� � 4�"� ��!&��+$ " �� " �2�# � �/�2�
τk ∈ τ

% �� ���"�� �� ��� �/�2�� � �3����� ����
τ# .

∀i ∈ {1, . . . , δk}, (rk,i, Ck, Dk, P ) ∈ τ#

*� �� 3�� � ��#!� �� �/�2�� ��������  � ��!("� +�� �� �/�2�� &$"����# �� % �� ��""��&��� ����
������! ��� � �������� � %$� �� �� �� ������� � % �� ��� "$� ����� # �  ���� �$3���&&$� &� 3��� 4�"�
�&&��# $� ��"����! ��� $

τ# " *��� �� �������� % �� �� "�! #�� ���� $  � � ��#!� ��∑n
i=1 P/Tk

�/�2��
& $"����# �� " � %��'�"��2! � ����$ ���� �� ������� � "- "( �$��"! ��� � %����!(�� ��� ���+' "������ ��
&"��"��$ +�� 3������ " �� � %�&& ��# ��� � � ��#!�

τ# % �� �$��"! ��� ���� ��� ���+' "������ �� &"��"��$
+�� &�" ��������� �� �+ � # � �"����������

τ
"

* %�&"#� � %$� �� ! ��$� ���� �� �2�&��"� , % ��� �$# ����� ��'���"$�� &�" ��� ���+' "������ ��
�+ � ���� � ���# �� �� & $"����

P
" �� �������� �+ � &�"!�� ���� � %$3���" ��� ���! ����� # � �� �

�3��� "������"$�� ���� �� �������� '$�$"�� �+ � 03��" �2�&��"� (1 " *� &� � % ��  �������� ��� "$� �����
# � �� � �3��� �(��� � ���� �� �2�&��"� - % �� &� � ! �5�"�" �� � "$� �� !���$� �� �2�"'� ���
�$# ����� ��'���"$�� &�" �+ � "
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������$"�" �2�# � �������� ��!!�  �� �/�2� ���$& ������� " *��� ����� ������� % �� � &"�&�����
 �� ! $�2��� ���"$!������ &� " �"� 3�"  �� ���+' "����� �+ � 3����� "

� &"$���(�� % �� 3$"�+� # %�� �� ����  �� ���+' "����� �+ � 3����� '"/�� $ � %��'�"��2!� �� ��
������� � "� "� " ��� ��� % �� &���� &"�'"����3�!��� �� �+� $ �+ � �� &�"!������ $ ��"������ ���������
� % �� !4!� �/�2� � %�3��" ��� &"��"��$� ��\$"����� " �� " ���� % �� &"��#�� �� �� ! ���#"� � �3���� .

'" �� �$��"! ��� � %�� �� ����  �� ���+' "����� �+� 3����� %
� " �� � � % ���"� ��� ���+' "������ �� &"��"��$ !� "���� &�" � %��'�"��2! � �+� ������� ��� �� "$� ���� %
( " ����� % �� �2�����  �� �/�2�

τk
&� " & �"! ���"� $ ��� �� ������� � %�3��" ��� &"��"��$� ��\$"����� .

�� �� �$��!&��� ��
δk

�/�2�� � ��� ��� &�"�! #�"�� ��!&�"��� ��� ��������� ��
τk
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*���� �&&"� �2� & �"! �� �� &"�+��" &"�'"����3�! ��� �� �� ��! ��� �� ��� �� (����� �� �� & �������
� %�"��������!��� �� �+ � " � � ��� "� "#'��� & � 3��� 4�"�  �����$�� &� " �"����" � %$��&� 0(1 " 2� �
� %�(�"� % �� !� � �$��"! ���"  � !$�����! � &� " �2����" �� �/�2� $ �$��!&���" " ��� ��� % �� !� �
�2����" ��� �� ������� � �# ����� �� &�"! �� � %�3��"  �� &"��"��$ &"�&"� " )�!�"# ��� # %�� !���+���
�$'#"�! ��� � %��'�"��2! � �� �� ������� � "- "( % �� &� � & �"! ���"� $ �� ��! ��� ��"������ ��������� � % ��
! 4!� �/�2� � %�3��" ��� &"��"��$� ��\$"����� " �� &� � �� "$�����" �� ���"�� ����� �� ������ �� '"� &�
� %��������� . ��� ��������� � % � ! 4!� '"� &� &�"��'���� �� ! 4!� &"��"��$ �� �� &� 3��� 5 �!��� 4�"�
����3�� ��! ����$! ��� " *���� ��������� &�"! �� �� ! �� � !���"���" �� ��!&��� ��$ ��"� � &����'�
�� �+� $ �+ � "
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p
�/�2�� ���� �� ��� ��$ ��� � ��� 03��"
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p

�/�2�� ���� $ � %�"�' ��� �� � %$�2�� � %�"��������! ��� &�" �� "�������
R
" ��

&� � ���� ���� ���" $ �2�# � "������� ��� &"����'��(�� ��� �/�2�� # � ���� "��&����(��� �� � %$�2�� "��"� � �"����! ��� &�" �+� % �� &� � ���"� �$��"! ���" �� ��!("� �� !��� �� �2�# � �/�2� ���
"��&����(�� � % � $�2�� � %�"��������! ��� " � � � &"$���$! ��� % �� &� � ! 4!� "$�����" �� ���� � % ���
&�� &�" �/�2�� % !��� &�" ��������� " �� �(����� �����  �� ����"�&���� ��� �/�2�� 0� ���������1 $
� %�"�' ��� ��� $�2��� � %�"��������! ��� " �� &� � ���"� �2����" �� �$��!&���" �� �/�2� # �  �&&�"���
�� &� � �� 3��� "

*���� 2 ("������� �+�
/
�+ � &�"��� &"�! ���� �� &� " &� ��� "� "������ " 2� � � %�(�"� % ���� & �"�

!�� � %��&�����" �� & ������� � %�"��������!��� �� �+ � �� � �� ��! ����� �� ��!&��� ��$ " ��� ��� % ��
��!("� ��� "#'��� &� 3��� 4�"� $��(�"$�� &� " �$��"! ���" �� � ��� �/�2�� $ �$��!&���" . ���� ��! ��
����  �� ��"����� ��� �( ����$ " +�����! ��� % �� �����&�� " & � � ����"3���" ��"� ��� �2��� $ �\��� �"
&� " ' ���" � %��'�"��2! � �� "��2�"�2� . ���� & �"! �� ���� � ���  �� ��"����� ����"����3 ��$ "
� �� -��� ��� ���

�+� � %�(����"  �� & ������� � %�"��������!��� & � � �!&�"����� # � ����� !� "��� &�" ��� &����
��# �� $ &"��"��$� +��� % �� � �3��� $� ��$ �� ������ �+ � " 1� � �3��� ���&�$ � %��'�"��2! � ����$ ����
�� �2�&��"� � &� " # %�� �$��"! ��� � %�� �� ����  �� ���+' "����� �� &"��"��$ +�� &�" ��������� 3������ "*� �� 3�� ��'�"��2! � �� � � &�"! �� � %$3�� �" ��&$"�! ������! ��� �� & ������� � %�"��������! ���
�� �+� " *������� � %��� "$3$�$� 4�"� (��� � &$"�� "� $ ����� �� �+� �� �� �*+ "�� ������ �+ � &�"������� ���$"������� % �� � �3��� �&&"�!���� ���"� $� �� " 1� � �3��� ���"�
$��(�"$  � !$�����! � &�"! ������ �� �����" �"� % �� � ��"����� ���������� %  �� &�����# � �+ � &"��
� ����� �� ! 4!� �$# ���� # � �*+ " 1� � �3��� ��� ��� !���"$ # � �� ������ �+ � ��� �&��! ���
�� �������� !���&"� ����� " �� &"$�!&��! " *���� ������ ��!(�� � ��� & ���$��" � %� �"�� &"�&"�$�$�
���$"�������� .
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�3�� ��� &�����# �� �+ � # %�3�� �*+ "

�� ������ �+ � &�"��� &�"��� ��#"�! ��� ���&�$� � � ��$� ��!� ��!&��"$�� ��� ��� " 1� � �3���
���"� $���� �� ! $�2��� �$3���&&$� ���� �� �2�&��"� � &� " �$��"! ���" ��� ���+' "������ �� &"���
"��$ 3������ # � �&&�"�������� $ �+ � " �� " ��! �� �" �� ��!&��� ��$ % �� � �3��� � ��� &"�&��$  ��
! $�2��� ���"$! ������ &� " �����" �"�  �� ����� ���+' "����� �� &"��"��$ " *���� �&&"��2� �� �
&�"��� &"�! ���� �� & ��# %���� &�"! �� �� !���"���" �� ��!&��� ��$ �� � �� �\"���  �� ��"����� !��
� ��"��$ ��  �� ��"����� ����"����3��$ " �\����3�! ��� % �� &� � �! �'���" �� ��!("� � &"� �$�$� &� "
&����" &"�'"����3�! ��� � % �� ���+' "����� �+� $  �� ���+' "����� �+ � " �� " $��(�"����� �� �� "
$3�� ����� ��!(�� 4�"�  �� 3��� ���$"������� �� "��2�"�2� " * %� �"� &�"� % �� &� � � ��� �2�"�2�"
$ �����" �"� ��� ���+' "������ �+ � ��'���"��� ��� �$# ����� � %��$� ���� &"�� ���� &�" � %� �"��
! $�2���� 0&���� �# �� �� ���'�� % !$�2���� 2�"����'�� % ���1 " *���� �"���!�"! ����� ��!&��+�"��� � %���$�
'"����� �� ��� �$# ����� ���� ��� ��$� ��!� ��!&��"$�� % ����!!��� ��"�# %����� ���� &"�� ���� &�"
 �� ! $�2��� 2�"�� ��'�� " ��  �������� �� � ��#!�

τ# 03��" ������� � ", "'1 �� �� �&&��# ��� �� !$�2���!� "� �� ���� �� ������� � "( "( % �� &� � �\��� �" ����� �"���!�"! ����� " * %� �"�� !$�2���� &� � �& $�
��+# �� % ��!!� ����� # � �� � �3���  �����$� &� " �"���!�"! �" �*+ ���� �� ������� � "( "'% &� 3���� ��� 4�"�  �����$�� "
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*��� �� �2�&��"� % �� � �(�"���� �� &"�(�#!� �� � %�"��������! ��� �����  � ��'�� ��\$"��� "

*��� ��� �� � �2�&��"�� &"$�$����� % �� � �3��� "�&"�� � %�&&"� �2� � �3�� &�" &�) . � %$ ��(�"����� ��
! $�2���� ������� ���"�( ��� ��� &�"�! #�"�� � %�"��������! ��� ��� ��'�� % ��!!� �� &"��"��$ ���
�/�2�� &�" ���!&�� " 1� � � �3��� ��� � % �� ��� � �"�� �&&"� �2�� &����(��� &� " �"����"  � &"�(�#!�
1� . �� "��2�"�2� �� ��!&� &�� ��! ��� �� ��� ���� �&&"� �2$� " �+� � %������" ���"� �&&"� �2� % �� �
�3��� "�&"�� ��� �"�3� � �� ������� ����� # � ��� &"�(�$! ���# �� # %��� �"������ "� % ���������� ��� �"�2����� "�� ! ���&"������ "� � ���"�� �� �� �� 3�� � &"�(�#!�� ���� �� ���
!���� �� � %�"��������! ��� " � % � � %� � �������� $ �"��������"  � ����!(�� �� �/�2�� ��$�� &�" ���
"�������� �� &"$�$����� �� � �� ! ���! ����� �� � "$� ������ � %��$� ���� " *� &"�(�#!� ��� ���� &� "
4�"� ���� �� ������ 1� �� " " 2� ��� ��� !$�2���� ������� ��� ����  �� ��!&��� ��$ ��&���������� "� % ���������� ��� ! $�2���� � %�&&"�� �! ����� 0��'�"��2! �� '$�$��# �� % !$�2��� ��(� � % &"� ���� � ��
�$������ ! �"��3��� % ���1 &�"! �� � %�(��� �"  �� ��� ���� �&&"��2$� 0�� ���&��! ��� 1 ��  � ��!&� &��
� ��! ��� " *�� ��\$"����� ! $�2���� ��� �$5 $ $�$  �����$�� �3�� � ��#� % &�" ���!&�� &� " �� &"�(�#!�
�� � %���� ������ �� !"$# ���� &-( % -,) �� &� " ��� � �� �� &����+������ �� �"�5 �����"�� &�-) "�� " �� &"�(�#!� �� � %�"��������! ��� ! ���&"������ " � % � � ��#!� �� �/�2�� ��$�� &�" ���
"�������� �� &"$�$����� % &� ��� "� ! $�2���� � %�&&"�� �! ����� (��$�� � " ��� ��'�"��2! �� '$�$��# ��
��� $�$ �$3���&&$�� &� " �(����"  �� ��� ���� �&&"� �2$� % &�" ���!&�� &�( % -� % �� % '��) " *��� ��
�2�&��"� % �� � &"�&����� �� � � %�(�"� &� ��� "� �! $���"������ �� � %��'�"��2! � '$�$��# � �$+�� &�"&-�) " ��� ��� % �� � �$3���&&���  �� �� 3���� �&&"� �2� (��$� � " �� �������� �� '"������ �� � "
�� ! $�2��� ��(� � " +�����! ��� % �� � ��!&�"��� ��&$"�! ������! ��� ��� ��\$"����� ! $�2���� # �
�� � &"�&����� �3�� ������ �$+���� &�" &�( % -�) "

� �, -���./�. � 0����.
1� �  �������� �� ! ��# �� &"�&��$ &�" &-�) &� " "�&"$�����" ��� � ��#!�� �� �/�2�� ��$� &�" ���

����"������ �� &"$�$����� 03��" +' "� � "'1 " 6� ����!(�� �� �/�2�� &�"������! ��� �"����$�� ���
"�&"$����$ &�"  � '"�&2� �"����$ �� �� ���# � 0*�� 1 ������� $ � % � ����!(�� +�� �� �� ��

V
��

� % � ����!(�� +�� � %�"��
E
" *2�# � ��� �

τi ∈ V
��""��&��� $  �� �/�2� �� ��� ���� ��$ $ �� � "$�

� %��$� ����
Ci

" *2�# � �"�
eij ∈ E

��""��&��� $  �� "������� �� &"$�$�����
τi � τj

. �� �/�2�
τi��3��� 4�"� ��"! ��$� �3��� # � �� �/�2�

τj
�� & ���� ��!!����" "�� &"�(�#!� �� � %�"��������! ��� �� ��� � ��#!�� �� �/�2�� �������� $ �"� 3�"  �� �$# ����

� %��$� ���� "��& ������ ��� ����"������ �� &"$�$����� &��$�� �� ! ���! ����� �� � "$� � %��$� ����
������ " �� +' "� � "� �����  � ���!&�� � %�"��������! ��� � � ��#!� �$+�� ���� �� +' "� � "'"

'�'
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��� ��'�"��2! �� '$�$��# �� 0�� 1 &�"! ������ � %�(����"  �� ��� ���� �&&"� �2$� � % � &"�(�#!�
&��$ " &, ') &"$����� �� �$���� ��� &"����& �� �� !���������!��� &"�&"�� $ ��� ��'�"��2! �� " 1� � ��
"�&&����� ��� ��� �����&�� �� (��� " ��� ��'�"��2! �� '$�$��# �� ���������� $ �! $���"�" � ������3�!���
 � ����!(�� �� ��� ����� "�����3�! ��� $  �� � ��9
��� 7� 9�� 
" *���� !������� "�&"$����� � %�( 5 ����!$ �������"� " *2�# � ��� ���� ��� �&&��$�  � ��7�H �7� % �� � %����!(�� ��� ��� ����� !�"! � �� � �� �

6�
��� " �� ����'� ��� ��� ����� % �� ���� �� "�&"$��������� ��� ����3�� � % ��� �"'����$ �� &� ��� "�
9G ��� ���� �� � � �!4!�� ��3��$� �� &� ��� "� O E��� " �� �2��� � ����'� �� �� �� !������� �� ����
���� ��� $�$! ���� �!&�"����� ��"� �� �� �����&���� � % � ��'�"��2! � '$�$��# � & ��# %��� +���� ��
!��$�������� � &"�(�#!� " �� " !��"� $3�� �" �� &�& ������ % ��� ��'�"��2! �� '$�$��# �� ���� ! ���
�� �"��� �&$"��� "� .

[ �� 9������ ��
 . �� ��!(����� ��� '#��� �&&�"������ $ �� � ��� ����� ��\$"����� % �� �����" ��
 �� �� 3���� ��� ���� %

[ �� ��
�
��� . �� !���+� ��� '#��� � % �� ��� ���� �+� � %�� &"�� �"�  �� �� 3���� %
[ �� �86�9
��� . �� �2����� &�"! � ��� ��� ����� �� "����� ������ # � !�"! �"��� �� &�& ������

� �3���� "��� �& $"��� "� �� �"����! ��� �� �� ! ������ ���� ��!&�$!�����"�� " �� '$�$"�� % ��  ������ � % �
� %� � �3��  �� !�"�� &"�(�(����$ &� " �&&�"��" ��� �! $���"������ �!&�"������ % �� � %� �"� �3��  ��!��(�� &"�(�(����$ &� " ��"��" ��� ! ���! � �� �� � " �� !������� ��� &"�( �#!�� % ��� �� � �&$"��� "�
"�!&������� � % � � � %� �"� "7 �� "��� ��'�"��2!�� '$�$��# �� ��� �$5 $ $�$ �&&��# $� � &"�( �#!� �� � %�"��������! ��� ! ����
&"� ����� " " *��� ���"� $� �� % �� � "$ �������� ��� �"�3� � �� &-�) �� �� &�() " 1� � &"$�������
! ��������� ��� !$�2���� &"�&��$�� ���� ��� �� � �"������ " 1� � �� "�3����� &�� &� � �� �$���� � "
��� &"����&�� '$�$"� � % �� "��3� ��� � (����� �� ����� " 3�"� &, ') "
� �	 �
 � �� ��������� ��������� ������� ��� ����

�� &"�! ��" $�$! ��� $ �$+��" &� " ! ���"� �� &����  � ��'�"��2! � '$�$��# � ��� �� ����'� ���
��� ����� " �� !� � ���"� "$&���"� � � �� � # ������� � �3����� . # � "�&"$�����  � �2"�!���! � % ��
# � "�&"$�����  � '#�� " *��� &-�) % �2�# � &"� ����� " ��� ! ��$���$ &�"  � �2"�!���! � % �� ��� '#���
��""��&������ � � �/�2�� ��$� �$�� � " �� &"� ����� " " * %� �"�� ����'�� ��� � ��� $�$ &"�&��$� &') "�� +' "� � "( &"$����� �� ����'� �� &-�) &� " �� �$# ���� � %��$� ���� ����$� ���� �� +' "� � "� "

τ1 τ2 τ3 τ4

2 5 4 3
τ5 τ6 τ7

3 3 4

*���"������ �� &"$�$����� * "$� � %��$� ����
WXY Z � "' [ 6� ���!&�� �� � ��#!� �� �/�2��

W XY Z � "� [ 6� ���!&�� �� �$# ���� � %��$� ����

P1 τ1 τ3 τ4 τ6

P2 τ5 τ2 τ7

WXY Z � "( [ *���'� � % � �"��������! ���
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6� ��� ����'� �� "�&"$����� &�� �� 5� "�  �� �$# ���� � %��$� ���� !����(�� % &"�����  � ���!&��

&� " ��� ��"�" �� &���� .
P1 τ3 τ2 · · ·
P2 τ4 τ1 · · ·* % �� &�"� % �� �/�2�

τ3
��� &"$�$�$� &�"

τ1
% �� &"� ����� " � ' ��� ���� ( ��# $ 5 �# %$ �� ��"! �������

��
τ1

" * %� �"� &�"� % � � ��� (��# $ &�"
τ4

5 �# %$ �� ��"! ������� ��
τ2

" ��� �� � &"� ����� "� ����
���� (��# $� �� ����� ��# ���� � %��$� ���� � %��� &�� !����(�� "

�� " �� '�"����" ����"� ��� ����"(����'�� �� �� � &� % &-�) ���"�� �� �� ������ �� 2� �� " � % ��
�/�2� " 8 �  �� �/�2�

τi
&"$�#��  �� � �"� �/�2�

τj
% ���"� �� ���� �3��"

height(τi) < height(τj)
" *����!������� �� 2� �� " �����"3� ��� "�������� �� &"$�$����� ���"� ��� �/�2�� " &-�) &"�&��� &� ��� "�

�$+������� �� �� 2� �� " � % �� �/�2� % �� ��� 3$"�+��� �� &"�&"�$�$ &"$�$����� " �� &� � ��!&��
� %���"� ����� �������� $ &���" .

{

height(τi) = 0
% ��

{τj |τj � τi} = ∅
height(τi) = 1 + maxτj�τi

height(τj)
% �����

� �� �� % �� � ��� ����'�� &� " ���# ��� ��� �/�2�� ���� "��'$�� � " �2�# � &"� ����� " &�" �"�"� �"����
���� �� 2� �� " ���� !����(��� "�� ������ $�$! ��� $ �$+��" ��� �� !������� �� ���� "�&"$������� �� &"�&"�$�$ # � � %�� �� 2����
�&��! ���" " �� " � %�"��������!��� ! ���&"������ " % �� �$��"� ! ���! ���" �� � "$� � %��$� ���� "�# ���
&� " ��$� ��" �� ��� ��� �/�2�� " �� ���� �� ��"! �������

Ti
� % �� �/�2�

τi
�$&��� �� ����� �� �� �

��� &"$�$����� "� % &����� .
∆ = max{Tj|τj � τi}� ��� �$& ��� � ��� �� �� ���� �� ��"! ������� ��� �/�2�� # � ���� ���� ��$�� � ! 4!� &"� ����� "

# �
τi
" � � � &"$���$!��� % ���� �$&��� �� ����� # � �� &"$�#�� ��"����! ��� " 1�����

δ
% �� ���� ��

��"! ������� �� ����� �/�2� " �� ���� �� ��"! ������� �� �� �/�2�
τi

��� ���"� ����$� &�" �� !�"! ��
� �3���� .

Ti = Ci + max{δ, ∆}�� !������� �� ����  �����$� ���� &-�) ���
max{Ti}

% ���� ��"� ���� $ ! ���! ���" �� � "$� � %��$� �
���� ������ " ��� �&$"��� "� '$�$��# ��  �����$� ���� &-�) &� " &"�� �"� �� �� 3����� ��� ����� ����
������# �� .

�"����! ��� ��$����"� $  � &����
! ������ &�"! ������ ��$����"� �� �� � �/�2��
�$������� "� ����� ��$����"�

� "$������ �� ��! ��� # � �� "� �&$"��� "� ���� ���&�$� &� " # � ��� �/�2�� ���"�( $�� $  � !4!�
&"� ����� " "������ "��'$�� &�" �"�"� �"������� �� 2� �� " " *��� �� � ��� % �� � �$��'���� &�" ��)
� %��'�"��2! � '$�$��# � �$+�� &�" &-�) "
� �	 �� ��� � ���������� ���������� �������� ��� ��	�

�� " ��� "�" # % � ����'� ��""��&��� $  �� �$# ���� � %��$� ���� !����(�� % &-�) � ���"�� �� ��
������ �� 2� �� " " 1� � �3��� 3 # � �� ��� �/�2�� ���� "��'$�� &�" �"�"� �"������� �� 2� �� " � "
�2�# � &"� ����� " % ���"� �� �$# ���� � %��$� ���� ��""��&������� ��� !����(�� " *�& ������ % ��!!�
� %� !��� "�!�"# �" &�() % �� "$��&"�# � � %��� &�� 3"��� �� '$�$"�� " � �� �� % ����� !$�2��� �� &�"! ��
&�� �� "�&"$�����" �� ��� ��� ��� ����� &����(��� " �� " ��""�'�" ��� �����3$����� % &�() � &"�&��$  ��
� �"� �&&"� �2� "

� "$������� ! ��������� �� ������  �����$� &�" &�() &� " ��� "�" # % � ����'� ��� !����(�� " �� "
���� % "�&"����� � %���!&�� �� �� +' "� � "( " *��� �� ����'� % ��� �/�2�� ��$� �$�� � " �� &"� ����� " � '
���� ���� � %�"�"� .

τ1, τ3, τ4, τ6
" *���� �\�������� ���"�� �� �� �� 3����� "�������� �� &"$�$����� .

τ1 � τ3
%
τ3 � τ4

%
τ4 � τ6

" �� " �$��"! ���" ��  � ����'� ��� !����(�� % �� !� � � ��� ����" ��!&��
��� &"$�$������ ��� ���� &�" �� &����! ��� ��� �/�2�� � " ��� &"� ����� "� . �� '"�&2� ��!&��$ ���
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∑
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�� � ���� ���� �� � ! ���"���� �� �� � "$� � %��$� ���� � % � � ��#!� �� �/�2�� .

[ �� &"�! ��" ��� �$+�� &�"  � !���������! ��� $ &���� "$'�!� ��� &"� ����� "� ���&���(��� 0����
����" ��!&�� ��� "�������� �� &"$�$����� 1 .

⌊∑n
k=1 Ck

p

⌋

[ �� ������ ��� �$+�� &�" �� � "$� � %��$� ���� �� �� &� � ���' � �2���� �� &"$�$�����
�� � "$� ! ���! ��� �2$�"�# � ��� �$+��� ��!!� �� & � � '"���� 3��� " ��� �� � # �����$� �$+����
������� � "

�� +' "� � "� &"$����� �� # ����$ ��� ��� ����� !� "���� &�" �2�� �� ��� !$�2���� &�" "�&&�"� $
�� � "$� � %��$� ���� ! ���! ��� " *2�� � ��� &����� �� ��� '"�&2�# �� ��""��&��� $ �� ! � ���� �� ��
# ����$ �� �� ��� ���� �(��� � &� " �2�� � ��� '�� � ��#!�� �� �/�2�� ��!&�����  � $�2�������� "�� +' "� � "� &"$����� �� ��!&� �� ���� � ! � �� �� �2�# � ! $�2��� � %�"��������! ��� "

��� 3�"������ �� ��) # � �� � �3��� �$+���� � '! ������ ������$"�(��! ��� ��� & �"!�"! ����� ��
��� ��'�"��2!� '$�$��# � % � "�� � ��"�# � �� ��!("� �� &"� ����� "� � '!���� " * %� �"� &�"� % ��6
��! ��� ��1 �� ��) . �� ��� ���� &"$!$"�( �� �� "$&�"��"  ��!�"!$!��� �� �2�"'� &�" &"� ����� " %
&� �7� # � �� ��!("� �� �/�2�� &�" &"� ����� " " 1�� ! $�2���� �� '$�$"����� �� �� &�& ������ ��������
& �"! ������ &"���# �! ��� � %$��3�" �� ��3�� �� ��) $ ��� � �� +8� % �� � �� ��!������  � ��!&�
�� ���� � (�� �� & &� � �� "� "

1��"� !$�2��� (��$� � " �� �������� �� '"������ ����� �� !����� "� "$� ����� # � ��) % ��1 %
��6 �� +8� " 8�� ��!&� �� ���� � ���� &� � ���'� # � �� � �� ��) % ��1 �� ��6 % !��� & � �
�� "�� # � �� � �� +8� " � %��'�"��2!� *� ��� ����  � ��!&"�! �� ���$"������ ���"� �� � "$� ��
���� � �� �� # ����$ ��� ��� ����� !� "� ��� "

��� �"��� !$�2���� *�� % 2�8 �� 2�* ������� ��� ��� ����� �� (���� # ����$ ���� �� � "$�
� %��$� ���� ��� &"� �2� �� �� 3��� " ! ���! ��� �2$�"�# � " 2� ��!��� % 2�* ��! ��� �� 5� "� ��� �� �
� �"�� �� ��� '$�$"���! ��� � ����� � �� ��� � %�&��! ����$ " ��� ��!&� �� ���� � �� 2�8 �� 2�*
���� (��� �� !$"�� "� $ �� � �� *�� ��"�# � �� ��!("� �� &"� ����� "� "���� ; !��( ��< " *��� ��� � �"��
��� % �� "�! �"# � # � ��� ��!&� �� ���� � �� ��� �"��� ! $�2���� ���� "�����3�! ��� ��! ����"�� "

�� +' "� � "� &"$����� �� 3�"����� �(��� � &� " '�� ��$� ����� �� �2�� �� ��� ! $�2���� � "
 � � ��#!� ��!&��$ �� -� �/�2�� % -� "�������� �� &"$�$����� % �� ������$ $ 4�"� 2$( �"'$ � "  ��
�"�2 ����� "� ��!&��$� �� - &"������ "� " �� 3�"����� ���  � �������� " �� # ����$ � % �� ! $�2��� %
���� ;! �� "�< �� ���(����$ . ��  �������� �� � !��� �� ! 4!� !$�2��� � "  � !4!� &"�( �#!� % �(������
�� ��� ��� ����� ��! ����"�� � �� " ��) % ��1 % ��6 �� *� % �� "$&���� ��� ��� % �� &� ""� ��"������!��� �(��� �" �� (����� ��� ����� �� � %� �"�� !��� ��� ��� ����� ! � 3����� " �� ��� ���"� �!&$"���! &� "
��&�����" �� &"���# � ��� ! $�2���� �� ��� �&&��# �"  � '"��� ��!("� �� !��� % �� �� �� "�����" # �
�� !����� "� ��� ���� �"� 3$� " �� " 2�8 % 2�* % +8� �� *�� % �� 3�"����� ��� ( �� �� & &� � !��(�� "
� � ��� "�  ����������� �� ��� ! $�2���� $  � !4!� &"�(�#!� !� "� ������ ���� ��� ��� ����� &"� �2��
���  ��� ��� � �"�� % �� &� � ���"� �� ��������" �� ��� �&&��# �"  �� �� �� !��� "
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1� � �3��� &"$����$ &� ��� "� ! $�2���� � %�&&"�� �! ����� &� " "$�� �"� �� &"�( �#!� �� � %�"�
��������!��� ! ���&"������ " ��� � ��#!�� �� �/�2�� ��$�� &�" ��� ����"������ �� &"$�$����� "
� � ��� "� � %���"� ����� !� "������� ��� ��� ����� �� (���� # ����$ � � "� " &"� �2� �� � %�&��! ! " ���
! ����� "�� ��� ����� ���� ������ �(��� �� &�" ��� �&&"� �2�� (��$�� � " �� ! $�2��� ��(� � 02�8 ��2�*1 �� � " � %2 ("������� �3�� �* �4 �8+ 0*��1 "

1$��!���� % �� ��!&��� ��$ ��'�"��2! �# � �� ��� �"��� ! $�2���� ��� ����� $��3$� " �� �$3���&�
&�! ��� �� ! $�2���� 2 ("���� ��!(�� 4�"�  �� 3��� �� "��2�"�2� ���$"������� &� " �(����"  ��
! ����� "� !���"��� �� �� ��!&��� ��$ " � % ���������� ��� &"� ���� � �� �$������ ! �"��3��� 04*� 1 ���
� ���  �� ����"����3� &����( �� " ��" ���!&�� % &� " �� &"�(�#!� �� � %���� ������ �� !"$# ���� % � % �����
������ ��� 4*� � &�"! �� �� ��! �� �" �� ��!&� �� ���� � &�" "�&&�"� $  � ��'�"��2!� '$�$��# � %
�� � �� �(������ ��� ��� ����� �� # ����$� ������# �� &-( % -,) "6�� � �"� 3��� �� "��2�"�2� �������� $ $����"� �� ! ��# �� " � � ��� "� ��"��2����!���� ���� &���
��( ��� .

' " �� � "$� ��� ��!! ��������� ���"� �� � �/�2�� ��$�� &�"  �� "������� �� &"$�$����� � %���
&�� � ��� % ���� &� � 4�"� ��������� � �$&���"� &�" ���!&�� � &����! ��� ��� �/�2�� � " ���
&"� ����� "� %

� " �2�# � �/�2� &���#��  �� $�2$���� �3��� ��# ���� ���� ���� �3��" ��"! ��$ ��� ��$� ���� %
( " �2�# � �/�2� &���#��  �� ���� � %����3����� �3��� ��# ���� ���� �� & � � 4�"� ��$� �$� "
� � ��� "� �"�3� � �"������ �� �� &"�! �#"� ��������� % &�" ���!&�� &�( % (- % -� % �� % �- % �� % '��) "���� ��� �!&�"����� ���� �� ��! ���� ��� � ��#!�� ����"�( $� & ��# %���� &"��� �� ��!&�� �� ���� ��

��!! �������� ���"� �� � �/�2�� &���$�� � " ��� &"������ "� ��\$"���� " *� &� � % ��"����� �"�3� �
&"������ � ��� �� ��!&�� �� �$(�� ��� ��\$"����� �������� "$��� � ���"� ��� &"������ "� "��� �� � �#!� �� �"����#!� ����� ����� "�34����  �� �!&�"����� &�"��� ��#"� & ��# %����� "������
&����(�� � %�&&�������� � � � ��#!�� ��!&��"$�� " � � ��� "� �"�3� � ��� ��� �$5 $ �"���$�� % &�" ���!&��&(- % �- % ��) " �� !�5�"��$ % ��� �"�3� � ���� ��� � �� ! $�2���� �$3���&&$�� &� " �� �������� ��
��� �� ��� ����"������ ���� ��� "�������� �� &"$�$����� " �$�$"���! ��� % �� � %�'�� ���"� � %���&��" ��!������� �� ���� � � ����"������ � %����3����� �� � %$�2$����� " �� � �3��� �� ! 4!� �&&"� �2� % �� &� �
���&��" ���"� !$�2��� $ ��� �� � ����"������ % �� ���� �&&��# �" ��� "$� ����� � ��� ��� � ��#!��
��!&��"$�� " 4 � ������ ����� ����� ���� % ��� !$�2���� � %�&&"�� �! ����� # � �� � �3��� �$3���&&$��
& � 3��� ���� &�"! ���"� �� &"�� �"� �� �� 3����� ��� ����� � %�"��������! ��� &� " ��� � ��#!��
��!&��"$�� "��� �"�3� � !��$� ���� �� �2�&��"� ��� !��� � %�( 5 �� � % �� & (�������� ���� ��� ����� �� ��
��� !$"���� ��82�* *�!& �������� �������'���� ���� "
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��� �� � � ��!&��"$�� & ������� ��� �/�2�� $ � %���� � % � ��'�"��2! � � %�"��������!��� ��� ��'��
���� ��� �$������� �� � %�&& ���� # � � " �� ������������ � &"$���� " �� " ��"����� ��� &�"��� ���"� %
�� �� ���� ��� ��'�"��2! �� �����'�� �&��! � � . �#� # % � � ��#!� �� �/�2�� ��� �"������5�(�� % ���"�
� %��'�"��2! � �&��! �� "$ ���� $ � %�"��������" " *�& ������ % �#� # � ��� �/�2�� &�"��'��� &� ��� "� "���
�� "��� % �� ��� !���"$ ���� &(,) # %�� � %�� ���� &�� � %��'�"��2!� �&��! �� " *��� �� �������� % � %���� ��
�� �� 3������$ � % �� �&&�������� ��!&��"$�� ���  � &"�(�#!� 1� �� " &'( % ��) " � � ��� "� �&&"� �2��
��� $�$ �$3���&&$�� % ��"������ &�" ��� ! $�2���� ������� �� � %� �"�� &�" ��� ! $�2���� �&&"� �2$�� "

�� &"�(�#!� $���� 1� �� " % ��� !$�2���� ������� ���  �� ��!&��� ��$ ��&���������� " ��� ! $�2����
�&&"� �2$�� ���� �&&�" �� &� " ����� "��" ����� ��9 � ��$ . ����� &�"! ������ � %�(��� �"  �� ��� ����
�&&"� �2$� � % � &"�(�#!� 1� ��  � ��!&� &�� ��! ��� " *�� ���2� �# �� ���� (��$�� � " �� "�� ��
��! �$ % �� !$�2��� ��(� � % ��� ��'�"��2! �� '$�$��# �� �� ��� &"����� � �� �$������ ! �"��3����&��) " � ���"� ������������ % �� �� ��� ��'�"��2! �� '$�$��# �� ��� $�$ �&&��# $� � &"�(�#!� �� ��
3��������� ��� �&&��������� ��!&��"$�� &��) � ��&������ % ��� �� � %��� $�$ # � ���� �� ��� &�"��� ���"
� �������� ����&"$�!&��! " ��� �"������ &-( % -,) &"$�������  �� ��!&�"����� ���"� ��� ! $�2����
�&&��# $�� � &"�( �#!� �� � %���� ������ �� !"$# ���� � &�-) &"�&���  �� �&&�������� ��� &"� ���� � ��
�$������ ! �"��3���� � &"�(�#!� �� �� &����+������ �� �"�5 �����"� �� "�(���# � "

*�� !$�2���� �� 3��������� ������� ��� $�$ �$3���&&$�� $ &�"��" �� &� ��� "� !�"! ����! �� . ���
"$��� � �� ���"� &'� % ,- % ��) % ��� � ��! ���� +��� &� % ( % , % �() % �� '$�! $�"�� ����"#�� &�� % �,) " � %�( 5 ����!�� ��� ! $�2���� �������� '$�$"���! ��� $ &"�� �"�  �� �$# ���� � %��$� ���� 3����� ������$� $ 4�"�
�!&����$� ����  � �$# ���� " " ��� �2����� �� 4 �"��3 &(� % ��) ����  �����$�� ���� &�-) &� " �� 3����
������ ��!&��"$�� ���� �� ���"� ��� ����"������ �� &��� % �� 3�� ������ � % �� ����"����� � %���"������
���"� � � �� ����$# ���� '"�3� &� " �� &"��$�$ "

1� � �� � &"�&����� �� ! ���"� �� & ����  �� !$�2��� ������ (��$� � " ��� �2����� �� 4 �"��3
&� " $� ���" �� 3��������� ��� � ��#!�� ��!&��"$�� �"���# �� � � "� " $ ����"������ ��"����� " � ���"�
������������ % � %��� �� " &"�! �#"� �&&�������� ���� �� �������� " ��" "�&&�"� � � � �"�� ! $�2����
������� % ����� & �"! ������ � %�(����" ��� "�����'��! ���� � " �� ��!&�"��! ��� !� �� � % � � ��#!� ��
�/�2�� �� !������� ��� 2 &��2#��� � %�"��������! ��� �2������ " 1� � �� ���������  �� �! $���"�����
� (���������� ��� ���'������� !� "��� " *��� �� �2�&��"� % �� � �"������ �� !��$�������� ��� � ��#!��
��!&��"$�� &�" ��� �2����� �� 4 �"��3 " 1� � ��������� &�"��� ��#"�! ��� � " �� &"��� �� ��!&�� ���
����"������ � �� � � ����"������� ���"� ��� �/�2�� �� � � �&$��+���$� �� � %��$� ��! ��!&��"$�� ��(�$ "
1� � � &&����� # � �� ����� " ��� !�! ����" ��� �2����� �� 4 �"��3 " � (����� % �� &� � ���� ���"&(� % ��) "
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��� ��"���$"����# �� ��!&�"����� ��� �/�2�� & � 3��� 4�"� # �����# �� . �$&�"�� ��\$"$� � ���

! ����$� % $�2$���� �3��� � � " "�# 4�� " 2� ��!��� % �� � � %$� ����� &�� ��� �/�2�� ���� � %$�2$����
��� &� � '"���� # � �� & $"���� " *��� �� ������� '� "� % �� � ���$'"��� �� &� &�"� ��� ����"������
��$�� � � ����"������� ���"� ��� �/�2�� % &�" ���!&�� ��� "�������� �� &"$�$����� �� � %���� ���� ! �
� ���� " *��� �� ������� '� "� % �� � $� ����� ��� ����"������ � �� � � ��"���$"����# �� ��� ��$� ��!�
��!&��"$�� " 1� � � �3��� ��� � %�&&"� �2� '��(��� . ��� �/�2�� �� ���� &�� ���"�( $�� �����# �! ��� � �
&"� ����� "� " 1� � $� ����� �2�� � ��� �"��� ��������� &����(��� . ��� �&"$�!&��! % &"$�!&��! �3��
! �'"����� &�"������ % �� &"$�!&��! �3�� ! �'"����� ������ "

�� �� � ��� �������� �.� ���������.� .���
1� � !��$������ � %��$� ���� � % �� �&&�������� ��!&��"$�� &�" ��� ! �"�2�� ��$����"�� ��'���

�"$�� &�" ��� �2����� �� 4 �"��3 " ��� 3�"��(��� ��$����"�� # � �� �  �������� "�&"$������� � %$���
� %�3����! ��� ��� ��������� �� �2�# � �/�2� " *��� �� �������� ��� � ��#!�� �� �/�2�� $ $�2$�����
����"������ 0

Dk ≤ Tk
1 % �� &� � "�&"$�����" �2�# � �/�2� �� ������$"��� �� ��! ��� ��� ��������

�� "���� & ��# � ���� �� �� �$# ���� � %��$� ���� 3����� % �� �� &� � �� ����" $ �2�# � ������� # %� 
&� �  �� �� ������ ����3� �� �2�# � �/�2� " �� "

t ≥ rk
% � %�������� �� "���� ��

τk
���

τk,b(t−rk)/Tkc
"

1� � � &&����� # � �� ��!&� ��� ����"�� % ����� �2�# � �� �����
t ∈ N

"�&"$����� �� !��� � %����"3����
��!&�"��

[t, t + 1[
"

�� &� � "�&"$�����" � %��$� ���� � % � � ��#!� �� �/�2�� $ � %���� �� ��\$"����� 3�"��(��� ��$��
���"�� " �� &"�! �#"� # � �� � �3���  �����$� ���  �� 3�"��(�� �������"��� � %$3$��! ���� 03��" +' "�'� "'1 .

[
Mk

t = 0 ⇔
� %�������� �� "���� ��

τk
� %��� &�� ��$� �$� $ � %�������

t[
Mk

t = 1 ⇔
� %�������� �� "���� ��

τk
��� ��$� �$� $ � %�������

t*���� 3�"��( �� ��$����"� &�"! �� �� "�&"$�����" � %��$� ���� � % �� �/�2�
τk

&�"  �� � ��� �� 3�"��(���
��$����"��

(Mk
t )t∈N

" �� " !��$����" � %����!(�� � � ��#!� �� �/�2�� % ��  ������ ���"�  �
n
� &��� ��

�2����� �� 3�"��(��� ��$����"�� "
��� 3��� "� ��� 3�"��( ���

M1
t , . . . , Mn

t

�$��"! ����� ��� �/�2�� ��$� �$�� $ � %�������
t
" ����� &�"�

!������ � %��&"�! �" ��"������ ����"������ ��!!� �� "��&��� � ��!("� �� &"������ "� &�" ���!&�� "*�&������ % &� " 3$"�+�" �� ��� $�2$����� ��� �� ������� ���� "��&���$�� % �� ���� �������"� �� ��!("�
�� !��� �� �2�# � �������� � � ���#� $  � &"� ����� " " ��� �� & �� ����"������ �$&������ �� � %$���
� %�3����! ��� ��� �/�2�� " �� " ����� "����� % �� �  �������� � ��� �� 3�"��( �� ��$����"� � �3���� 03��"+' "� '� "'1 .

Ik
t =

t−1
∑

u=0

Mk
u

�� 3�"��(��
Ik
t

��!&��(����� �� ��!("� � %���#� � &"� ����� " �(��� � &�" ��� ��������� �� �� �/�2�
τk

� " � %����"3����
[0, t[

"

WXY Z '� "' [ ��� ��"����� ��� 3�"��(��� ��$����"��
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*��� �� �� �� � ��� % �� � �$��'���� &�"

θ
� %����!(�� �� �� � ��� �"��������! ���� &����(��� % ��

&�"
Θ

�� �� ������!(�� "���"���� $ �� � "��& ������ �� ��� ��� ����"������ �!&��$�� � � ��#!� ��
�/�2�� "

�� �� � .���. � 0����������� �����
*��� ����� ������� % �� � ���"�� ����� ��� ��& ���� &"�(�(������� �� ���"� �&&"� �2� " 1� � ������

�$"��� # � ��� �2��� � %�"��������!��� &����(��� ��"� �� � %��$� ���� � % � � ��#!� �� �/�2�� ����
&"�(�(������� " � ���� % �2�# � �� � �� &"�(�(����$ "�&"$�����  �� ������ �� �$# ����� � %��$� ���� " 1��"�
�( 5 ����! �� �"�� �� &�" �� ! ��� �� &���� � % �� ��� �� &"�(�(����$ � "

θ
������$� $ � %$� �� ��� �"����

�����! ���� 3������ 0
Θ
1 "

���! ����� ��� &"�&"�$�$� �$������"�� &� " # % �� ��� �� &"�(�(����$ "�����'�� �\����3�!���
� " � %�"������5�(����$ � % � � ��#!� �� �/�2�� " �� " ���� % ������$"��� �� ��� � % � ��'�"��2! � � %�"�
��������! ��� �����'�� % &�" ���!&�� )4 " 1� � &� 3��� �����" �"�  �� �� � �� &"�(�(����$ # � � �
��""��&��� . ��� �2��� � %�"��������!���� ��""��&������ $ �� � �� )4 ���� ���� ��$� $  �� &"��
(�(����$ ��� � ��� % �� ��� � �"�� $  �� &"�(�(����$ � ��� " � " % )4 � %��� &�� �&��! �� ���� �� � ���
��������� . �� �� ���� ���� ��� � ��#!�� �� �/�2�� �"������5�(��� &� " ���# ��� )4 &"�� ��  ��
�$# ���� �� "��& ������ &�� ��� ����"������ " � ���� % �� &"�(�(����$ # � ��"���� � � ��#!�� �� �/�2��
������ �"������5�(��� &�" )4 &� � 4�"� � ��� % (��� # � �� � ��� �� ���� �"������5�(��� " 6�� �����
��� �� &"�(�(����$ � %��� ���� &�� �����!������� &� " $� ���" �� " �"������5�(����$ . �� � % � &��
$# �3������ ���"�

P(Θ) > 0
�� �� !��� # � �� � ��#!� �� �/�2�� ���� �"������5�(�� "

�� "  �� ��� �� &"�(�(����$
P

# �����# � � "
θ
% ��"�# � � %�� �

P(Θ) > 0
% �� � ��#!� �� �/�2��

��� !�"�$! ��� �"������5�(�� " �� " # % �� �� � �� &"�(�(����$ ����  �� !�� "� � %�"������5�(����$ %
�� �!&��� # � �� "$��&"�# � ���� � ��� 3$"�+$� "
� 
��	
	�� B� AB ��� 6�� 7� � ��S�S�6�
8

P
���

θ
��
 ��� � ����� 7� 6 R��7�������S�6�
8 7�

τ
�� �


��� 6�� ��
 �� �

P(Θ) > 0 ⇔ τ
��
 ��7�������S6�

�� ��� $# �&"�(�(�� ���"�( � �� ! 4!� &"�(�(����$ $ �� � ��� �"��������! ���� " � ���� % �#� # %��
�� ����  � �"��������! ��� 3����� % ���� !� "���  �� &"�(�(����$ � %�"������5�(����$ ��� � ��� " �� ���
$# �&"�(�(�� ��� ����  �� !�� "� � %�"������5�(����$ " 6� �3����'� �� ����� ��� ��� ��� $# ��$ .
� � � �2��� � %�"��������! ��� � %��� !�3�"��$ &�" "�&&�"� $  � � �"� "

�� &� � � ��� �$+��" � %� �"�� ! �� "�� � %�"������5�(����$ " 6� ���!&�� ���$"������ �� ��� ���
��� � !� "�� &�" ��� �$# ����� �����"3���3�� .  � �"��������! ��� �  �� &"�(�(����$ ��� � ��� ��
�� �� ��! ��� �� �� ��� �����"3���! " * % � &���� �� 3 � ��!&��"$�� % ����� ��� ��� �"#� ���$"�������
��" ��� ��$� ��!� ��� ��� � %��'���"��� # � ��� �$# ����� �����"3���3�� . ���� &�"! �� ���� �� ��
&���������" ���� �� " �������� " ��"�# � ��� �/�2�� ���� ���$& �������� % �� ���� # � �#� # %�� �� ����
 �� �$# ���� 3����� % ���"� �� �� ����  �� �$# ���� �����"3���3� 3����� " � ���� % ���� �� �������� ���
�/�2�� ���$& �������� % ����� �� � ���  �� ! �� "� � %�"������5�(����$ "

*���� �&&"� �2� & �"!�� �� ! ���"� �� &����  � &"� ���� � �� 3��������� ���$&����!!��� ��
�� �� � �� &"�(�(����$  �����$� ���� # � ��� 3�"��(��� ��$����"��

(Ik
t )k∈{1,...,n}

3$"�+��� �� &"�&"�$�$
�� 4 �"��3 " *���� !�� ��"��$ ��� ���$"������� & ��# %���� & �"! �� � %�&&��# �" ���"� �&&"��2� $ ���
��������� �&$��+# �� % �� ! 4!� � %�(�"��" � %$� �� �� � %�"������5�(����$ � % � � ��#!� �� �/�2�� �����
��\$"����� 3 �� 0�� ��1 "

�� �� ����������� �.� ������ ���.� �. ����������

� �� �
 ����������� �� �� ��������

*�����$"���  �� ����"����� �!&��$� � � ��#!� �� �/�2�� �� "�&"$����$� &�" � %����!(��
H

���
�"��������! ���� # � �� �����!��� " �� &� � �� ����" ��!&�� �� �� � !���#"�� ��\$"����� .
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[ &�" ��������� . �� �$��"! ��� �� &"�(�(����$ # % � �"��������! ��� ���� 3����� ���2��� # %��
3$"�+� �� ����"����� % �� ���� �� ����

P(Θ|H)
"

[ &�" ���5������� . �� �$��"! ��� �� &"�(�(����$ # % � �"��������! ��� ���� 3����� �� # %�� 3$"�+�
�� ����"����� % �� ���� �� ����

P(Θ ∧ H)
"*�� �� � !$�2���� � %���$'"����� � % �� ����"����� ���� ��!&�$!�����"�� " ����� ���� � ��� $# �3��

������ &� " �� 3��������� % ��" �#� # � � %�� �
P(H) > 0

% �� �$+������ ��� &"�(�(����$� ���������������
�!&��� .

P(Θ|H) > 0 ⇔ P(Θ ∧ H) > 0
*��� �� ! $�2��� &�" ��������� % ��� ����"������ ���� &"���� �� ��!&�� � ��3�� �� �� �� � ��

&"�(�(����$ . �#� # % � �"��������! ��� �  �� &"�(�(����$ ��� � ��� % ���"� �� "��& ���� �� ����"����� "*���� !$�2��� "��� � % ���������� �� �� �� � �� &"�(�(����$ & � � ���2��# � & ��# � ��� 3�"��( ��� ��$��
���"�� �� ���� '$�$"���! ��� &� � ���$& �������� " *�&������ % ����� ! $�2��� &�"!�� �� !�������"
� %$� �� � "  �� ������ � %�"��������!��� �& $��+# � " ���� ��� &�"��� ��#"�! ��� ���&�$� &� " ���$�
'"�" ��� ����"������ &"�&"�� $ � %��$� ��! ��!&��"$�� . ! �'"����� ������ � &�"������ % �����"3����! � %
&"$�!&��3��$ % ��� "�� &"��� �� ��!&�� &�" ���5������� "�3���� $ ����"����"� ��� ! �"�2�� ��$����"�� � ��"��$��
&�" �� �� � �� &"�(�(����$ �� �� " �!&�����  � &�"�� "� �& $��+# � " � ���� % ��� ����"������ &"���� ��
��!&�� �� ����� ! ���#"� � %��� ��� &�� ��"����! ��� � " �� ��� �� &"�(�(����$ " *���� ! $�2��� �\"�
����  �� ��"����� !�� ��"��$ & ��# � � %���"�� ����� � % �� �� 3���� ����"����� � %�!&��� &��  ��
"$$� �� ��!&�#�� �� �� ��� �� &"�(�(����$ " � ��� ��� �"#�  ���� &� " ���$'"�" ��� ����"������ &"�&"��
� � ����"������� ���"� ��� �/�2�� . "������� �� &"$�$����� % ���� ���� ! � ���� % ��� "

� �� �� ����������� ��� ���
 �������

*��� �� �� ����� ������� % �� � ������$"��� .
[  �� �2���� �� 4 �"��3

X
$ ��!&� �� ��&��� � %$���� ����"��� %

[ � %����!(��
E

��� 3��� "� ��� 3�"��( ���
Xt

%
[  �� (�5 ������

f
��

{1, . . . , |E|}
����

E
"*�!!� ���� �� ������� &"$�$����� % ������$"���  �� ����"����� �!&��$� � � !�"�2�� ��$����"��

��
X

"�&"$����$� &�" � %����!(��
H

��� ! �"�2�� # � �� �����!��� " �� " ���$'"�" ����� ����"����� &�"
���5������� % �� ���� � %��&"�! �" ��  �������� �� ��! ��� ��� �"��������� �\��� $�� ��"� � % �� !�"�2�
��$����"� " ��"�# � � %��� &����( �� % �� � ������ # � ����� ����"����� ��� ! �"��3����� "
� 
��	
	�� B� A� ��� 9��
����
� � ����H����� ��
 �� � �87�9�
 Q

78� ��7��
 7�� 
�����
���� �
 7�

��� �V �P� P 7� 6� � ��� �

Qt(Xt, Xt+1) P
�� " ���$'"�"

H
&�" ���5������� % �� "��2�"�2� ����  �� ����"����� ! �"��3�����

Q
3$"�+��� .

(Xt)t∈N ∈ H ⇔ ∀t ∈ N, Qt(Xt, Xt+1)

*���� �$��!&������� � % �� ����"����� &�"���� � " � %�� ��!(�� � % �� ! �"�2� ��$����"� ��  � &"$�����
&�"���� � " ��� �"��������� �\��� $�� ��"� �� ����� ! �"�2� ������� � �� &"����&��� �� "�� �� ��9 � ��$�
��"� �� �� !��$�������� ��� �"��������!���� 3������ "�� "$� ���� � �3��� !� "� ��  �� ! $�2��� &� " ���� ��" �� &"�(�(����$ # % �� ����"����� ! �"���
3����� ���� �����!���� " �� & �"! �� � %���$'"�" &�" ���5������� �� ��� ��� ����"������ �� 3��������� # �
���� �$��!&���(��� �� ����"������ ! �"��3������ "
�	
���
	 B� AB �����


Q
��� 9��
����
� � ����H����� �


λ ∈ N P U� � �

P(
λ−1
∧

t=0
Qt(Xt, Xt+1)) =

|E|
∑

k=1

(D.M0 . . . Mλ−1)
k

�� �

� D
��
 6� 7��
��S�
��� �� �
�� 6� �

∀k ∈ {1, . . . , |E|}, Dk = P(X0 = f(k))
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� Mt = [mij ]i,j∈N

��
 6� � �
��9� 7� 
�����
��� �

mij = P(Xt+1 = f(j)|Xt = f(i)) × P(Qt(f(i), f(j)))

� 8����
��
��� �
������

Dt
�� ����"�( ���� �� &"�(�(����$ �� �� �2���� �� 4 �"��3

(Xn)n∈N

$  � �������
t
# ���

���# � ��"�# � �� ����"�����
Q

��� "��& ���$� .
∀k ∈ {1, . . . , |E|}, Dk

t = P(Xt = f(k), Q0(X0, X1), . . . , Qt−1(X0, Xt))�� " $��(��" �� "$� ���� % �� � $��(�������  �� "������� &�"! ������ �� ���� ��"
Dt+1

$ &�"��" ��
Dt

"
�� " ���$'�" � %$�"�� "� % �� �  �������� �� �������� � �3���� .

Q(X0, X1, . . . , Xt) ⇔
t−1
∧

t′=0
Qt(Xt′ , Xt′+1))

�� �$��!&�����
Dt+1

&�" �� "#'�� ��� &"�(�(����$� ������� � " ��� 3��� "� ��� 3�"��(���
X0, . . . , Xt

% �� �(����� &� " �� �
k ∈ {1, . . . , |E|}

.
Dk

t+1 =
∑

v0,...,vt∈E

P(Q(X0, . . . , Xt+1), Xt+1 = f(k), Xt = vt, . . . , X0 = v0)

� "
Q
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k ∈ {1, . . . , |E|}
.

Dk
t+1 =

∑

v0,...,vt∈E

(
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v0,...,vt∈E
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P(Q(v0, . . . , vt, f(k))) × P(Xt = vt, . . . , X0 = v0)
×P(Xt+1 = f(k)|Xt = vt)
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∑

vt∈E
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P(Qt(vt, f(k))) × P(Xt+1 = f(k)|Xt = vt)
×
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v0,...,vt−1∈E P(Q(v0, . . . , vt), Xt = vt, . . . , X0 = v0)

)
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vt∈E

(

P(Qt(vt, f(k))) × P(Xt+1 = f(k)|Xt = vt)
×P(Q(X0, . . . , Xt), Xt = vt)

)
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t
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��
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.
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∑

vt∈E

P(Qt(vt, f(k))) × P(Xt+1 = f(k)|Xt = vt) × D
f−1(vt)
t
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Mt

% �� &� � "$$�"�"� � %��&"������ ������� � �� �� ! ���#"� � �3���� .
Dt+1 = Mt × Dt�� � % �������� "$� "��3�! ��� % �� �(����� �� "$� ���� "��2�"�2$ "*�+* "
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t
� &� �

p
�/�2��

� %��$� ���� ��! ����$! ��� .
n
∑

k=1

(Ik
t+1 − Ik

t ) ≤ p

)�!�"# ��� # � &�" �$+������ % �� �
0 ≤ Ik

t+1 − Ik
t ≤ 1

% & ��# % �� !4!� �/�2� �� & � � ��$� ��"
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*�!!� �� ��� ��� �� ��" ������ � % �� ! 4!� �������� ���� ��$� �$�� � " �� ! 4!� &"� ����� " % ��
&� � ���� ���" �2�# � �������� � &"� ����� " � " ��# �� ���� ��� ��$� �$� " 1� � ��3��� ���"� 3$"�+�"
# %$ �2�# � ������� �� ��!("� � %��������� ��$� �$�� �� ���� ��$�� $  � !4!� &"� ����� " ��� �� !$"�� "
� $'�� $ '" *$+�������  � 3���� " �� &����!���

(Y 1
t , . . . , Y n

t )
�� �� !�5�� � �3���� .
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Y k
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�� �$+������ � 3���� " �� &����! ��� % �� � �3��� ����"���� ��� 3��� "� ��� 3�"��(���
(Y 1

t , . . . , Y n
t )�� !������� �� ������ ��

(I1
t , . . . , In

t )
.

∀t ∈ N, ∀k ∈ {1, . . . , n}, Y k
t = 0 ⇔ Ik

t ∈ CkN

6�� �������� �� & � � &�� �2��'�" �� &"������ "� �� �� "� � %��$� ���� % ����� ����"����� � %��&"�! �
&�" �� ��������� � �3���� .

∀t ∈ N, ∀k ∈ {1, . . . , n},
(

Ik
t 6∈ CkN ∧ Ik

t+1 6∈ CkN
)

⇒ Y k
t = Y k

t+11� � &� 3��� ! ��������� !�"! ��" �� ����"����� ��'��+��� # %� &� �  �� �/�2� ���� ��$� $  �
&"� ����� " & � � 4�"� ��$� �$� $  � ������� ����$ .

∀t ∈ N, ∀i ∈ {1, . . . , p},
∑

k∈Ei

(Ik
t+1 − Ik

t ) ≤ 1
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Ei

��� �$+�� &�" .
Ei = {k ∈ {1, . . . , n}|Y k

t = i ∨ Y k
t+1 = i}��" �$+������ % ��� 3�"��(��� �� &����! ���

Y k
t

���� ��$�� $ ��� �/�2��
τk
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Ck3� �

1
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0
" �\����3�!��� % �3��� # � ��� �/�2�� �� � %��$� ���� % �� " 3�"��(��

"��& ����3� 3� � � 0�/�2� ��� &���$� 1 % �� �&"#� �� " &"�! �#"� ��$� ���� % �� " 3�"��(�� "��& ����3�
3� � ����"� � 0�/�2� ������3� 1 " � ���� % �� &"$����� ������� � � %��� &�� � 9 ���� &� " �"����" �� � &�
�� �/�2� " �� " ��������� % �� ���� �� ��! ��� � %��� "�" # %�� �� ����  � &"� ����� " �� ���&�� �(�� � 
!�!��� � # �� ����� ���� ��$� �$�� " �� ���� ���"� 3$"�+�" �� & � � .

∀t ∈ N,
n
∑

k=1

(Ik
t+1 − Ik

t ) ≤ p
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��� ��$� ��!� ����&"$�!&��!� �� & �"! ������ &�� # % �� �������� �� �� "� � %��$� ���� ���� ���
��""�!& � . �#� # % �� �������� �$( �� ��� ��$� ���� % ���� ��� ��$� �$� 5 �# %$ ��"! ������� " *����
����"����� ��""��&��� $ �� &"�&"�$�$ � �3���� .

∀t ∈ N, ∀k ∈ {1, . . . , n}, Ik
t 6∈ CkN ⇒ Ik

t+1 = Ik
t + 1

*���� ��������� ���  �� ����"����� !�"��3����� % ���� & �"!�� ���� � %���$'"�" &�" ���5������� � %2 �
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���� % &� " �� �

k ∈ {1, . . . , n}
�� �� �

t ≥ rk
% ��� �� � ���������� � �3����� .
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[
(t − rk) = Dk ⇒ Ik

t = Ck.d(t − rk)/Tke[
(t − rk) = Tk ⇒ Ik
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αk

. �� &"�! �#"� ����" ����� �� �� ������� �"���# � %
[

βk
. �� ��"��#"� ����" ����� �� �� ������� �"���# � "
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Zk = {(i1, . . . , in)|αk ≤ ik mod Ck < βk}
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�� "$� ����� $���� ��!&���( �� �3�� ��� $���� � &&"�!$� % �� � ��� $����
e ∈ E \ Πt

3$"�+���
P(Xt = e ∧ (Qu(Xu, Xu+1))0≤u<t) = 0

% �� ����
D

f−1(e)
t = 0

" �� &� � ���"� "$� �"� �� ��!!�
&"$�$����� � � �� �� $�$! ����

e ∈ Πt
" �� �(����� .

Dk
t+1 =

∑

vt∈Πt

mf−1(vt),k × D
f−1(vt)
t

�� "
k ∈ {1, . . . , |E(Π, g, h)|}

3$"�+���
f ′(k) ∈ h(t, Πt)

% �� � &�" �$+������ .
redt(Dt)k = Dk′

t

% ��
k′ = f−1(h−1

t (f ′(k)))

)�!�"# ��� �� &"�&"�$�$ � �3���� .
f−1(h−1

t (f ′({k ∈ {1, . . . , |E(Π, g, h)|}|f ′(k) ∈ h(t, Πt)})))
= f−1(h−1

t (h(t, Πt)))
= f−1(Πt)

�� � (���� ���
k′ &�" f−1(vt)

% �� �(����� &� "
vt ∈ Πt

.
redt(Dt)k = D

f−1(vt)
t

% ��
k = f ′−1(ht(vt))
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� ������
�� &� � ���� ��&"�! �"

Dk
t+1

�� !������� ��
redt(Dt)

% �� � &� "
k ∈ {1, . . . , |E|}

.
Dk

t+1 =
∑

vt∈Πt

mf−1(vt),k × redt(Dt)f−1(vt)

��" ��!&���(����$ �� �� "$� ����� �3�� �� !��# �� �� �3�� ��� ����"������ % �� �(����� &� " �� �
t ∈ N

��
i, j ∈ {1, . . . , |E|}

3$"�+���
f(i) ∈ Πt

��
f(j) ∈ Πt+1

.
mt,i,j = mg(t),f−1(ht(f(i))),f−1(ht(f(j))) = m′

g(t),f ′−1(ht(f(i))),f ′−1(ht(f(j)))�� �� �$� �� % &� "
k ∈ {1, . . . , |E|}

3$"�+���
f(k) ∈ Πt+1

.
Dk

t+1 =
∑

vt∈Πt

m′
g(t),f ′−1(ht(vt)),f ′−1(ht(f(k))) × redt(Dt)f−1(vt)

�� ���� % &� "
k ∈ {1, . . . , |E|}

3$"�+���
f(k) ∈ Πt+1

.
Dk

t+1 = (redt(Dt) × M ′
t)f−1(ht(f(k)))�� �(� ��� ���� $ .

Dt+1 = augt(redt(Dt) × M ′
t)*�+* "

�� " ��&�����" &�����!���  �� "$� ����� % �� ���� &����" ��"����! ��� �� �� ����"�( ���� "$� ���$ � %�� �����
t
$ ����� "$� ��� $ � %�������

t + 1
" *$������� � �� &"� ���� � �� &����'� �� � %�� �����

t
$

� %�������
t + 1

.
'"

dt →
����"�( ���� $ � %�������

t
"�&"$����$� �����

�� "$� ����� $ � %�� �����
t� "

dt.Mt →
����"�( ���� $ � %�������

t+1
"�&"$����$� ���

��� �� "$� ����� $ � %�������
t( "

augt(dt.Mt) →
����"�( ���� $ � %�������

t + 1, " redt+1(augt(dt.Mt)) →
����"�( ���� $ � %�������

t+1
"�&"$����$� ���

��� �� "$� ����� $ � %�������
t + 1�� "  ������" & �����! ���  �� "$� ����� % �� ��� �$������"� � %$��(��"  � !� �� &� " &����" ��"���

��! ��� �� � %$��& � � $ � %$��& � , "
� 
��	
	�� BBA� M� � �� 9
��� 7� � ����O �

tsft
7� � �7E6� �87��
 T 6 R���
��


t
�� � �7E6� �87��
 T

6 R���
��

t + 1

��
 78N ��� � �� �

tsft(d) = redt+1(augt(d))�� �2$�"#!� ''"� &�"!�� �� &����" �� � %$��& � � $ � %$��& � , &�"  � &"� �$�$ ���� �� ��!&��� ��$
�$&��� ��

|E(Π, g, h)|
�� ��� ��

|E|
" �� �(�����  �� ! $�2��� � %$3�� ����� ��� ����"�( ����� ��

X
��"�# �

Q
��� 3$"�+$� ���� �� ��!&��� ��$ �� �$& ��� # � ��

|E(Π, g, h)|
. �� "$� ����� ��� ����

&�����!��� ��&����$� "
�	
���
	 BBA� ���


d
6� 7��
��S�
��� �87��
� T 6 R���
��


t + 1
��� �8���
8� ��6�� 6� �87�9
��� T

6 R���
��

tV � 6��� � ��� 
��


k ∈ {1, . . . , |E(Π, g, h)|} V �� � �

f ′(k) ∈ ht+1(Πt+1) ⇒ (tsft(d))k = df ′−1(ht(h−1

t+1
(f ′(k))))��"�# � �� !��# �� "$� �� $ � %�������

t+1
� %��� &�� �� ! 4!� # � ��� � $ � %�������

t
% �� &����'� ��

� %$��&� � $ � %$��&� , � %��� &�� �"�3��� " �� �$+������ �� �� �2$�"#!� � �3���� &�"! ������ � %�&��! ���"
�� ���� � ��

tsft
���� ��"����� ��� "

� 
��	
	�� BBA
 ��� �87�9
��� (Π, g, h)
�: �9
�� �� ���
 T 6 R���
��


t
� R�6 �� ��
�

e ∈ Πt+1

�6 Q��

ht(e) 6= ht+1(e) P
�	
���
	 BBA� ���


d
6� 7��
��S�
��� �87��
� T 6 R���
��


t + 1
��� �8���
8� ��6�� 6� �87�9
��� T

6 R���
��

tV �� (Π, g, h)

� R�: �9
�� � �� 7� ���
 T 6 R���
��

t+1V �6��� � ��� 
��
 k ∈ {1, . . . , |E(Π, g, h)|} V�� � �

f ′(k) ∈ ht+1(Πt+1) ⇒ (tsft(d))k = dk



�� 	� 	 ��
 ������ � �� ��������� ������ ��� ',�


�� �� � ��������� ��������� �� �� ��� �

*�����$"��� ��� $�$! ���� � �3���� .
[

Dt
. �� ����"�( ���� $ � %�������

t
%

[
M

. �� ! ��"��� �� �"�������� %
[

d, m
. ��� $�$!���� "$� ��� ��""��&������� "

�� �$��"! ��� �� ����"�( ���� $ � %�� �����
t+1

$ &�"��" �� ����� $ � %�������
t
&�" �� ���� � � �3��� .

Dt+1 = Dt × M

��  ��������  �� "$� �����
(Π, g, h)

% �� �\��� � .
dt+1 = redt+1(augt(dt × m)) = tsft(dt × m)

��"�# � �� "$� �����
(Π, g, h)

� %�\��� � &�� �� �� � $ � %�������
t + 1

% �� � ��"����!��� .
dt+1 = dt × m

� %��'�"��2! � '$�$"�# � &� " ���� ��" �� ����"�( ���� �� &"�(�(����$ �� �� �2���� �� 4 �"��3
X

$
� %�������

t
��"�# � �� ����"�����

Q
��� �����!���� ��� &"$����$� � " �� +' "� ''"� " �� ��������� � %�""4�

�$& ��� � ���� � �\��� $ " *��� �� � ��� % �� � &"�&����� &� ��� "� ��� ����� "
���� � �������� ��/ ��.� ���.� �������.�


�	 �
 � ���� �� � �� ��������� �������

1��"� ���2��# � �� "$� ����� ��&����� ��� ����"�������� �!&��$�� &�" ��� ����"������ �� 3��������� "�� "$� ����� # � �� � &"�&����� ��� "�&��� � " ��� ����"������ ��!&�"����� ��� �/�2�� " �� +' "� ''"(
!���"� # � �� � ��� $���� &����(��� �� �� �2���� �� 4 �"��3

Ik
t

�� ���� &�� 3������ " � �2�# � ������� %
�� &� � ���� �� ��������" � %���! ���"  � ��!("� "���"���� � %$���� " *�&������ % �� "$� ����� # �
�� �  �������� 3� & � � ���� . ���� ���& �� � ��� # � �� ��!&�"��! ��� �� �2�# � �������� ��� ��! ����"�$ ��� � �� �� &"�! �#"� �������� " *�� �"' ! ��� ��� 5 ���+$ &�" �� !��� # � ��� ��\$"����� ���������
� % �� ! 4!� �/�2� ��$� ���� ��� ! 4!�� ����" ������ . ����� ��$� ���� �� !4!� &"�'"�!!� % �� � ��
������� ���� ���� ��	

(d1)������� ���� ���� ��	
(d2)

d1[all] := 0
d2[all] := 0
d1[f(0, ..., 0)] := 1
t := 0
�� ��� 
��	 � �

d2 := d1 × m
������(d1, d2)
d2[all] := 0��

saut(t)
���� �

�
d2 := tsft(d1)
������(d1, d2)
d2[all] := 0

t := t + 1
run :=

��	� �� ��	������
()����� ����� ���� ���� ��	

(d1)����� ����� ���� ���� ��	
(d2)

WXY Z ''"� [ � �'�"��2! � '$�$"�# � � %$3�� �����



',� �������� �� 	 ���������� 
� ������
�������� � %��$� ���� �2��'� " +�"! ����! ��� % ����� ��"� �#"� &"�&"�$�$ �� "��"� 3� ���� ��� ����������
�� ��!&���(����$ �3�� ����� "$� ����� " *������� "�! #�� ���� ��� $���� �� �� ��� ��� �� ������� � % ��
�/�2� $ �� � �� �� &"�! �#"� 03��" +' "� ''", 1 " �� " �� �$+��" % �� � ��3��� �����" �"�  � �"�&���
(Π, g, h)

��""��&������ $ ����� �"���!�"! ����� " �� �(����� ���"� �� �"�& ��� ����$ ���� �� �$+������
� �3���� "
� 
��	
	�� BBA� M� �87�9
��� ��� � ��� �E��� ���
�� 9�� ��
 6� 
��� 6�


(Π, g, h)
78N �� ����� �

� Πt
��
 6 R����� S6�

Π1
t × · · · × Πn

t

��

Πk
t =

{

{b(t − rk)/Tkc.Ck, . . . , b(t − rk)/Tkc.Ck + Ck}
V �� t ≥ rk

{0}V �����

� gk(t) =

{

rk + (t − rk) mod Tk
V �� t ≥ rk

tV �����
� ht(i1, . . . , in) = (i′1, . . . , i

′
n)V �� i′k =

{

ik − Ck.b(t − rk)/Tkc
V �� t ≥ rk

ik
V �����

� %�� ��!(�� ��� $���� "$� ��� ��""��&������ $ ����� "$� ����� ��� .
E(Π, g, h) = {0..C1} × · · · × {0..Cn}

� ���� �$+�� % �� �"�& ���
(Π, g, h)

�\��� � ����  �� "$� ����� �� � %����!(��
{0, . . . , λ}n ���� � %����!(��

{0, . . . , C1} × · · · × {0, . . . , Cn}
% ��

λ
��� �� � "$� � %��$� ���� ������$"$� " � %����!(��

E(Π, g, h)

�������� ������! ��� n
∏

k=1

(Ck + 1)
$���� " �� ��!&��� ��$ �&������ �� ����� "$� ����� ��� ���� ��

O(Cn)
"



�	 �� ���������� �� �������� �����
�� " # � �� "$� ����� � � &"�! �#"�� �� ������� ����  ������(�� % ���� ���� 3$"�+�" ��� �"��� ����������

�� ��!&���(����$ �$+���� ���� �� ������� ''"� "'" ��� $���� � &&"�! $� &�" ����� "$� ����� �� 3$"�+���
&�� ��� ����"������ ��!&�"����� ��� �/�2�� " *���� "$� ����� ��� ���� ��!&���(�� �3�� ��� $����

W XY Z ''"( [ ����� 3������ �� $���� &����(��� &� "  �� �/�2�
τk

WXY Z ''", [ )$� ����� � � &"�! �#"�� ���������



�� 	� 	 ��
 ������ � �� ��������� ������ ��� ',�
� &&"�! $� " �� ��������� �� ��!&���(����$ �3�� �� !��# �� �$&��� �� �� ��� �� &"�(�(����$ �2����� .
����� ��������� ��� '$�$"���! ��� 3$"�+$� % �� &�"��� ���" �3�� �� ��� $# �&"�(�(�� "�� "$� ����� � � &"�! �#"�� ��������� ��"���$"��� �� ��!&�"��!��� & $"����# � ��� �/�2�� % ����
& �"! �� ���"� �� �$��"! ���" ��� ����"������ ��!&���(��� �3�� �� ��!&�"��! ��� " ��� ����"������ ����
��&"�! $�� $ &�"��" ��� ����$��

t
%
It

��
It+1

" *�& ������ %  �� ������������ "$� ��� �� ��� &�"�! #�"��
��� �� 3��� � 9 ����� % &�" ���!&�� .

g1(t), . . . , gn(t)
&� � �� 3��� "�!&����"

t
" *��� �� � ��� �� �����

������� % �� � $� ����� ��� ����"������ ��!&���(��� �3�� �� "$� ����� � � &"�! �#"�� ��������� "*�����$"���  �� ����"����� ! �"��3�����
Q

��  �� !�������
ϕ

�$&������ ��
t
%
It

��
It+1

" �� ���
# �

Q
�� �$&��� # � �� � %�! �'� ��� &�"�! #�"��

t
%
It

��
It+1

!� "� �� &�"
ϕ

�� �� �� ��! ��� �� �� � .
∀t ∈ N, Qt(It, It+1) ⇔ Q(ϕ(t, It, It+1))

8 � � %�! �'� !� "��� &�"
ϕ

��""��&��� � � &�"�! #�"�� "$� ���
g1(t), . . . , gn(t)

��
h(t, It)

% ���"�
�� �� ����"�����

Q
# � �� �$& ��� # � �� � %�! �'� !� "��� &�"

ϕ
��� ��!&���(�� �3�� �� "$� �����

� � &"�! �#"�� ��������� % & ��# � � %�� � .
∀t ∈ N, Qt(It, It+1) ⇔ Q(ϕ(t, It, It+1)) ⇔ Q(g1(t), . . . , gn(t), ht(It), ht(It+1))

8 &&����� # � � %�! �'� !� "��� &�"
ϕ

��������� � ��� �� # �����$
It+1−It

" 1� � �3���
It+1−It =

ht(It+1) − ht(It)
" *��� % � %�� !�"! �����

It+1 − It
��� ��&"�! �(�� $ &�"��" ��

ht(It)
�� ��

ht(It+1)
"

� �� �� % �� �� ����"����� # � �$& ��� �� ��! ��� �� ����� �� !�"! ����� ��� ��!&���(�� �3�� �� "$� �����
� � &"�! �#"�� �� ������� " �� "��������� �� ! ���#"� ��! ����"� % �� !���"� # � ��� ����"������ # � ��
�$& ������ # � ��� &�"�! #�"�� � �3���� ���� ��!&���(��� �3�� �� "$� ����� � � &"�! �#"�� ��������� .

[
It+1 − It

%
[

(I1
t mod C1, . . . , I

n
t mod Cn)

��
(I1

t+1 mod C1, . . . , I
n
t+1 mod Cn)

%
[

(I1
t − ∆1, . . . , I

n
t − ∆n)

��
(I1

t+1 − ∆1, . . . , I
n
t+1 − ∆n)

%
��

∆k = Ck.bIk
t /Ckc

"2� ��� ��� ����"������ # � �� � �3��� ��&"�! $�� �� � �� !�"! � �� ����"����� ! �"��3����� ����
�� �2�&��"� '� ���� ���� ��!&���(��� �3�� �� "$� ����� � � &"�! �#"�� ��������� " )�!�"# ��� # �
����� "$� ����� ��� � ���  ������(�� �3�� �� !��# ��

Y 1
t , . . . , Y n

t

# � �� � �3��� �$+�� &� " �� ��������
&"$�!&��! �3�� ! �'"����� &�"������ "


�	 �	 � ���� ��� �����

*�����$"���  � �������
t ∈ N

��  � $���
e = (i1, . . . , in)

% �� $� ����� ��� ��� ������ �� ��
"$� ����� � � &"�! �#"�� ��������� �\��� �  � �� � " �� "  �� �/�2�

τk
�� &� "

t < rk
% �� � &�"

�$+������ .
ht(e)k = ht+1(e)k�� "

t ≥ rk
% �� �(����� .

ht+1(e)k − ht(e)k = Ck.(b(t + 1 − rk)/Tkc − b(t − rk)/Tkc)

� "
b(t − rk + 1)/Tkc 6= b(t − rk)/Tkc

�� �� �� ��! ��� ��
(t + 1 − rk) mod Tk = 0

" *��� % ��
"$� ����� � � &"�! �#"�� ��������� �\��� �  � �� � $ � %�������

t
�� �� �� ��!��� �� � !����  ��

�/�2� �� "$����3� $ ��� �������� �$ "
�� "  ������" �� "$� ����� � � &"�! �#"�� ��������� % �� � ��3��� �$+��"  �� (�5 ������ ��

{1, . . . , |E(Π, g, h)|}
����

E(Π, g, h)
" *���� # � �� �  �������� & �"! �� �� !�����! ��� !��"� ��""���

&���"� ��� $���� "$� ��� $ � %�������
t − 1

�3�� �� � $ � %�������
t
��"�# � �� "$� ����� �\��� �  �

�� � "*�����$"��� �� (�5 ������
f ′ �� {1..|E(Π, g, h)|}

����
E(Π, g, h)

�$+��� &�" .
[

∆k =
∏k−1

i=1 (Ci + 1)[
f ′−1(i1, ..., in) =

∑n
k=1(ik × ∆k)*�����$"���  � �� �����

t ∈ N
� # �� �� "$� ����� � � &"�! �#"�� ��������� �\��� �  � �� � "

* %�&"#� �� # � &"$�#�� % �� �� ���� � !����  �� �/�2� # � �� "$����3� $ ��� ������� " 1�����
R

��



'-� �������� �� 	 ���������� 
� ������
�� ������!(�� ��

τ
��������� ��� �/�2�� # � �� "$����3��� $ � %�������

t
" �� " �� � $���

e ∈ E
% ��

�(����� .
f ′−1(ht−1(e)) − f ′−1(ht(e)) =

∑

τk∈R

(Ck × ∆k)

*���� &"�&"�$�$ !���"� # � �� �"���!�"! ����� $ �&&��# �" $ �� ����"�( ���� "$� ��� ��"� � % � �� �
"�3���� $  � ��!&�� �$����'� � %������� " �� �(����� ���"� �� "$� ���� � �3��� "
�	
���
	 BBA@ �����


t ∈ N
�� ���
��
 ��Q��6 6� �87�9
��� ��� � ��� �E��� ���
��9�� �: �9
�� ��

���
 �

d

6� 7��
��S�
��� �87��
� T 6 R���
��

t
��� �8���
8� ��6�� 6� �87�9
��� T 6 R���
��


t − 1 P � ���

��


k ∈ {1, . . . , |E(Π, g, h)|}V �� � �

f ′(k) ∈ ht(Πt) ⇒ (tsft−1(d))k = dk′

V �� k′ = k +
∑

τk∈R

(Ck × ∆k)

��
R = {τk ∈ τ |t ≥ rk ∧ (t − rk) mod Tk = 0} P

�� �$����'� � %������ �\��� $ �$&��� �� ��! ��� �� � %�� ����� �� �� &"�� �� �� �� � " � ���� % �� ��"!�
∑

τk∈R(Ck × ∆k)
��� ���� �$  �� �� �� !��� ��"� � �"����! ��� � % � �� � "



�	 �� � ��������� �� ������� �� � ��������
t � � ��������

t + 1� %��'�"��2!� ''"� &"$����� �� ��" �� "� '$�$"��� & �"!������ � % ������"  �� "$� ����� " *��� �����
������� % �� � $���5��� � %��'�"��2! � "$������� � %�& $"����� ;

d2 := d1 × m′< 03��" +' "� ''"-1 "�� ��"!�
m′

f ′−1(i),f ′−1(i+D)

��""��&��� $ �� �� � �� &"�(�(����$ �2����� " ��" ���!&�� �3�� �� ���
$# �&"�(�(�� % �� 3��� " ���

1/2n " �� '$�$"�� % �� ��� �$������"� � % ������" �� � ����"�( ����� % � % ��
&� " � %�������

t
# � � %�� ���#�� �� ���� "� % �� � %� �"� &� " � %�������

t+1
# � � %�� ���#�� �� $�"�� "� "*�&������ % �� ! �"�2� "$����$� ��� ��� �"�������� % ����� �� ��!!��5��� &�" ��� & � � '"���� $�$! ���� %

�� &� � � % ������" # % �� �� �� ����"�( ���� " �� +' "� ''"� &"$����� � %��'�"��2! �  �����$ &� " ��
���� � �� ;

d := d × m′< 0���$
PASt(d)

���� �� � ��� 1 "


�	 �� � ��������� �� ������� ��� �����

*��� �� ������� ''"( "( % �� � �3��� !���"$ # � �� "$� ����� � � &"�! �#"�� ��������� �\��� �  �
�� � $ � %�������

t
�� �� �� ��! ��� �� � !����  �� �/�2� �� "$����3� $ � %�������

t
" ��" �$+������ %  ��

��� ����� ��� ����� ���� �� �
i = (i1, ..., in)

��� �� ��	�
0 ≤ ik ≤ Ck ���

d1[f ′−1(i)] > 0���� �
������� � ��� � ����� ��	 �

D = (d1, ..., dn)
��� �� ��	�

0 ≤ dk ≤ 1∧ 0 ≤ ik + dk ≤ Ck ���
Qg(t)(i, i + D)���� �

d2[f ′−1(i + D)]+ = m′
f ′−1(i),f ′−1(i+D) × d1[f ′−1(i)]

WXY Z ''"- [ 2"����!��� ��� �"��������� ��"���� � % � $��� "$� ��
��� ����� ���������	� ��� ���� � ���� �� �

i = (i1, ..., in)
��� �� ��	�

0 ≤ ik ≤ Ck ���
d[f ′−1(i)] > 0

���� �
tmp := d[f ′−1(i)]
d[f ′−1(i)] := 0
������� � ��� � ����� ��	 �

D = (d1, ..., dn)
��� �� ��	�

0 ≤ dk ≤ 1∧ 0 ≤ ik + dk ≤ Ck ���
Qg(t)(i, i + D)���� �

d[f ′−1(i + D)]+ = m′
f ′−1(i),f ′−1(i+D) × tmp

WXY Z ''"� [ 2"����!��� ��� �"�������� � ��"���� � % � $��� "$� �� ��  ��������  �� �� �� ����"�( ����



�� 	� 	 ��
 ������ � �� ��������� ������ ��� '-'
�/�2�

τk
�� "$����3� $ � %�������

t
�� �� �� ��! ��� �� ��� �� � ���������� � �3����� ���� 3$"�+$�� .
(t > rk) ∧ ((t − Rk) mod Tk = 0)

� %��'�"��2! � &�"! ������ �� �$��"! ���" ��  � �������
t
���  � ������� �� "$����3����� ��� &"$����$

���� �� +' "� ''"� " *��� �� � ��� % �� �� ����
REA(t)

"
*�!!� &� " � %��'�"��2! � �� &����'� �� � %�������

t
$ � %�� �����

t +1
% �� &� � "$�����"  � �� � ��

 �������� �� ��!���  �� ����"�( ���� " �� "  � ������� �� "$����3�����
t
% � %��'�"��2! � �� ���� � ��

;
d := tsft(d)

< ��� &"$����$ � " �� +' "� ''"� " *��� �� � ��� % �� �� ����
PRJt(d)

"


�	 �� � ��������� ��� ������ �� ������ � �������� ������������� � � ����

������� � ��� �� ����� �����
�
��� �

��  �������� �� ��" �� "� '$�$"�# � # � �� � �3��� ����$� ���� �� ������� ''"� "� �3�� ��� ���
'�"��2! �� &"$����$� ���� ��� �������� &"$�$������ % �� �(����� � %��'�"��2! � �� 3��������� &"$����$
���� �� +' "� ''"� "*�� ��'�"��2! �  ������  �� �� �� ����"�( ���� &�"���� � " � %����!(��

E(Π, g, h)
% �� ��!&��� ��$

�&������ ��� ���� .
n
∏

k=1

(Ck + 1)

�� ����� !��������� �� ��!&��� ��$ ��!&�"���� �� ��� ��'�"��2! � .
� �'�"��2! � *�!&��� ��$ � &�"�
PASt(d) D ×

∏n
k=1(Ck + 1)

REA(t) n
PRJt(d)

∏n
k=1(Ck + 1)��

D
��� �� ��!("� �� ��"�������

saut := false
k := 1��	� ���

k ≤ n ∧ ¬saut��
(t > rk) ∧ ((t − rk) mod Tk = 0)���� �

saut := true
k := k + 1�����	 ����

WXY Z ''"� [ � �'�"��2! � �$��"! ����� �� �� "$� ����� $ �� ��� ��$ �\��� �  � �� � $ � %�������
t

∆ := 0
���� k

��
1 � n ���

(t > rk)
��

((t − rk) mod Tk = 0)���� �
∆ := ∆ + Ck × ∆k

������� � �� ��� � ��� ���� � ���� �� �
i = (i1, ..., in)

��� �� ��	�
{

0 ≤ ik ≤ Ck

(t > rk) ∧ ((t − rk) mod Tk = 0) ⇒ ik = Ck

d[f ′−1(i) − ∆] := d[f ′−1(i)]
d[f ′−1(i)] := 0

WXY Z ''"� [ � �'�"��2! � "$������� �� �� � �\��� $ $ � %�������
t



'-� �������� �� 	 ���������� 
� ������
�� ��!&��� ��$ � &�"� �� ���"� ��'�"��2! � ��� $# �3������ $ .

O(L × D × Cn)
% ��

L
��� �� ���' � " �� �� ! �"�2� ��$����"� "

�� ��!("� ! �� �! �� �� ��"������� �$& ��� � ��!("� �� &"������ "� ���&���(��� " �� � .

D ≤

p
∑

k=0

Ck
n ≤ 2n

�$�$"���! ��� % �� ��"! �
D

��� �� ��!&��� ��$ &�� ��! ���� % &�" ���!&�� . �� !���&"� ����� " % �� �
D = n + 1

% �� �� (�&"� ����� "
D = n2

2 + n
2 + 1

"�� ���' � " �� � %����"3���� � %$� �� � % � � ��#!� ��!&��"$�� ��� '$�$"���! ��� � !4!� �"�"� ��
'"���� " # �

P
" �� ��!&��� ��$ � &�"� �� ���"� ��'�"��2! � ��� ���� � !4!� �"�"� �� '"���� "

# � .
�� !���&"� ����� " �� (�&"� ����� "

· · ·
�� '$�$"��

n.P.Cn n2.P.Cn · · · 2n.P.Cn

���� � �������� � �� ��/ ���


�� �
 � ���� �� � �� ��������� �������

�� "$� ����� $ �� ��� ��$ ���  � "�9 ��! ��� �� �� "$� ����� � � &"�! �#"�� �� ������� " 1� � ������
��!&�� ��� �� � %����!(�� ��� $���� &����(��� &� " �2�# � �������

t
" *��� �� ���"� �� �� "$� �����

� � &"�! �#"�� ��������� % � %��&��� ��� $���� "$� ��� ��� ���$&������ � ��!&� �� ��""��&��� $ ��
&"�! �#"� �������� �� �2�# � �/�2� % ���� $ � %����!(��

{0, . . . , C1}× · · · × {0, . . . , Cn}
" *��� �� ���"�

�� �� "$� ����� $ �� ��� ��$ % � %��&��� ��� $���� "$� ��� �$&��� � ��!&� �� ��""��&��� ������! ���
� � $���� &�"! �� &�" ��� ����"������ ��!&�"����� ��� �/�2�� 03��" +' "� ''"(1 " �� �"���!�"! �����
��!&�"����

g
�� �� "$� ����� $ �� ��� ��$ ��� �� ! 4!� # � ����� �� �� "$� ����� � � &"�! �#"�� ��������� "8� �� ��� &����"� �� �� �"���!�"! ����� �&������ ��\#"��� ���"� ��� �� � "$� ������ "*���� "$� ����� "�&��� � " ��� �� � ������� � �3����� % $ �2�# � �� ����� �� &� " �2�# � �/�2�03��" +' "� ''"'�1 .

[ �� �� ����  � $��� ! ���! �� &� " �2�# � ������� %
[ ��� $���� &����(��� �&&�"�������� $ � %�� ��!(�� .

� $��� ! ���! �� %
. . .

% $��� ! ���! ��� ��� ��$ �2� � � %�(�"� % �$�"�3��� !�"! ����! ��� � %$��� ! ���! �� �� �2�# � �/�2� $  � �� ����� ����$ "
� 
��	
	�� BBA� � ��� 9G �Q�� 
F9G �

τk
V �
 9G �Q�� ���
��


tV �� 78N ��
 6 R8
�
 � ���� �6V ��
8 bast(k)V� �� �

�

��
0 ≤ gk(t) ≤ rk + Dk − Ck

V � 6��� bast(k) = 0

����������� ���� ��	
(d)

d[all] := 0
d[f ′−1(0, ..., 0)] := 1
t := 0
�� ��� 
��	 � �

PASt(d)��
REA(t + 1)

�����
PRJt+1(d)

t := t + 1
run :=

��	� �� ��	������
()����� ����� ���� ���� ��	

(d)

WXY Z ''"� [ � �'�"��2! � �� 3���������



�� 	� 	 ��
 ������ � �� ��� � �� '-(

�

��
rk + Dk − Ck ≤ gk(t) ≤ rk + Dk

V � 6��� bast(k) = Ck − (rk + Dk − gk(t))
�

��
rk + Dk ≤ gk(t) < rk + Tk

V �6��� bast(k) = Ck

�� � � ��� .
bast(k) = min{Ck, max{0, Ck − (rk + Dk − gk(t))}}�� ������ � %$��� !�� �! �� � % �� �/�2� $  � �� ����� ����$ ��� ����$� &�" �� �$+������ � �3���� "

� 
��	
	�� BBA� � ��� 9G �Q�� 
F9G �
τk

V �
 9G �Q�� ���
��

tV �� 78N ��
 6 R8
�
 � �� �� �6V ��
8 topt(k)V� �� �

�

��
0 ≤ gk(t) ≤ rk

V � 6��� topt(k) = 0
�

��
rk ≤ gk(t) ≤ rk + Ck

V �6��� topt(k) = gk(t) − rk
�

��
rk + Ck ≤ gk(t) ≤ rk + Tk

V �6��� topt(k) = Ck

)�!�"# ��� # � � %�� � � ��� .
topt(k) = min{Ck, max{0, gk(t) − rk}}

1� � �$+������� �� ��� ��$ � % �� �/�2� $  � ������� ����$ &�" �� ��\$"���� ���"� � %$��� ! �� �! ��
�� � %$��� ! �� �! �� .

laxt(k) = topt(k) − bast(k)�� "$� ����� # � � %��  ������ ��� �� ������#"� # � ��� $���� ��!&"�� ���"�
bast(k)

��
topt(k)

% � 
��� �� "�&"$�����" �� � ��� $���� ���� � %����"3����

{0..Ck}
��!!� �� !��� �� "$� ����� � � &"�! �#"��

��������� " 4  ��� ��� ������� &"$�$������ % �� � &� 3��� ! ��������� �$+��" �� "$� ����� $ �� ��� ��$ "
� 
��	
	�� BBAB� M� �87�9
��� T 6� 6�� �
8 ��
 6� 
��� 6�


(Π, g, h)
78N �� ����� �

� Πt = Π1
t × · · · × Πn

t
V �� 9G �Q��

Πk
t

��
 8O �6 T {bask(t), . . . , topk(t)}

� gk(t) =

{

rk + (t − rk) mod Tk
V �� t ≥ rk

tV �����
� ht(i1, . . . , in) = (i1 − bas1(t), . . . , in − basn(t))

�� "$� ����� $ �� ��� ��$ ����� ������! ��� � � $���� & �"! �� &�" �� 3������$ ��!&�"���� 03��" ��+' "� ''"''1 " *��� ��"����� ��� &�"��� ���"� 03��" �� +' "� ''"'�1 % ����� "$� ����� &�"! �� ! 4!� ��
"�&"$�����"  �� �/�2�

τk
&�" !���� ��

Ck + 1
$���� "

WXY Z ''"'� [ +��������
bast(k)

%
topt(k)

��
laxt(k)

� % �� �/�2�

W XY Z ''"'' [ )$� ����� $ �� ��� ��$
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� ������


�� �� ���������� �� �������� �����

*�!!� &� " �� "$� ����� � � &"�! �#"�� ��������� % �� � ��3��� !���"�" # � �� "$� ����� $ ��
��� ��$ 3$"�+� ��� �"��� ���������� �� ��!&���(����$ �$+���� ���� �� ������� ''"� "'" 2� � � %�(�"� % ���
$���� � &&"�!$� &�" ����� "$� ����� ���� �� � # � �� 3$"�+��� &�� ��� ����"������ ��!&�"����� ���
�/�2�� " *���� "$� ����� ��� ���� ��!&���( �� �3�� ��� $���� � &&"�! $� " �� ��������� �� ��!&���(����$
�3�� �� !��# �� �$&��� �� �� �� � �� &"�(�(����$ �2����� " 2� ��!��� % ����� ��������� ��� '$�$"���!���
3$"�+$� % �� &�"��� ���" �3�� �� ��� $# �&"�(�(�� "

�� !���"� �� �� ! 4!� ! ���#"� # � &� " �� "$� ����� � � &"�! �#"�� ��������� # � ��� ����"������
�$&������ �� ��! ��� ��� &�"�! #�"�� � �3���� ���� ��!&���(��� �3�� �� "$� ����� $ �� ��� ��$ .

[
It+1 − It

%
[

(I1
t mod C1, . . . , I

n
t mod Cn)

��
(I1

t+1 mod C1, . . . , I
n
t+1 mod Cn)

%
[

(I1
t − ∆1, . . . , I

n
t − ∆n)

��
(I1

t+1 − ∆1, . . . , I
n
t+1 − ∆n)

%
��

∆k = Ck.bIk
t /Ckc

"2� ��� ��� ����"������ # � �� � �3��� ��&"�! $�� �� � �� !�"!� �� ����"����� !�"��3����� ���� ��
�2�&��"� '� ���� ���� ��!&���(��� �3�� �� "$� ����� $ �� ��� ��$ " *�!!� �� "$� ����� � � &"�! �#"��
��������� % ����� $ �� ��� ��$ ���  ������(�� �3�� �� !��# ��

Y 1
t , . . . , Y n

t

��""��&������ � ��������
&"$�!&��! �3�� ! �'"����� &�"������ "


�� �	 � ���� ��� �����

��� �� �� �\��� $� &�" �� "$� ����� $ �� ��� ��$ �$& ������ �� �� !�������
bask(t)

" ��"�# � ��������
�2��'� �� 3��� " ���"� �� � ��������

t
��

t + 1
% ���"� �� "$� ����� $ �� ��� ��$ �\��� �  � �� � $

� %�������
t + 1

" � ���� % ����� "$� ����� �\��� �  � �� � $ � %�������
t
�� �� �� ��! ��� �� .

∃k ∈ {1, . . . , n}, rk + Dk − Ck < gt(k) ≤ rk + Dk

��� �� �� �� ����� "$� ����� ���� ���� ��\$"���� �� �� � �� �� "$� ����� �� &"�! �#"� �� ������ % ��
&�"��� ���" �� "$� ����� $ �� ��� ��$ �� !��� &�� �� �� � � � ��������

rk + Tk.N
"

�� " ��&�����" ����� "$� ����� % �� � � % �������� &�� � %����!(��
E(Π, g, h)

" *�� ���� &� � �� ��!���
�������" !���� �� ∏n

k=1(Ck + 1)
$�$! ���� 03��" +' "� ''"'�1 " � ���� % ����� "$� ����� �\"� �$5 $  �

'��� &�" "�&&�"� $ ����� � � &"�! �#"�� ��������� " 2� ��!��� % &� " ! ���! ���" �� ��!&��� ��$ �&������
��""��&������ $ ����� "$� ����� % �� �  �������� � %����!(��

Πt
&"�&"� $ �2�# � �������

t
&� �7� # �

� %����!(��
E(Π, g, h)

0&"�&"� $ �� � ��� ��������1 "*�����$"��� �� (�5 ������ ��
{1, . . . , |Πt|}

����
Πt

�$+��� ����� .
[

∆k =
∏k−1

l=1 (topt(k) − bast(k) + 1)[
f ′−1(i1, ..., in) =

∑n
k=1((ik − bast(k)) × ∆k)*���� (�5 ������ &�"!�� � % ������" $ �2�# � �������  �� ����"�( ���� ���� �� ������ ��� &�"!����!���

���&�$� � � $���� "$� ��� " �� ��!&��� ��$ �&������ ��'���"$� ��� ���� ! �� �! ��$� " *�& ������ % ��"�# �
�� ��"����� ��

Πt
3�"�� ���"� �� � �������� % ��� ����"�( ����� ��""��&������ � � $���� "$� ��� $ ���

�� � �������� � %��� &�� �� ! 4!� !�"! �� 0�����
f ′1 " � ���� % ����"��"�!��� $ �� "$� ����� � � &"�! �#"��

��������� % �� �� &� � &�� �� 5� "�  ������"  �� �� �� ����"�( ���� &� " �!&�$! ����" � %��'�"��2! � ��
���� � " � � � &"$���$! ��� % �� ��"����� ��

Πt
�$&��� ��� !��������

laxk(t)
% �� 3�"�� ���� �� ��! ���

� � ��������
t
&� " ���# ��� �� �� ����  �� �/�2�

τk
3$"�+��� � % �� ��� �� � ���������� � �3����� .

WXY Z ''"'� [ *�� &�"��� ���" �� �� "$� ����� $ �� ��� ��$
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[

rk < gt(k) ≤ rk + Ck[
rk + Dk − Ck < gt(k) ≤ rk + Dk�� �� �$� �� # %� � � �"�� �������� % �� &� � ���� ��" �� ����"�( ���� $ � %�������

t + 1
$ &�"��" ��

����� $ � %�������
t
��  ��������  �� �� �� ����"�( ���� "2� ��!��� % � � �������� �� � % �� ��� !��������

bask(t)
3�"�� % �� "$� ����� $ �� ��� ��$ �\��� �  �

�� � % ��� �� ������
t
���� �� � 3$"�+��� .

∃k ∈ {1, . . . , n}, rk + Dk − Ck < gk(t) ≤ rk + Dk

* %�&"#� �� # � &"$�#�� % ��� �������� ��""��&������ � ��� $ ��� 3�"������� ��� !��������
laxk(t)

" � " %
�� ��� �( ��'$ � % ������" �� � ����"�( ����� &� " "$�����" �� ���� � � &����'� �� �� ����"�( ���� ��
� %�������

t
$ ����� �� � %�������

t + 1
" �� �� � �#!� ����"�( ���� $���� &�" �����" ����� � !�"!��

��""��&������ $ � %�������
t + 1

% �� � %��� &�� �$������"� �� "$�����" �� �� � $ ��� ��������� �$ . ��� ����
�!&������! ��� &"�� �� ��!&�� "


�� �� � ��������� ��� ������ �� ������ � �������� ������������� � � ����

������� � ��� �� ����� �����
�
��� �

� %�! &�$! �������� # � �� � "$������� �� �$������� &�� �� '������ ��� �� �� " 1� � ��3��� �� ���
!��� ����" ��!&�� ��� �������� �� ��� &����"�

Πt
$3�� ��� " � ��� ��������� �$ % �� � ��3���  ������"

�� � ����"�( ����� ��\$"����� "� %��'�"��2! � �� ���� � �� ;
d2 := d1 × m′< ��� &"$����$ � " �� +' "� ''"'( " *��� �� � ��� % ��

�� ����
PASt(d1, d2)

" �� " ��� ��������
t
3$"�+���

Πt = Πt+1
% �� &� �  ������"  �� 3�"���� ��

� %��'�"��2! �
PASt(d1, d2)

 �������� �� ��! ���  �� ����"�( ���� " *�� ��'�"��2!� ��� &"$����$ � " ��+' "� ''"', " *��� �� � ��� % �� �� ����
PASt(d)

" �� �(����� ���"� � %��'�"��2! � �� 3��������� &"$����$
&�" �� +' "� ''"'- "�� ��!&��� ��$ �&������ � &�"� �� ��� ��'�"��2! � ��� ��

O(Cn)
" 2� ��!��� �� !� ���� % ��"� ��

������� � ��� ���� �
i = (i1, ..., in)

��� �� ��	�
bast(k) ≤ ik ≤ topt(k) ���

d1[f ′−1(i1, ..., in)]���� � ������� � ��� � ����� ��	 �
D = (d1, ..., dn)

��� ����	�
{

0 ≤ dk ≤ 1
bast+1(k) ≤ ik + dk ≤ topt+1(k)

��
Qg(t)(i, i + D)���� �

d2[f ′(i + D)]+ = m′
f ′−1(i),f ′−1(i+D) × d1[f ′−1(i)]

WXY Z ''"'( [ 2"����! ��� ��� �"��������� ��"���� � % � $��� "$� ��
������� � ���������	� ��� ���� �

i = (i1, ..., in)
��� �� ��	�

bast(k) ≤ ik ≤ topt(k) ���
d[f ′−1(i)] > 0

���� �
tmp := d[f ′−1(i)]
d[f ′−1(i)] := 0
��� ���� � ��� ������ ��	 �

D = (d1, ..., dn)
��� �� ��	�

{

0 ≤ dk ≤ 1
bast+1(k) ≤ ik + dk ≤ topt+1(k)

��
Qg(t)(i, i + D)���� �

d[f ′−1(i + D)]+ = m′
f ′−1(i),f ′−1(i+D) × tmp

WXY Z ''"', [ 2"����!��� ��� �"��������� ��"���� � % � $��� "$� �� ��  ��������  �� �� �� ����"�( ����
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�2�# � &$"���� % �� ��!("� !� �� � %$���� "$� ��� &� " �2�# � �/�2�

τk
��� .

(Dk − Ck + 1) × (Ck + 1) + Tk − Dk − 1

Tk

� ���� % �� ��!&��� ��$ �&������ !� ���� �� ��� ��'�"��2! � ��� $# �3������ $
0((D − C)n(C/T )n)

"
)�!�"# ��� # � �� ��"! �

C/T
��� � %�"�"� �� '"���� " �� �� �2�"'� ��� �/�2�� % �� ��� '$�$"���!���

��"����!��� �� !$"�� " $ '" � ���� % �� !���� " # � ��'���"� 3$"���(��! ��� �� �� ��!&��� ��$ ��� �� ��� ��$
��� �/�2�� 0

D − C
1 "

*� �� ! 4!� !���#"� # � &� " �� "$� ����� � � &"�! �#"�� ��������� % �� !���"� # � �� ��! �
&��� ��$ ��!&�"���� ! � ���� �� ��� ��'�"��2! � &� " � %$� �� ��� � ��#!�� ��!&��"$�� ��� $# �3������$

O(2n.P.(D − C)n.(C/T )n)
" �� !$��&$"����

P
$���� �� 5� "� �� !$"�� "� � &"�� �� ��� &$"�����

��� �/�2�� % �� ��!&��� ��$ !� ���� ��� ���� �� !$"�� "� $ .
O(2n.Cn.(D − C)n)

)�&&����� # � &� " ��� � ��#!�� !���&"� ����� "� % �� ��"!�
2n &� � 4�"� �2��'$ &�"

n
% �� &� " ���

� ��#!�� (�&"������ "� &�"
n2 "

�� �� �/� ���� .��������

�3��� �� !���"� �� � 3"� ��� ��&����$� &"�(�(������� �� ���"� !��# �� % �� � �3��� $3�� $ ���
& �"!�"! ����� ��'�"��2! �# �� " �� " ���� % �� � � %�3��� �� � � %�(�"� ��!&�"$ � !��# �� '$�! $�"�# �
�$+�� ���� &�� % �,) " ��� ��� % �� � �3��� $� ��$ �� "�&&�"� ���"� �� ��!&� �� ���� �  �����$ &�" ���"�
! $�2��� �� �� !�"! �� ������� �� ��!&��� ��$ ��!&�"���� ! � ���� # � �� � �3��� $��(��� ���� ��
������� ''", ", " +�����! ��� % �� � �3��� �$��"! ��$ �� '��� �&&�"�$ &�" �� "$� ����� $ �� ��� ��$ &�"
"�&&�"� $ �� "$� ����� � � &"�! �#"�� ��������� "

�� " ��!&�"�" ���"� ! $�2��� �3�� �� !��# �� '$�! $�"�# � % �� � �3��� '$�$"$  � ����!(�� ��'�� � ��#!�� �� �/�2�� ���$& �������� ������$� $  �� ��(�� !���&"� ����� " " ��� &�"�! #�"�� ���
�/�2�� ���� �2����� ��$����"�!��� ����� �� ! $�2��� � �3���� .

' " �� &�"�! #�"�
Ck

��� �2����  ��!�"! $!��� ���� � %����"3����
{1, . . . , 50}

%
� " �� &�"�! #�"�

Tk
��� �2����  ��!�"!$!��� ���� � %����"3����

{Ck, . . . , 50}
%

( " �� &�"�! #�"�
Dk

��� �2����  ��!�"!$!��� ���� � %����"3����
{Ck, . . . , Tk}

%
����������� ���� ��	

(0, d1)
d1[all] := 0
d1[f(0, ..., 0)] := 1
t := 0
�� ��� 
��	 � ���

∃k ∈ {1, . . . , n}
�

rk < gt(k) ≤ rk + Ck
��

rk + Dk − Ck < gt(k) ≤ rk + Dk���� �
������� ���� ���� ��	

(t + 1, d2)
d2[all] := 0
PASt(d1, d2)����� ����� ���� ���� ��	

(d1)
d1 := d2��	�	

PASt(d1)
t := t + 1
run :=

��	� �� ��	������
()����� ����� ���� ���� ��	

(d1)
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, " �� &�"�! #�"�

rk
3� � �� 5� "� � "

�� ��!("� !� �� �� �/�2�� ��!&�����  � ��� � ��#!�� '$�$"$� ��� �&&"�� �! ���3�!��� ( % ��
! $��& $"���� ��� �� 5� "� �� !$"�� "� $ '��� " �� +' "� ''"'� ����# � ��� ��!&� �� ���� � �� �������
 �����$� &�" ���"� ! $�2��� 0��* 1 �� �� ! ��# �� '$�! $�"�# � 0��� 1 " �� ��!&� �� ���� �  �����$ &�"
�� ! $�2��� '$�! $�"�# � 3�"�� � �� " �� '� % ���"� # � ��� �  �����$ &�" ���"� ! $�2��� 3�"�� � �� "
�� � %� '� " �� ��"! � �� ��!&��� ��$ ��!&�"���� % ���"� ! $�2��� �&&�"�� ����  � '��� �� !���� " '�� "

�� " �2�� �� ��� ��&$"�! ��������� � �3����� % �� � �3��� '$�$"$ ��$����"�! ��� '�� � ��#!��
�� �/�2�� �� �� ! 4!� ! ���#"� # � &"$�$��!!��� " 2� ��!��� % �� &�"�! #�"�

Ck
��� �2���� ���"� '

�� �� % �� �� &�"�! #�"�
Tk

��� �2���� ���"�
Ck

�� '�� " *� &� � % ��� � ��#!�� �� �/�2�� �� ���� & � �$ �$&�"�� ��! ����$� % �� &�"�! #�"�
rk

��� �2���� ���"�
0
��

Tk
" ��� � ��#!�� '$�$"$� �����������

- �/�2�� �� !� ���� " �� " �$��"! ���" �� � "$� � %$� �� �$������"� % �� � �3���  �����$ ��� "$� �����
�(��� � ���� �� �2�&��"� � "*��� �� ������� ''", ", % �� � �3��� $��(��  �� !�"! �� ��""��&������ �� ��!&��� ��$ ��!&�"����
! � ����  �����$� &�" ���"� ��'�"��2! � " �� " $3�� �" �� &"$������ �� ��� �������� " % �� � �3���
�$��"! ��$ �� "�&&�"� ���"� �� ��!&� �� ���� � �� �������  �����$ &�" ���"� !$�2��� �� �� 3��� "!� "��� &�" ����� !�"! �� 03��" +' "� ''"'�1 " *� "�&&�"� $3�� � ���"�

10−7 ��
10−8 " �� ��� ���$"�������� "�! �"# �" # � �� "�&&�"� ��� "�����3�! ��� ���(�� % ���"� !�"! �� !� "��� ����  � �������� "

��'��+����! � ��!&� �� ���� � "
+�����! ��� % �� � �3��� $� ��$ �� ��!&��� ��$ �&������  �����$� &�" ���"� ! $�2��� " �� +' "� ''"'�����# � �� "�&&�"� ���"� �� ! �� �! ! � %$���� ���� $� ��"�# � � %��  ������ �� "$� ����� $ �� ��� ��$ ��

�� ! �� �! ! �2$�"�# � &����(�� 0∏n
k=1(Ck + 1)

1 " *� ��!("� ��""��&��� $ �� ��!&��� ��$ �&������
�� �� "$� ����� � � &"�! �#"�� ��������� % �� & �"! �� ���� �� ��!&�"�" ��� �� � "$� ������ # � �� �
�3��� &"�&��$�� . �� '��� �&&�"�$ &�" ����� $ �� ��� ��$ ������� '$�$"���! ��� ���"� '� �� �� " * %� �"�
&�"� % �� ��!&��� ��$ �&������ � !��# �� '$�! $�"�# � ���

P.
∏n

k=1(Ck +1)
% �� !��# �� �����!!� ����

(�� �� & &� � �� ! $!��"� # � ���"� !$�2��� "
�� " $3�� �" �� # ����$ �� �� "$� ����� $ �� ��� ��$ &�" "�&&�"� $ � %�&��! �� % �� � �3��� $3�� $

�� ��!("� ! �� �! ! � %$���� �������� $  � ������� ����$ " 1� � � %�3��� ��� ��� ��!&�"$ �3�� ��

W XY Z ''"'� [ *�!&�"����� ���"� �� ! ��# �� (��$ � " ��� �2����� �� 4 �"��3 �� ��� � (��$ � " ��
'$�!$�"�� ����"#��
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��!("� !�� �! ! � %$���� "$� ��� ����� �� "$� ����� $ �� ��� ��$ " �� +' "� ''"'� ����# � �� "�&&�"�
���"� ��� �� � 3��� "� &� "  � $�2�������� �� '�� � ��#!�� �� �/�2�� " �� �������� # � ��� �� �
# �����$� "������ &"� �2�� � % �� �� � %� �"� 0� �� " �� � %�1 " � ���� % �� "$� ����� $ �� ��� ��$ !� "���  ��
"�&"$��������� �9 ���� ��� $���� &����(��� "
�� �� -��� ��� ���

1� � �3��� �$+�� �� � "$� ������ & �"! ������ �� "�! ���" ���"� !��# �� $  � ��!("� � %$����+��� " � "/�� $ ����� % �� � ���"� & �$+��"  � ��'�"��2! � &�"! ������ �� ���� ��" �� &"�(�(����$ # �
��� ����"������ ���$'"$�� &�" ���5������� ������ 3$"�+$�� ���2��� # � ������ ���$'"$�� &�" ���������
�� ���� " *���� ! $�2��� &�"!�� ���"� �� ���� ��" ��� ��"���$"����# �� &"�(�(������� � " � %�"����
�����! ��� � % � � ��#!� �� �/�2�� " *��� �� �2�&��"� � �3��� % �� � � % �������� &� " ���� ��" ���
����"�( ����� �� &"�(�(����$ � ��!&� �� "$&���� �� �2�# � �������� "

1� � �3��� � ��� $3�� $ �� ��!&��� ��$ �2$�"�# � �� ���"� ��'�"��2!� " �� "$� ���� # � �� �
�3��� �(��� � %��� "$3$�$ &"� �2� � ��!&� �� ���� � "$�� " �� ������� � ����  � (�� �������� " &� "
�$��"! ���" ��  � � ��#!� �� �/�2�� ��� ���� ��(�� &�" ���"� �&&"� �2� � &���� �� 3 � ��!&��� ��$ " *�
� &� � %�������� " ��� ���$"������ & ��# %�� & �"! �� �� &"$3��" �� ��!&� �� ���� � �� ���"� ��'�"��2! � "��� ��!&�"������ # � �� � �3��� ! ��$�� �3�� �� !��# �� '$�! $�"�# � &�� % �,) !���"��� # � ��
��!&��� ��$ ���� �&������ # � ��!&�"���� �� ���"� ��'�"��2! � ��� &� � ���$"������� "��� �"�3� � !��$� ���� ��� �2�&��"�� '� �� '' ��� !��� � %�( 5 �� �� �� � & (��������� % � % �� ����
�� "�3 � 2��2��# � �� 8������ �� !�"! ���# �� % �� � %� �"� ���� ��� ����� ��� )������"�� ��� �� ���*2�"�2� "� �� �� !�"! ���# � 2�!&� )$�� ���- "

WXY Z ''"'� [ ���� �&&�"�$ &�" �� "$� ����� $ �� ��� ��$ &�" "�&&�"� $ �� "$� ����� � � &"�! �#"��
���������

W XY Z ''"'� [ )�&&�"� ���"� �� ! �� �! ! � %$����  �����$� �� �� ! �� �! ! � %$���� ���� $�
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�� 
� ���� � � � �� �� �
� ��� �� �������� ���������  �!" � �#!�� ��#� �!��� "�� $ ���!�� �� ����" � �� �� ��!%�%����� &" '"�

�( ��)$ � �� �*���� #���+� "�� ��!������ �,���$ �� �!" � �� -!�$ � � '"�� �!���� ���� $ ���!#����� . / !" �"�����!�� $ � �������� ����� $ ���!�� �!"� �#��"�� �� ��!%�%����� &" '"�� �������� � �� "� ��$ � � ����� !��� �!��� . 0 �" � �������$ ���  !� ����" �� �� � �����%"��!� �� ��!%�%����� �" ��$ � � �� ��� !���
�� ���&"� �������� . 1 ������ �� ����� �� -!�$ ���!�  !� ��"� ���"��� � '�"���� ��� �����"�� �� &"������!$ $ � �� 2�2"� ��� �,�$ � �� .

3� �!� �� ��!%�%����� "������� � !"� ����������� �� �!$ � !���$ ��� ��� �*���� � ��$ �� �� �� �����!��������� ��� !��!������$ ���� �� �!� � �" ���"�� ����)��� . 0�� �,�$ � ��  �� -!����!� ��� ������������&"��
�� � '�,��"��- ��$ � �4��� � ��% ��  !� ��+� �� "�� �!� �� ��!%�%����� �������  2�*�� 5 � ��� !� !%�����
��� �� -!�$ ���!�� ��!%�%������� �"� �� �!$ �!���$ ��� �" �( ��)$ � �� �*���� &"� �!�� ��!���� 5 �!�-!����!���$ ��� �"� ��� �,��"��- . 6���� ����! ��� �� ��� !�� �"� �"�"�� � ! ��� �&"� � '!��!������$ ���������" ��)��  � ��� � ��$ �� �!�� � '!%��� �� "� � ��2�!���� �"� �� �!$ � !���$ ��� ��� �*���� �� -!����!� ��
� '�,��"��- "������ . � � ����� $ �� �)��  !� ��"� -� ��� ����!���� ��� ��!������� ��!���� 5 �� �����+����!�
�" �( ��)$ � �� �*���� . 7� ������" ����  !� ��"� �#��"�� �� "� �( ��)$ � �� �*���� ��� -�����$ ���  !" �"�!���� ���  � �8 ����$ ��� !��!����9�% �� .

� ��� �� �����!� :; .;  �!" � �����!�� �� $ ���!�� &"� �!" � �#!�� ��#� �!���� ���� �� ����������������� � !"� ����" ��� ��� � �����%"��!�� �� ��!%�%����� �" ��$ � � �� ��� !��� ��� ��������� . � ���
��� �����!�� :; .< �� :; .=  �!" � �����$ ��!�� "�� �!� �� ��!%�%����� ������������ �� �!$ � !���$ �����$ � !�� � ��� �*���� . ���� ��� �����!�� �"�#����� >:; .? 5 :; .@A  �!" � �"� ����2�!�� ��� ��!�������������������� ��� �,��"��-� ��$ � �4��� � B ����$ ���#���  �!����#���# ���  ��� . 0�����) ��$ ���  �!" � �!$ 4���!�� ��� � �C������� �!�� &"� �!" � ��!� !�!�� 5 � '� ��� � '"� �,�$ � �� .

�� 
� ������ D� �� � � � � D E� � E � F G � F�H G � F ��H � � GF
0!"� ����� �����!�  !� ��!��� ��� �!����!�� �"�#����� B
I E

B � '����$% �� ��� #���"�� ��
It = (I1

t , . . . , In
t )

 
I f

B "�� %�J ����!� ��
E

����
{1, . . . , |E|}

 
I Dt

B �� � �����%"��!� �� ��!%�%����� �� �� #����% ��
It

.
0!"� �����$ ���� ��� � �����%"��!�� �� ��!%�%����� �" ��$ � � �� ��� !��� ��� ��������� ��� �*����  

�!" � "�����!�� �� $ !�) �� �������� ���� ��� ��", ��������� ���������� . 1 ������ �� �"�  �!" � ��+� ���!��
�� #����% �� �����!��� �" ��$ � � �� ���!��� � '"�� �������� .
K LMNOPOQN RS TR UV WXX YZ ZY TRk,i

ZW [W\]W^ZY WZ_W`a]\Y bc `YdX e bY \_X aVeY bY ZW i�
]Ve`WVfY bYZW k �

`gfh Y i
TRk,i = t ⇔ Ik

t−1 = i.Ck − 1 ∧ Ik
t−1 = i.Ck

:?j
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3!��&"� �!"��� ��� ��������� ��� �*���� �!�� ���� ������  !� � B
P(TRk,i = t) > 0 ⇔ rk,i + Ck ≤ t ≤ rk,i + Dk

3�� #���"�� �! ���% ��� �" ��$ � � �� ��� !��� �� ���&"� ��������
τk,i

������������� �!�� 5 "� �����#����
�� �!�2"�"�

Dk − Ck
. 0"��&"� �!" � �!������!�� "� �&"�$ ��� ��� #���"�� ����)���  �� ( � �!��

Dk − Ck + 1
#���"�� � !���% ��� .3� #����% ��

TRk,i
��� ��� �� �� ��!%�%����� ��� ��������!�� �� �� ������ �� � ���!#

Ik
t

. 0 �" ��������$ ���  !� � B
P(TRk,i = t) =

∑

v = (v0, . . . , i.Ck − 1, . . . , vn) ∈ N
n

v′ = (v′0, . . . , i.Ck, . . . , v′n) ∈ N
n

D
f(v)
t−1 × P(It = v′|It−1 = v)

6���� -!�$ " �� � ��$ �� � '����2��� �� ����" � �� �� � �����%"��!� �� ��!%�%����� �" ��$ � � �� ���!��� �����&"� �������� �", ��2!����$ �� ��������� ���� �� �������� ::. /!" � �#!�� ������� ����� ����2����!�� !"� � '��2!����$ � ���! ���� �"� �� ���"���!� 5 �� ��,��� >#!�� �����!� ::.= .=A .
�!"� � '�% !��  �!" � �J !"�!�� "�� #����% �� ��� � ��$ ������ �� ����" ��� �� ��!%�%����� � !"� &"�

� '�������� �!"����� �� ���&"� �*��� ���$ ��� �!� �,��"��!� 5 � '������� �!"���� . 6���� #����% �� ���
���"�� ���$ ��� �$ � ��$ ����� ��� "� ��% ���" 5

n
� ��$ ���� .7��"���  !� �!�� ����2��� �� ����" � �� ��� ���� ��� ��2!����$ ��

PASt(d1, d2)
��

PASt(d)
. 6� ����#���� 5 ����!�"��� ���� � '��2!����$ �

PASt(d1, d2)
�� -!�$" �� ��

TRk,i
�!���� ��4����" � . 3!��&"�

�� �!�� �� �!� ��
Qg(t)(i, i + D)

��� #���+��  !� �J !"�� ��!�� �� ��� ���$ ��� �"�#��� B
��

ik + bastk = Ck − 1 + b(t − rk)/Tkc �� dk = 1
����� ���  !" #$

m′
f ′−1(i),f ′−1(i+D) × d1[f ′−1(i)]

3 '��2!����$ �
PASt(d)

�� $ !� �+� �� �� $ %$ � $ �� �)�� . 6�� �����"���!�� � ��$ ������ �� ����" ��� ����!%�%����� &"� � '�������� �!"����� �� ���&"� �*��� ���$ ��� �!� �,��"��!� 5 � '������� �!"���� . 1
�� +� �� � '�,��"��!� �� � '��2!����$ �

PASt
 �� #���"� �� ��� #���+� B

∀k ∈ {1, . . . , n}, tdr[k] = P(TRk,b(t−rk)/Tkc = t)

� ��� �� �������� :�  �!" � �#!�� ��� �&"� &"� � '!� � �"� ����2��� "�� �!���� ���� �� ��", $ �� �)���  
�!�� ��� �!�J !����!�  �!�� ��� �!�� ���!� . &"��! �!�� &"�

CNJ
���������� ��� �!���� ����� �������� �!$ ��� ��� �!�J !����!�  ��

CND
�� ���� ������ �� �!$ ��� ��� �!�� ���!� . 3�� � �����%"��!�� ����!%�%����� &"� � '!� !%����� ��!�� �#�� �!��� $ ���!�� �!����� !����� 5 B

P(It = it ∧ CNJ |CND)

3�� �!���� ����� ����2���� ��� �!�� ���!� �����#������� � ������$ ��� �"� ��� ��!%�%������ �� ������� �!�
P(It = it|It−1 = it−1)

. 7 ���� ���$ ������ �!�� � '���% ��� �� $ ������ �� ������� �!� . 6� ���� ����2���� ����!�J !����!� �����#������� � � !�����!�� �"� �� $ ������ �� ������� �!� B ��� ��!%�%������ ���!����� �",��������!�� ��#������ �!�� ���" ���� >#!�� �����!� :� .? .;A . '� �� ���!" �� &"� �� �!$ $ � �� �� ��!%�%�����
�� �!"��� ��� ������� �!�� �!����� � '"� ���� � '��� � �" � !% ��2��!���$ ��� :. 7� �!���&"����  �� �!$ $ �
��� ��!%�%������ �� �� � �����%"��!� ��

It
� '��� � �" � -!���$ ��� :. 3� � �C ������ ��� �&"� �� ��!%�%������ !"� ��� �!�� �� �!�� 6/ � �� �� ��� %��� #���+��� ������� &"� ��� �!���� ����� 6/ � �� �!�� . /!" � �#!��%��� �!� �,� ���$ ������!�� �"� � '��2!����$ � ���! ���� �"� �� ���"���!� 5 �� ��,��� . 6���� ���"���!��$ �! �� &"� ��� ��������� ��� �*���� �!���� ���� ������ B � ��� �!����� !�� 5 "�� ����� �� �!$ ��� ����!�J !����!� .

�� 
( )� � �*� �H � ��D� EF
/!��� !%J ����- ��� �� ��+� �� "�� �!� �� ��!%�%����� ������������� � '�$ ���� ��� ���������!�� �����

��� �*���� �� -!����!� �� � '�,��"��- ��$ � �4��� � ��% �� . 1#��� �� �������� 5 � ��%!��� "�� �!� �!$ � ��,�  
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�!" � �#!�� �,� ���$ ���� �� �!� �&"���!%�% �� B �!" � ��� !��!������$ ���� >#������ !" �!� A !�� ��$ %$ � ��!%�%����� . � ��� ����� �����!�  �!" � �"�� !�!�� &"� ��� �*���� �!�� ����� �������� �" ������!%�%������ �" ���$ � . 7 ���� � '������2������ �!�� ��� ����� � ���� � ������$ ��� >�!$ $"� �����!� !"
�(����!� �����!� A !" ��� ������$ ��� ��� �� %�� �� �� � '�,��"��- ��$ � �4��� � . 6� �� ��#���� 5 �"�� !��� &"����&"� �*��� � !��)�� �!� ��!��� ��!�����"� . � '�"��� ����  �� $ ���!�� &"� �!" � "�����!�� ��� !��
�"� �� ���"���!� 5 �� ��,��� . 1 ����  �� �!���� ���� �"� �", ��������� ��� �*���� ��� �$ � ������$ �������� �� �!$ ��� ��� �!�J !����!� . 3�� ��!%�%������ &"� �!" � �����$ ��!�� �!����� !����� �!�� 5 ����!%�%����� &"� ��� ��������� �!���� ���������� ������� &"� �!" � ��� !��!������$ ���� � !���% ���>#������ !" �!� A �!�� �&"���!%�% ��� .

� ��� �� �!���,��  ��� #����% ���
(Mk

t )t∈N,k∈{1,...,n}
�!�� ����� �������� . 7� ��!�������� �� �!��&" ���!%�% ��  !� !%����� ��� ��!%�%������ �� ������� �!�� �"�#����� B

I P(Ik
t+1 = x|Ik

t = x) = 1
2I P(Ik

t+1 = x + 1|Ik
t = x) = 1

20!"� �#��"�� �,� ���$ ������$ ��� ��� �!�� �� ��!%�%����� &"� �!" � ��+� ���!��  �!" � "�����!�� ��
�( ��)$ � �� �*���� ����� �������� �"�#��� B

rk Ck Dk Tk

τ1
� :� ;? ?�

τ2
� <� =? @?

τ3
� :� �? @?

3� ����2� �� �� �( ��)$ � �� �*���� ���
0, 73

. 3�� �*���� �!$ �! ���� �� �( ��)$ � �� �*���� �!�� 5
������� ��$" ������  �� �"��� � '��"�� ������� ��� ��� �!��

PPCM(50, 75, 75) = 150
. 1 ����  �� �*���

τ1
��2����� ��!�� ��������� ��� $ ���� ���!��  �� ��� �*����

τ2
��

τ3
�� ��2������� ��", ����"�� .

�*���
τ1

�*���
τ2

�*���
τ3

��� � :; .; I 0 �!%�%����� �� ���� ��� ��� ���������

��� � :; .< I ������%"��!� �� ��!%�%����� �" ��$ � � �� ��� !��� �#�� �� �!� �&"���!%�% ��
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7� ��� ��&"��� �!��� $ ���!�� �#�� �� �!� �&"���!%�% �� 5 �� �(��)$ � �� �*����  !� !%����� �����!%�%������ �� ��$ � � �� ���!��� ���������� �"� �� +2"�� :; .:. �� ��$ ��&"� &"� �� ��$ � � �� ��� !���

� '"�� ��������
τk,i

��� 5 ��" ��)� "� �-!�$ �$ ��� � �����%"� ����� ��� #���"��
rk,i + Ck

��
rk,i + Dk

 �,����� �!"� ��� ��������� ��
τ3

.
3� +2"�� :; .; ��� �&"� �� ��!%�%����� &"� � '�������� � '"�� �������� �!�� ���� ����� . 6���� #���"��!����� !�� 5 �� ��!%�%����� &"� �� ��$ � � �� ��� !��� ����������� 5 � '�����#����

[rk,i +Ck, rk,i +Dk]
B

��� ����!2��$ $ �� �� �� +2"�� :; .; �!����� !����� 5 � '����2���� ��� �!"�%�� �� �� +2"�� :; .:. 0!"�
�� ���$ �)�� �������� �� ���&"� �*���  �� ��!%�%����� �� ���� ��� �� � '�������� ��� ��! ��� �� : � '���
�!�$ �� �"��&"� ��� �*���� �!�� ������������� . �!"��-!��  ����� ��!%�%����� ����!�� ��)� -!���$ ���� !"� ��� ��������� �"�#����� %��� &"� ��� �!"�% �� � ���� �� $ %$ � �!�! �!2�� . 6� ����!$ )�� ��� ��
�" -� �� &"� �� �!���� ���� �"� �" ���� ��� ��� ��������� �!�� ����� �� �!$ ��� ��� �!�J !����!� B ��
�!$ $ � �� �� ��!%�%����� ��� ������� �!�� �!����� � '"� ���� � �"� %��� �������$ ��� �� -����"�� 5 :. 6�����!$ )�� ��� 2%���� � !"� � '��"�� �� 2�!� �( ��)$ �� B �!$ $ ��� ����������� �� -� �� &"� �� ��!%�%�����
�� ��" ����� ��� ���� �)��� ��������� ��� �*���� �!�� �� � '!���� ��

10−50 �
�� �"��� � !��� ��$ ��&"�% �� �!������ �� ���$ �)�� �������� �� �� �*���

τ2
. &� ��!%�%����� ����" ����� ��� �� � '!���� ��

10−10  ��!�� &"� ��� ��!%�%������ �� ��" ����� �� �� ���$ �)�� �������� ��
τ1�� ��

τ3
�!�� ��! ���� �� :. 6���� � �C ������ ��� �"� �" ���� !��

Ck/Dk
. 1#�� �� �!� �&" ���!%�% ��  ���

� �����%"��!�� �� ��!%�%����� &"� � '!� !%����� �!�� ��� 2�" �������� �������� �"� �� ��!��� � '�&"���!�
y = x/2

�� ��!�&"��� ��� �� -��%���
{Ck, . . . , Dk}

>#!�� +2"�� :; .<A . � !��  �!��&"� �� ����!��
Ck/Dk��� �� -����"� 5

1/2
 �� ��!%�%����� �� ��" ����� �� �� ���$ �)�� �������� ��

τk
��� -!��� � ���� �� ����!���� ���

2Ck > Dk
 � ��� ��� -� �% �� .

6���� �!� �� ��!%�%����� �������� �!�� � �" ���"�� ���!�#�� ����� � !"� �!��� ����! ��� . 0��$ �)��4$ ���  % ��� &"� ��� �*���� �!���� ����� ��������  �� ��!%�%����� �� ���� ����� ���&"� �������� � '������ :. 3� �!$ �!���$ ��� ��$ �!�� � ��� �*���� � '��� �!�� ��� ���������� ��� ����� �!� . � �",�)$ �4$ ���  � '!���� �� 2�����"� ��� ��!%�%������ !%���"�� ����! �� -!���$ ��� ����� ���&"� �������� � '"��$ %$ � �*��� . 0!"� "� �( ��)$ � �� �*���� �!$ � ��,��  !� ��� ��!�� �$ ��� 5 $ �� ��" ��� ��� &"��������,��%$ �$ ��� � ������ �!�� � '������������!� ������ �� ������ .

�� 
� �	�
F G �� ��H F � � D �� F G
3�� $ ������ �����!���� !%���"�� �#�� �� �!� �&"���!%�% �� �� ����"����� ��� �� �!$ � !���$ �����$ � !�� � ��� �*���� . 0!"� ( ��$ �� ���  �!" � ����2�!�� ��� �!�� �� �!� ��� ��", ��!������� �"�#����� B
I "�� �*��� ������#� �� � �"� ��� %��� �,��"���  
I "�� �*��� �!�� �� ��,��� ��� �" ��� �!�� %��� �,��"��� .

1#�� ��� ��", ��!�������  �� �!� �� ��!%�%����� � ���2� �� $ ����� �����!��� 5 � '�������"� ��� �����
��$ �� ��� �� #���� ��� ��$ �!�� ��� B �!"��� ��� ��������!�� &"� �$ )���� "�� �*��� 5 �� ��� ���� �����
�!� �������� !�� "�� ��!%�%����� �" ��� . 6!$ $ � �!"� �� �!� �&" ���!%�% ��  �!" � �!������!�� &"� ����*���� �!�� ������������� �" ���� ��!%�%������ �" ���$ � .

6!������!�� "� ����
e = (e1, . . . , en)

#����� 5 � '�������
t

�� �����$ ��!�� ��� ��!%�%������ ���������� �!�� ������� ��
e
������� &"� ��� ��", ��!������� ��4����" � �!�� #���+��� . 0!"� �� ��  ��!��!��

��� ��", �!����!�� �"�#����� B
I � '����$% ��

A
��� �*���� ����#�� 5 � '�������

t
B

A = {k ∈ {1, . . . , n}|t ≥ rk ∧ ek < Ck + i.Ck}

I � '����$% ��
L

��� �*���� �!�� �� ��,��� ��� �" ��� 5 � '�������
t

B
L = {k ∈ A|Ck + i.Ck − ek = rk + i.Tk + Dk − t}

!�
i = b(t − r)/Tkc

.
0!"� "�� �*���

τk
������#� 5 � '�������

t
>
k 6∈ A

A  �� ��!%�%����� �� ������� �!� ��� B
P(Ik

t+1 = ek|I
k
t = ek) = 1



:�= �������	 �
 � 	 ��
	 
	� �	��� 
	 ��� ���	

��� � :; .= I ������%"��!� �� ��!%�%����� �" ��$ � � �� ��� !��� �� ���&"� ��������



�
 �� � ����	� ��
��	�
�� �	� :�?
0!"� "�� �*���

τk
����#� 5 � '�������

t
�� �!�� �� ��,��� ��� �������$ ��� � !��� �#� >

k ∈ A \ L
A  ����!%�%����� �� ������� �!� ��� B

P(Ik
t+1 = ek|I

k
t = ek) = 1/2

P(Ik
t+1 = ek + 1|Ik

t = ek) = 1/27� +����$ ���  � !"� "�� �*��� �!�� �� ��,��� ��� �" ��� >
k ∈ L

A  �� ��!%�%����� �� ��������!� ��� B
P(Ik

t+1 = ek + 1|Ik
t = ek) = 1

1 ����  ��" ��� ��� �*���� ����������� 5
A \ L

!�� �� ��!�, ����� � �" ���"�� ��������!�� � !���% ��� .3� �!$ %�� �� ������� �!�� �"�!������ 5 ������ �� � '����
e

5 � '�������
t

��� �!�� B
|A|−|L|
∑

k=0

Ck
|A|−|L|

7� �"��! ���� &" '� ���� �!�� �!"��� �&"���!%�% ���  �� ��!%�%����� � '"�� ��������!� #����� ������� ��
e

5 � '�������
t

��� ��!�� B
1

∑|A|−|L|
k=0 Ck

|A|−|L|
������!�� $ � �������� �� �( ��)$ � �� �*���� "������ ���� �� �����!� ���������� �!"� ��"� ���

��� ��$ � � �� ��� !��� !%���" � ��� �� �!� �&"���!%�% �� . 3�� +2"��� :; .= �� :; .= ��� �&"��� ��",&"� � '!� !%����� �#�� �� �!� &"� �!" � #��!�� �� ��+� �� . �� �!������ &"� �!"��� ��� ��������� !��"�� ��!%�%����� : �� ���� ����� ��"� �������� B ��"�� ������������&"�� ��$ � !�� ���� �!�� �!�� %��������������� ��� ����� �!� �� ��!%�%����� . � � � �" �  �!"��� ��� ��������� � '"�� $ %$ � �*��� !�� ��$ %$ � � �����%"��!� �� ��!%�%����� �" ��$ � � �� ���!��� . 6� � !��� �!�+�$ � �� -� �� &"� ����� �!��!����)�� &"� ��� �*���� �!�� ������������� .6!$ $ � �!"� �� �!� �&"���!%�% ��  !� ��$ ��&"� &"� ��� � �����%"��!�� !%���"�� �!�� ��� 2�" �4
������� ��!�&"��� ��� �� -��%��� ��$ � !�� ��� ���� ��&"� ��� �� �*��� �!�� ���$ ���� �!� �,��"��!� . 0���!����  "� ��� �������� �" $ !$ ��� �� � '�������� ��� �*����  �� �!����� !�� �", !��!������$ ����� !"� ���&"� �� �� �*��� ������� "�� ��,��� �" ��� 4 � .� . !� � ��� ��� �,��"��� �" � �" � ���� . 7� ��!��������
1/2

�!$ $ � ��!%�%����� � '�,��"��!� � '"�� �*���
τk

����#� �!�� �� ��,��� � '��� ��� �" ���  !� ������
�� 2�" ������� �"� �� #���"�

2Ck
. '� � �"� %��� ����������� �� ��!���� "�� �"��� #���"� � !"� !%��� ��"� �"��� ������2� . 0�� �,�$ � ��  �� ��!��������

Ck/Dk
 !� !%����� "� ������2� �"� � '�������

D
. 6�����!�� ��� ����������� �"��&" '�� ���������� ��� ���)� �", ��! �����"�� "� �-!�$ �$ ��� �������� ����

�� ��$ � �  $ � �� �� ��� -!��� ���!�� �� � �� �!����� !����� 5 � '�������� . 0!"� !%��� �� "�� ���������!�� �" � "� �-!�$ � ���� �� -��%���
{Ck, . . . , Dk}

 !� "������ "�� ��!%�%����� �� ������� �!� &"� ������ ��2�" ������� �" $ ����" �� �� -��%��� ��$ �!�� ��� B 2Ck

Dk+Ck

>#!�� +2"�� :; .� A . 1#�� ����� �!� �" ���  ����!%�%����� �� ���� ����� ��� ��������� #�"� : � ��� ���$ �� � '!%��� �� "� �!$ � !���$ ��� $ !(�� � !"����&"� �������� .

�*���
τ1

�*���
τ2

�*���
τ3

��� � :; .? I 0�!%�%����� �� ���� ��� ��� ���������
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�
 �� � ��� �	� �	 ���	�� ��� 	 � � �� �����	������ :�@
6���� �!� ��� �!�� ������������ �"��&" '� ��� ����"�� %��� �� �!$ � !���$ ��� ��$ � !�� � ��� �*���� .6��������  � ��� �� ����� ��� �!$ ��� �� � '���������"�� �� � '�,��"��- ��% ��2���� �� �( ��)$ � �� �*���� B

��� �!���� ����� �!" �4J ������� �!�#��� �" ��� %��� ����2���� 5 �� �!� �� ��!%�%����� .

�� 
� �� �� F�� F H ��F� H � �	 F� � � �
�� � GF��D � �	
� ��� ����� �����!�  �!" � ��+� ���!�� "�� �!� �� ��!%�%����� ������� �", �,��"��-� ����$ ���-�

�#�� $ �2����!� �!���� . ���� �� �!���,��  �� ��" �� �!���� ���� �$ � !��� ��� � '���������"�� ��� �"�
�" �!$%�� �� ��! �����"�� � ��� !� �% ��� . /!��� ��$ ����� �!������ �!�� 5 ����2��� ��� �!�� ���!� ����!������ �"�#���� B �" � �" �

p
�*���� ��"#��� %��� �,��"���� ��$ " �����$ ��� .6!������!�� "� ����

e = (e1, . . . , en)
#����� 5 � '�������

t
�� ������!�� ��� �!����!��

A
��

L��+� ��� ���� �� �����!� ����������  ���� ����#�$ ��� �!"� ���!��� � '����$% �� ��� �*���� ����#�� 5
� '�������

t
�� � '����$ % �� ��� �*���� �!�� �� ��,��� ��� �" ��� 5 � '�������

t
.3�� ��" ��� �*���� ��$ ������ ��", ������� �!�� #������ �!�� �� ���� ����������� 5

A\L
. 3� �!$%��

�� ������� �!�� #������ ���"�� ��
e

5 � '�������
t

��� �!�� B
min{p−|L|,|A|−|L|}

∑

k=0

Ck
|A|−|L|

7� ������ �!$ ��� ��� �*���� ����#�� �� �� �� ���� �!�� �� ��,��� ��� �" ���  !� ���)2�� ��� �!�� �� �!�
�� �!$ �!���$ ��� ��$ �!�� � ��� �*���� . 7� ������� �� �!$ ��� �� �!$ %�� �� ��!�����"�� � ���!� �% ���  !� ���)2�� ��� �!�� ���!� ��� �!���� ����� �"�� 5 � '�,��"��- .

������!�� $ � �������� �� �(��)$ � �� �*���� &"� �!" � "�����!�� � !"� ��"� ��� ��� �!�� �� ��!%�%�����&"� �!" � ��+� ���!�� . 3�� +2"��� :; .@ �� :; .@ ���������� ��� � �����%"��!�� �� ��!%�%����� �" ��$ � �
�� ��� !��� &"� � '!� !%����� �#�� �� �!� &"� �!" � #��!�� �� ��+� �� .

�� �!������ &"� ��� �!"�% �� �!�����!����� �", ��������� � '"�� $ %$ � �*��� � '!�� ��� �� $ %$ ��!� ! �!2�� . 6���� �!"#� ��� �!� �� �!����)�� �!�� ��� &"� ��� �*���� �!�� ����� �������� >�" ������!%�%������ A B ��� ���������!�� �"�� �" �����2� �" ��! �����"� �!�� �!�� ������������ . 6���� ����������" ������� ������ ������ �" ��� �"� ��� �!"�%�� .0�� �,�$ � ��  �� ��!%�%����� &"� �� ���$ �)�� �������� ��
τ2

�!�� ���$ ���� �#��� � '�������
40

���
�" ��� . '��������!�� �� �!����� . 1 � '�������

t = 0
 ��� ��!�� �*���� �!�� ����#��� . 1 � '�������

t = 25
 

� '�������� ��
τ1

����#� �� � ��� �!�� �!�� �#!�� ��� �,��"��� . 7����
t = 0

��
t = 25

 �� �*���
τ2

� '� �"
������� &" '�" � �" � :? -!�� �" ��!�����"� . '� �"� ����� �!�� :? ���)� 5 ��������  �� � ��� �� � �"� �!����� �� ���$ ���� �#��� � '�������

t = 25 + 15 = 40
.3� � �����%"��!� �� ��!%�%����� �� �� ���$ �)�� �������� ��

τ3
��� ���!�� � �" � �"��������� �"��4&" '� ��� ��� � ���!����"�  �,� ��&"!�� �� ����!$ )�� . 7����

t = 0
��

t = 45
 ��� �*����

τ1
��

τ2
"��������=� ���)� �" ��! �����"� . 0!"� &" '� ���� ���� ������ ��"� ��������  �� �*���

τ3
�� ��"� �!�� �������&"� ? -!�� �� ��! �����"� J " �&" '5 � '�������

t = 45
. 7 ��� �� ��"� �!�� ��� %��� ���$ ���� �#��� � '�������

t = 50
. 6� �!����� �!�+�$ � �� ������ ���!���
 �� �� �!"�%� �� �� ���$ �)�� �������� ��

τ3
. � '�"�������  �� ������ �2�"���
 �� � �"� �!����� !���� &" '5 ��� ��&"����� �!� 4#������ B ����� ���� �*����$ ��&"��!�� ��"� �������� %��� &" '� ���� �� �!���� ��� ���!�� �� ��,��� ��2���#� . 1 � '�������
t = 0

 ��
��,��� ��

τ1
��� :?  �� �� ��� ��

τ3
��� �" ��� :? . &"�� !�!�� &"�

τ3
��� �,��"��� �)� �� ��%"� >

t = 0
A . 1

� '�������
t = 10

 �� ��,��� ��
τ1

�� ��
τ2

��� ? . 7� �,��"���� ���"���
τ1

� ������ ? "� ���� �� ��$ � �  !�
����#� 5 � '�������

t = 15
!� �� ��,��� ��

τ1
��� ���!�� ? �� �� ��� ��

τ2
��� � . �� ��"� ��!�� �,��"���

τ2� ������ ? "� ���� �� ��$ � � . 1 � '�������
t = 21

 � '"�� �� ��� ��", �*���� � !% ��2��!���$ ��� "�� ��,���
��2���#� B ��� !��!������$ ���� �!����� !������ �!�� ��!�� � ��$ ���� ��� �� ���"���!� 5 �� ��,��� . 3����$ � � �� ���!��� �!�����!������ � ������ ������ ��!�� �" ���  �� �� �!"�"�� ���� �� �!"�% � ��� ��$ � �
�� ���!��� ��

τ3
�������� . 3� ������ �2�"���
 �� ����� �!"�% � �������� ��" ��$ ��� ����� &" '�"�"�����)�� �� ���$ �� �� �������� �"8 ��$ $ ��� ��� &"� ��� ��$ � � �� ��� !��� �$ )���� !% ��2��!���$ ���5 "� �������$ ��� � '�������� .6���� ���� � ���!����"���� � �"#��� �" ��� ���������� ���"�� ���$ ��� . 0 ���!�� � '�,�$ � �� � '"�� �*���

τk
�!"#��� !" �!� %��� ����#� 5 � '�������

t
�� -!����!� �� �� ��&"���� � '�,��"��!� �!�������� .

&"�� !�!�� &" '5 � '�������
t
� '�"���� �*���� � '����#��� �� &" '� ���� ��&"�)���� �!����$ ��� � '���)� �"
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�
 �� � ��� �	� �	 ���	�� ��� 	 � ����	������ :�j
��! �����"� � ������ "� ����� �� ��$ � �

∆
� !"� &"� ��"�� ��������� �!���� ���� ������ . 0!"� "��

��&"���� � '�,��"��!� !�
τk

��� ����#� 5 � '�������
t
 �!� �������� ��� � �C���� ��

∆
"� ���� �� ��$ � ��� ����#� �!�� �������$ ��� ���)�

t + ∆
. 0!"� "�� ��&"���� � '�,��"��!� !�

τk
��� ������#� ��

t
 �!��������� ��� �!�� �" � �" � ���� ��

t
. 6���� ���"���!� -� �� �!�� ���������� "�� � ���!����"��� ���� ���!"�% � �" ��$ � � �� ��� !��� ��

τk
.6�� � �C ������� �!"�% �� $ !������ &"� ����� �!� �� ��!%�%����� ���$ �� �� -� ��� ����!���� �������!$ )��� ��!���� �" �( ��)$ � �� �*���� �!������� �� &"� �!�� �" � �", ���������!�� �#�� � '�,��"��-��$ � �4��� � ��% �� . 6�",4�� �� �!�� ��� � ������$ ��� #���% ��� 5 ������ �� �� �����+����!� ��$ � !�� ���

��� �*���� . 6���� �!� ���$ �� �!�� � '���!���� "� � ��2�! ���� ��2� �+ ����- �� � '!��!����9�%����� �� ��
�( ��)$ � �� �*���� .
�� 
� �� �� F�� F H ��F� H � �	 F� � � � GF��D� �	

3�� � ! ��� �&"�� � '!��!������$ ��� ��$ � �4��� � �!�� 2�������$ ��� �!����#���#�� . 3� ����� ���!$ ��� �� ����� ��!������ � ��$ �� � '!%��� �� ��� �!"�% �� �� ��$ � � �� ��� !��� � �" � ��!���� ��
�� ������� . 3�� �,��"��-� ��$ � �4��� � �!�������� ��� �!�� �!�� �!����#���-� �� ����$ ���-� �#�� $ �2��4� �!� �!���� . 0!"� ����2��� ����� �!���� ����  �� �!� �� ��!%�%����� �!�� ��� �� �!$ ��� ��� �!�� �� �!� ��
�� ��!������ �"�#���� B �� �!$%�� �� �*���� �,��"���� 5 "� ������� �!��� ��� �2�� �" $ �� �$ "$ �"
�!$%�� �� ��! �����"�� �� �" �!$ %�� �� �*���� ����#�� .6!������!�� "� ����

e = (e1, . . . , en)
#����� 5 � '�������

t
�� ������!�� ��� �!����!��

A
��

L��+� ��� �������$ $ ���  ��������#�$ ��� � !"� ���!��� � '����$% �� ��� �*���� ����#�� 5 � '�������
t

��
� '����$ % �� ��� �*���� �!�� �� ��,��� ��� �" ��� 5 � '�������

t
.3�� ��" ��� �*���� ��$ ������ ��", ������� �!�� #������ �!�� �� ���� ����������� 5

A\L
. 3� �!$%��

�� ������� �!�� #������ ������� ��
e

5 � '�������
t

��� �!�� B
C

min{p−|L|,|A|−|L|}
|A|−|L|

������!�� $ � �������� �� �( ��)$ � &"� �!" � "�����!�� �!"� ��"� ��� ��� �!�� �� ��!%�%����� &"� �!" �
��+� ���!�� . 3� +2"�� :; .j �������� ��� � �����%"��!�� �� ��!%�%����� �" ��$ � � �� ��� !��� &"� � '!�!%����� �#�� �� �!� &"� �!" � #��!�� �� ��+� �� . 7 ���� �!�� �����% ��$ ��� ������&"�� 5 �� ���� !%���"��
�#�� �� �!� � !"� ��� �,��"��-� �!�4�!����#���-� . ��$ ��&"!�� �!"� �� $ %$ � &"� �&"�� � �C ������� . 0���,�$ � ��  �!"��� ��� ��������� �� �� �*���

τ3
�!�� !% ��2��!���$ ��� ���$ ����� �#��� ��"� �������� .6��� ��2� �+� &" '5 �� +� �� ��"� �,��"��!�  �� � '( � �"�"�� �"��� �������� ����#�  �� �"��&"� � '�,��"��-��� �!����#���-  � ���� �!�� !% ��2��!���$ ��� �,��"���� . �� ��$ ��&"� �" ��� �� $ %$ � ����!$ )�� �#��

�� ��",�)$ � �������� �� �� �*���
τ1

.3� +2"�� :; .:� �������� �� ��!%�%����� &"� � '�������� �� ���&"� �������� �!�� ��������� . 0!"����&"� ��������  ����� ��!%�%����� #���� �����
0, 2

��
0, 3

. 1 ����  ����� �!� �� ��!%�%����� ���$ ��
� '!%��� �� "� ��� ��� �"� � '!��!����9�%����� � '"�� �������� �!�� � '!���� �� 2�����"� ������ � �" �
��2� �+ ����- &"� �� �"� �� � '��� ��� !%���" �#�� �� �!� �!����� !����� �", �,��"��-� �!�4�!����#���-� .

�*���
τ1

�*���
τ2

�*���
τ3

��� � :; .� I 0�!%�%����� �� ���� ��� ��� ���������
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�
 ��� ��� �	� �	 � �� ����	�� ��� 	 � ����	������ :@:
�� 
� �� �� F�� F � � �
H ��F� H � �	 F� �� � GF��D � �	

3�� �,��"��-� �!�4����$ ���-� �� � ��$ ������ ��� &" '"�� �������� �� �!"�� � '�,��"��!� �!�� ��4����!$ �"� . � ��� �� �(�� �� �!���,��  ��� !��!������$ ���� �!�� 2�������$ ��� �!����#���-�  �!" �
� '��"� �!�� �!�� ��� �� ��� �!�4����$ ���- �� �!�4�!����#���- .6!������!�� "� ����

e = (e1, . . . , en)
#����� 5 � '�������

t
�� ��!��!�� ��� ��", �!����!�� �"�4#����� B

I A
B � '����$% �� ��� �*���� ����#�� 5 � '�������

t
 

I E
B � '����$% �� ��� �*���� &"� �!�� �� �!"�� � '�,��"��!�

E = {k ∈ A|ek > Ck.b(t − r)/Tkc}

3!��&"�
A = E

 �!"��� ��� ��������� ����#�� �!�� �� �!"�� � '�,��"��!�  �� ��" �� ��������!� � !���% ���!������ 5 �!����"�� 5 �,��"��� ��� $ %$ �� �*���� . � � $ %$ �  �!��&"�
|E| = p

 �!" � ��� ��! �����"��
�!�� ! ��"���  !� �� � �"� �!�� &"� �!����"�� 5 �,��"��� ��� $ %$ �� �*���� . � ��� ��� ��", ���"���!��  
�� ��" �� ������� �!� � !���% �� ��� B

P(It+1 = e′|It = e) = 1 ⇔

{

∀k ∈ E, e′k = ek + 1
∀k ∈ {1, . . . , n} \ E, e′k = ek

3!��&"�
A 6= E

��
|E| < p

 �� �, ���� ��� ��������� ��%��� 5 %��� �,��"���� � ���� &"� ��� ��! ���4
��"�� � ��� !� �% ��� . 3�� ��������!�� � !���% ��� �!�����!����� �", �!$%��� ��!�� ���� !���� � � ��$ ��� 5
min{p − |E|, |A| − |E|}

� ��$ ���� ��!����� ���� � '����$% ��
A \ E

B ��� �*���� �,��"���� ����� �� ����
����������� 5

E
!" 5 �� �!$%��� ��!� ��!���� . 3� �!$ %�� �� ��� ��������!�� ��� �!�� B

C
min{p−|E|,|A|−|E|}
|A|−|E|7� �"��! ���� &" '� ���� �!���� �&"���!%�% ���  !� �� ���"�� ��� ��!%�%������ �� ������� �!� . 0!"� ���

��+� ��  �!" � � '�#!�� ��� ���" �!$ ��� ��� �*���� �!�� �� ��,��� ��� �" ��� . �� � �"� ���"�� ���$ ���
�� -� ���  $ � �� ��� � �C������� !%���"�� ��� ������ �� �� �!$%��� ��!� 5 "� $ %$ � ������� �� ��",
���"���!�� ������������� B �� �,���� "�� �*��� �� ��,��� �" ��� �� "�� �*��� �!�� � '�,��"��!� � '���)#� .3� �!$ %��� ��!� �� ��� ��", �#)��$ ���� ����� ����  �!" � �� � '�#!�� ��� ����� �� �!$ ��� .

������!�� $ � �������� �� �(��)$ � �� �*���� &"� �!" � "�����!�� � !"� ��"� ��� ��� �!�� �� ��!%�%�����&"� �!" � ��+� ���!�� . 3� +2"�� :; .:: �������� ��� � �����%"��!�� �� ��!%�%����� �" ��$ � � �� ��� !���&"� � '!� !%����� �#�� �� �!� &"� �!" � #��!�� �� ��+� �� . 3�� �!"�%�� !%���"�� �� �!�� � �" � �!�����"���&"� �� ���� . 7C����#�$ ���  ��� ��&"����� ����� �!�4����$ ���#��  ��� �*���� �� �!"�� � '�,��"��!� ��� �"#��� ��� � ��$"��� �#�� �� ���� &"� ��������� . 1 ���� ���&"� � �� �!����� !�� �", ��!�, �� � '!����
� '�,��"��!� ��� �*���� ����#�� �������� �!��&" '"� ��!�����"� ��#���� !���- . � '�"��� ����  �� �!$%��
�� ��&"����� ������ �� �!$ ��� ����� %��"�!"� � �" � -� �% �� &"� ���� "� �!���,�� ����$ ���-  � '!����
�� 2�����"� ��� ��!%�%������ !%���"�� ��� � �" � �� ��!���% �� >�"�!"� ��

10−1A . 7 ���� -!"�� ������ �!��"� ��� �����"� ����������� .

�*���
τ1

�*���
τ2

�*���
τ3

��� � :; .:� I 0�!%�%����� �� ���� ��� ��� ���������
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�
 �� � ��� �� ����� :@<
3� +2"�� :; .:; ��� �&"� �� ��!%�%����� � !"� &" '"�� �������� �������� �!� �������� . 3 '!���� ��2�����"� ��� ��!%�%������ !%���"�� >

10−1A ���� ��� �� -!�$ ���!�� ��2� �+ ����#�� . 7� $ !(����  ���&"��������� �������� �!� �������� �#�� "�� ��!%�%����� � '��#��!�
0, 2

. 6� ���" ���� ��� ����������� ��
�� � ! ����&"� � '!��!������$ ��� ��!���� ���� &"� � '�,��"��- ��� �!�4����$ ���- �� �!����#���- . 6� �(� �
� '��� �����"� -!"�� �� �!�� "�� �� -!�$ ���!� ������������ �"� ��� ������� �����&"�� � '"� �( ��)$ � ���*���� .7� -!����!� �� � '�,��"��- �!������  �� �!$ %�� �� ��������!�� � !���% ��� #���� %��"�!"� . / !" �
�#!�� �#��"� �� �!$%�� $ �,�$"$ � '����� �������� 5 "� $ %$ � ������� �� -!����!� �� �� �!� ����!%�%����� "������� . 3� ��% ���" �"�#��� ���"$ � �! � ���" ����� B

3!� �� ��!%�%����� /!$%�� $ �,�$ "$ � '����� ���������&"���!%�% �� :j<��*���� ������������� :j<�����$ ���- �� �!�4�!����#���- @=�����$ ���- �� �!����#���- :��
�!�4����$ ���- �� �!����#���- ?

0!"� �� �( ��)$ � �� �*����  �� �!$ � ��, ��� �������� �" ���� ��� <@? :. 3�� �!�� � '����2���� ��� ����!���� ����� �"�� 5 � '�,��"��- � '!C���� �"�"�� ���"���!� �" �!$ %�� � '����� �����2��% ��� . 3� #���"�:j<� �!����� !�� 5 �� �!$ � ��, ��� ��� ���  ��!�� &"� <@? : ��� "� $ �J !���� . 3� � �C ������ ����� ��� ��",���" ���� �� 2� �� -!"�� � ��� �� ���"���!� 5 �� ��,��� ��� ���� !�� 5 �� ���"���!� �", ���$ �)��� ��������� .0�� �!����  �)� &"� � '!� ����� �� �!$ ��� ��� �� ���+ ����� �� � '�,��"��-  �� �!$ %�� $ �,�$ "$ � '�����
�������� � �"� ����!���� -!���$ ��� . 0!"� ��� �,��"��-� �!�4����$ ���-�  �� 2� �� ��� $ %$ � �!�������% ���� ���$ �� � '��#���2�� � '"��������!� �� �!��� $ ���!�� �#�� ��� �( ��)$ �� �� �*���� �!$ � ��,�� .
�� 
� �� � � E� G�� �

/ !" � �#!�� ��#� �!��� "�� $ ���!�� � ��$ ������ � '!%��� �� �� � �����%"��!� �� ��!%�%����� �"��$ � � �� ��� !��� �� ���&"� �������� . 0!"� ���&"� �(� � � '�,��"��-  �!" � �#!�� � ��% !�� "�� �!� ����!%�%����� ������ �!$ ��� �� ��"�� �� ���+ ����� . 1 ����  �!"� "� $ %$ � �( ��)$ � �� �*����  !� !%�����
��� �� -!�$ ���!�� �"� �!� �!$ �!���$ ��� $ !(�� �!"� ���&"� �(� � � '�,��"��- . 6�� �� -!�$ ���!�� �!��������������� �� �� � ! ��� �&"� � '!��!������$ ��� "������� . 7� ������" ����  � ���� � �"#��� ���#�� 5��!���� "�� �! ����&"� ������� 5 �� �( ��)$ � �� �*����  #!��� $ %$ � 5 ������� "�� �! ����&"� �!����
�" �( ��)$ � �� �*���� . ���� �� ��� !� "� �( ��)$ � �� ��#) �� %��� � �8 ����$ ��� !��!����9�% ��  ���
� �����%"��!�� �" ��$ � � �� ��� !��� � ��$ ������ � '������+�� ��� �!��� !� � '!��!������$ ��� ��� � �8 ���� .
�� ��"� ��!�� �" ��� ��� "������� � !"� �����#�� �� �"� �� �� ���+����!� $ %$ � �" �( ��)$ � �� �*���� . 7 ����� �"#��� �!�� �" ��� ���#�� 5 $ !� �+ �� "�� �� ���+����!� ��$ �!�� ��� �+� �� �� ������ � �" � -�����$ ���!��!����9�% �� .3�� �!"�%�� �" ��$ � � �� ���!��� &"� �!" � �#!�� !%���"�� �,����$ ������$ ��� ��#) ���� ��� ��4-!�$ ���!�� &"� �� �!�� ��� � ������$ ��� ������+�% ��� 5 ������ �� �� ��" �� �� ���+ ����!� ��$ �!�� ��� .

�*���
τ1

�*���
τ2

�*���
τ3

��� � :; .:; I 0�!%�%����� �� ���� ��� ��� ���������
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7 ���� ���$ ������ ��!�� � '���% ��� "� � ��2�!���� ��2� �+ ����- �� ������������- �� � '�,��"��- ��% �� . �!"��4-! ��  ��"� ����( ��  �� �!�� ��"� ������������!�  ����������� ���!�� "� �C!�� �� ��������� . 3� $ ��� ��� ���� � '"�� $ ���!�� � '������������!� �"�!$ ������  !" �" $ !��� ��������  ��$ % �� � !���% �� . � � � �" �  ����� �!��� �� &"������ � '�� -!�$ ���!�� -!"�� ��� ��� �!��� $ ���!�� >�)� &"� �� �( ��)$ � �� �*������� �!���&"���A  "� �� � ������ ���$ ��� ��$ % �� ������� ��� . 1 ���$ �  !� ��"� ���� �!"�� !%��� �� "�
� ��2�!���� � ��% !�� �� ������� �", �!������"�� ��� �(��)$ �� ��$ � �4��� � .0!"� ��� �,��"��-� ����$ ���-�  ��� � �����%"��!�� �� ��$ � � �� ���!��� �� ���������� �!" � �� -!�$ �
�� -!����!� �!����"� ��� $ !����", . 0�� �!����  �!"� ��", �!� 4����$ ���-�  � ���� �!�� �!" � �� -!�$ �
�� ���� �"������-� . 6���"� �� ��� ���� �!����� !����� 5 "� ��!�, � '!��!������$ ��� � �C�����  !�
�!�� � !"#!�� ��� ���! ���� �#�� ��� �!�+2"����!�� �� ���!���� . 3�"� ������������!� ��$ % �� �!�� ��!4$ ����" �� . � '�"��� ����  !� ��"� ���� �!"�� ���% ��� "�� �!����� !������ ����� ��� ���� ��� �!"�% ��!%���"�� ���� �� �!���,�� �!�4����$ ���- �#�� ��� $ !����", �!����" � ��� �!"�% �� !%���"�� ���� ���!���,�� ����$ ���- .

� �����$ ���  �� �!$ � ��, ��� �������� "������� ���� �� ��� ��� �,��"��-� �!�4����$ ���-� ��� % ��"�!"�� �" � -� �% �� &" '�#�� ��� �,��"��-� ����$ ���-� . 7 ��� ���$ �� � '��#���2�� � '��� ������!� �� �!��� $ ���!��5 ��� �( ��)$ �� �� �*���� �� �� ���� ���" ����� ��� �)� &"� � '�,��"��- ��% �� ��� �!� 4����$ ���- .3�� ���#�", �,�! ��� ���� �� �������� !�� -� �� � '!%J �� � '"� ������� �!"$ �� 5 "�� ��#"� �������4� �!���� �� ;��@ .
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� O�	N T 1��"� ���$ ���  �� $ �J !���� ��� �( ��)$ �� ��$ � �4��� � �!�� !��!������� 5 � '� ��� � '"�� � !4
����&"� � '!��!������$ ��� 5 ���!����� . � �� ���������#�� �, ������  ��� �,�$ � �� ����� ���� $ ���!����!��4 ��2�� %����� �"� ��� $ !�) ��� 5 ����� � ��$ ������ �� ��!"#�� ��� ��&"����� #������  $ � �� ��"�$ ��&"� �� 
�, �%����� ��� �!"#��� "� -���� 5 ��"� $ ��� �� �,� �!�����!� . � '�"���� �! �"��!�� � �" � ���4
������ �!�������� 5 �����$ ���� "�� �!�+2"����!� �� ���!���� ������� �" �( ��)$ � 5 !��!������� .6���� ���� �)�� ����!��� � ��$ �� � '"������� �!"�� �� �"������� ����(��&"� ������� ��� �!"� �� �!����4#��� �� 
�, �% ����� �� � '!��!������$ ��� ��4 ��2�� . 7� �"�#��� ����� ����!���  �!" � �#!�� � ��% !��� �" ���"�� ��2!����$ �� ���$ ������ �� -!"�� �� ��� �!�+2"����!�� �� ���!���� #������ �!"� !��!����4��� "� �( ��)$ � �� �*���� �,��"���� �� �!���,�� $ " �����! �����"� �� ����$ ���- �#�� $ �2����!� �!���� .6�� ���" ����� ��! �!�2��� �" ��� $" �����! �����"� � '����!��� �"�#�� ��� �j � �!"� ��� !��!������$ ����$ !�!��! �����"�� ��!�"��� ��� ��� � ! ����&"�� 5 ���!����� +,�� . /!" � �#!�� �" ��� �����" �� �� �����
��� �!�+2"����!�� �� ���!���� ����������� 5 �� ���� �� �� � ����� 0� ' . / !" � �#!�� ��"� �� ��� ��!�������
�� ����� � ����� �� � ! ��� �&"�� � '!��!������$ ��� . / !" � �#!�� $ !���� &" '� ��� ��� !���$ ��� �!"� !�4
�!������� ��� �(��)$ �� �� �*���� �� $ !�!��! �����"� . 7 ��� ��$% �� �" ��� %��� "�� %!��� ���� ������ !"� B

I %��� �� � �" � ������ � ����� !���$ ��� �� $ !�!��! �����"�  
I %��� �� ������ �� � �" � �"������� ����������% �� 5 � '� ��� � '"� �!$%�� +� � �� � �#��", �� ���!���� .3� ���$ �)�� �� ��� ��", �!�J ���"��� � '���"�� �"� �� -� �� &"� �� ������ ��� �! ����&"�� 5 ���!����� +,��

� '��� ��� !���$ ��� �� $ !�!��!�����"�  �� �� ���!��� ��� !�� �"� ��� �!������ �"�#���� B
I �� ��&"���� ��!�"��� ��� 7 �� � '��� ��� �!"J !"�� ����������% �� 5 � '� ��� � '"� �!$%�� +� � ��

� �#��", �� ���!����  
I �� � ! ����&"� 7 �� ���������� 5 0�' �� 5 � 63 .

3� � ����� 0� ' ��$% �� %��� ������� �", �,��"��-� ��$ � �4��� � ���"� �� �"��&"� �� � �"���� � '����� �",��� !���� �"� "� �!$ %�� +� � �� � �#��", �� ���!���� �����%"�� �����&"�$ ��� �", �*���� >!" �",���������A . 3�� �,����$ ������!�� &"� �!" � �#!�� $ ����� !�� $ !���� &"� �� ������ ��� �! ����&"��
� '!��!������$ ��� 5 ���!����� +,�� �� �� ��� ��� � ! ����&"�� 5 ���!����� +,�� ��� �������� !C���� "���"������� � '!��!������$ ��� ��������� ��� �,�$ � �� �� ��� �� 7 �� .

3�� ��!������� !C����� ��� 0�
 �� 0� ' �!" � !�� ������� 5 ���������� ��� $ ���!��� ���$ ������
� '!%��� �� ��� �!�+2"����!�� �� ���!���� #������ . /!" � �#!�� ��!�� �"�#� � �" ���"�� ����! ���� . �!"�
� '�%!��  �!" � �#!�� ��!�! �� "� ��2!����$ � �� ����" � ��� �!�+2"����!�� �� ���!���� ��2�������"�� ��&"���� &"� ��!�&"� . 6�� ��2!����$ � � �"� %��� ����$ ��� 5 "�� ������� ��� ����� ��� �,��"��-� 5���!����� �� ��� $ ���!��� �,����� !" ����! ����� �!����"����� ��� ��&"����� � '�,��"��!� #������ . '�-������� � '����2����!� �� ��� ��&"����� ���� ��� �,��"��-� ��$ � �4��� � . 7��"���  �!" � �#!�� ��!� !�� "�
��2!����$ � ����" ���� �!"��� ��� �!�+2"����!�� �� ���!���� +,� . 6�� ��2!����$ � � ��$ �� �" �!������"�
� '����2��� ����� ���� �!���� ����� �"� ��� ���!����� ��� �*���� . &!� ��$ � � �� ����" � $ !(�� � !"� ���
�( ��)$ �� �!������� "�� � ��� ��� �� �*���� ��� �� � '!���� �� �� ���!��� . 0 �" ���"�� !���$ �����!��
�!�� � !���% ���  �� ����4�� ��#�� ���� �"� � ��$ ����� �� ��� ���� ��� �( ��)$ �� �!������� � �" ���"�� � ��� ����
�� �*���� . /!" � �#!�� �����" �!� ��2!����$ �� �", �!�+2"����!�� �� ���!���� ����������� 5 0� ' .
�!"��-! ��  �� �!$ � ��, ��� �� �� �"� �����$ ����� �!"��� ��� �!�+2"����!�� #������ ��#���� �$ �!������ .
� �����$ ���  �!" � �#!�� ��!� !�� "�� �(%������!� ����� 0�
 �� 0� ' ���$ ������ � '�����%"�� ������!����� � �C ������� 5 ��", ��������� � '"�� $ %$ � �*��� ��" ��$ ��� �!��&"� �� �� ��� ������� ��� . / !" ��� ������!�� "� 2� �� �$ � !����� �" � �#��" �" ��$ � � �� ����" � .
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0�����) ��$ ��� 5 ��� ���#�",  �!" � �#!�� ��� ��&"� ����� ���� $ ���!��� � '����!,�$ ���!� �" ��!4% �)$ � �� � '!��!������$ ��� $ " �����! �����"� � '"� �( ��)$ � �� �*���� ����� ��� ��� �� ����!�� �� ���4������� . 6� �(�� � '����! ��� � ��$ �� 5 � '� ��� � '��"�����&"�� � '!%��� �� �� ��$ � � � ! �(�!$ ��� "�� �!4
�"��!� ����! ���� � '"� ��!% �)$ � �!��� . 3�"� �!$ � ��, ��� ��� �!�� $ �����"�� &"� �� ��� ��� $ ���!���%����� �"� ��� $ !�) ��� 5 ����� &"� -!"�� ������ ��� �! �"��!�� �,����� . 1 ������ ��� ��2!����$ �� 2���4��&"�� ��#� �!�� �� ��� �?;  ;<�  �!" � �� �#!�� � ��% !�� "� �!"#��" �$ � ��!���� �� &"����� ��� �! �"��!��-!"�� ��� ��� �?;� �!"� �� "�������� "� ��$ � � �� ����" � �� -����"� 5 �� �"� �� �;<� . /!" � �#!�� ���"�����!� !�� "� ��2!����$ � %��� �"� �� $ ���!�� ��% !"� !%������ ��� �! �"��!�� �� $ �����"�� &"����� &"���", ��!� !��� ��� �;<  ?;� �� "�������� "� ��$ � � �� ����" � 2�������$ ��� �� -����"� . 3� &"����� ���
�! �"��!�� !%���"�� ��� �� $ ���!�� ��% !"� ��� 2�������$ ��� ��)� %!��� >��! ��� �� j�� �� � '!���$ �����!��&"�A  ����� $ ���!�� �!" � ������ �!�� �����-� ������ .

/! � ���������� !�� �" ��� �!��� �"� � '��"�� ��� ��!������� ���!��&"�� �� � '!��!������$ ��� ���
�( ��)$ �� ��$ � �4��� � �� �!���,�� $" �����!�����"� . / !" � �#!�� ���% �� "� �����#���� �� -� ���%����� �!��
�� #���� ��� ��� ��� ��" ��$ ��� �� ��", �(�!��)��� � !����� �"� �� ��$ � � �� ��� !��� ��� ���������>#!�� �����!� = .;A B

I �� ��$ � � �� ��� !��� ��� ��������� �� ��"� ��� � �$ ��"��  
I �� ��$ � � �� ��� !��� ��� ��������� ��!�� ��" ��$ ��� ��� �C�� �!$ ��! .

/ !" � �#!�� $ !���� &"� ��� ��&"����� $ " �����! �����"�� ��!�"���� ��� ��� � ! ��� �&"�� �� 0� ' ���!���,�� ����$ ���- �#�� $ �2����!� �!���� �����-!�� ��� ��", �(�!��)��� . 6� ���" ���� ��2 �!% � ����,�$ � �� ��� ��&"����� � '�,��"��!� ��!�"���� ��� ��� � ! ��� �&"�� ��  �� �� 7 �� . 0!"� ��� ��&"�����
� '�,��"��!� �!����#���#�� �� �����-� ����� ��� ��", �(� !��)��� �!����� ��4����" �  �!" � �#!�� �" ���$ !���� &"� ��� ��$ � � �� ��� !��� ��� ��������� �� ���%������� �!"J !"�� �)� &"� �� �(��)$ � �� �*����
� '��� ��� �"�����2� . 6� ���" ���� � ��$ �� � '!%��� �� "� �����#���� � '��"�� #���% �� � !"� ��� ��&"�����
� '�,��"��!� �!�4#������  2�*�� 5 �"� !� � �"� ��!�� ���% ��� "� � ��2�! ���� �!$ � ��� �"� ��� ��!% �)$ ��
� '!��!������$ ��� ��!���� 5 "�� ��&"���� � '�,��"��!� . �!"��-! ��  �� ���" ���� ��������� �� �!�������"� $ �J !���� �" ��$ � � �� ��� !��� �� �!"��� ��� ��������� . /!" � �#!�� ��" ��$ ��� $ !���� &" '�� ���,���� �!��&"� �� �( ��)$ � �� �*���� � '��� ��� �"�����2� � �!"��-! ��  �� #���"�

max{T1, . . . , Tn}
�!" ������� %��� "�� %!��� ���� ����� .

1+� � '!%��� �� "� �����#���� �� -� ���%����� � �" � ������ &"� �� �"� -!"�� � ��� �!� ���$ ���� ���#�",  
�!" � �#!�� ��������� �!��� �!���,�� � '��"�� �� �!" � �!�������� �", � ! ��� �&"�� 5 ���!����� +,�� ./ !" � �#!�� ��!�� ���% �� "�� -!�$" �� ��� �&"��� �� �"��� �,���� �� $ !���� �� ����2� � '"� �( ��)$ �
�� �*���� . 3� �!$ � ��, ��� �� ����� -!�$" �� ����� �,� !������ ���  �!" � �� �#!�� ��!�� ��!� !�� � �" ���"��$ �J !����!�� &"� �!" � �#!�� ���"��� �!$ ������ �#�� �� ��� -!"�� �� ��� �;= � . /! � $ �J !����� �� �!����#� ��� %��� � �" � ������ . / !" � �#!�� �" ��� �#��"� �,����$ ������$ ��� �� �!$ � ��,��� �" ����" � �� ��
�"��� �,���� . 7� $ !(����  �� �"�4�� �!" � ������ %��� �� �!$ � ��, ��� � ! �(�!$ ���� . 7,����� � !"� ���
�( ��)$ �� �!������� �" $ !��� "�� ����� ��� �� �*����  �� ����" � �!" � ������ �!�� �������% �� . 1��)�
�#!�� ��"� �� ��� ��&"����� ��!�"���� ��� ��� � ! ��� �&"�� 5 ���!����� +,��  �!" � �#!�� �����" �!���
����!��� 5 �� � ����� 0� ' . 7� ��� ��&"��� "�� �����-!�$ ���!� �" �(��)$ � �� �*���� ��"� ��  !� � �"�
��!�� ��� ��&"�� �", �!�+2"����!�� 0� ' ��� ���" ����� &"� �!" � �#!�� !%���" � � !"� ��� � ! ��� �&"�� 5���!����� +,�� . �!"��-!��  �� �"��� �� $ !���� �� ����2� �" �( ��)$ � �����-!�$ � ��� "� $ �J !����
�� �� ��� �" �(��)$ � �� ����� . / !� ���" ����� -!"�� ������ �!�� "�� $ �J !����!� �� �� �"��� �� $ !����
�� ����2� ��� ��&"����� ��!�"���� ��� ��� �! ����&"�� �� 0� ' . 7� ��"� ���� � �" � �������$ ��� �����!������� �� �� �����-!�$ ���!� &"� � '!� ��� ��&"�  !� �!�� � !"#!�� �����$ ���� �� �"��� �,���� ��
��"� $ !���� �� ����2� .3!�� �� � '� ��% !����!� �� �!��� $ ���!�� � ��$ ������ �� � ��2�! ���&"�� "� �( ��)$ � ��$ � �4��� �  
�!" � �#!�� �" % ��!�� �� �����$ ���� "� �����#���� ���$ ������ � '��"� ��� �!� �!$ � !���$ ��� �!��&"�
� '!� �!����)�� ��$" �����$ ��� �!"��� ��� ��&"����� � '�,��"��!� . / !" � �#!�� $ !���� � !"� �� �!���,��$ " �����! �����"� &"� ��� �����#����� �� -� ���%����� ��!���� 5 "�� ��&"���� � '�,��"��!� �� � !"#� ������� %��� "������� �!"� ��+� �� � '�����#���� � '��"�� ��������� . /!" � �#!�� ��!�� � ��% !�� "�� �!"#� ���
����!��� �� �� ��!% �)$ � �� �!��������� �� �(������� ��� ����� �����2��% ��� �" ���" �� �� ��� ���
��&"����� � '�,��"��!� �!��������� . /!" � �#!�� ���% �� &" '"� �����#���� � '��"�� �, ���� �� �!��� "�����)�� � ��$ ������ �� �������� �� ��%"� �" ��2�$ � �(� ��&"� ��� ����� �����2��% ��� . / !" � �#!��



���������� ����	
�� :@@
���"��� �#��"� �,� ���$ ������$ ��� �� �!�2"�"� �� � '�����#���� � '��"�� . /!" � �#!�� �!������ � !"������ ��� �(��)$ �� �� �*���� &" '�� ��� � �" � � ���� &"� � '�����#���� �� -� ���%����� �� ����� ���� ��&"�����
� '�,��"��!� . 0 �" � �������$ ���  �!" � �#!�� �!��� "� �,�$ � �� !� ��� ����� �����2��% ��� �!�� �(���&"��
��!�� &"� �� ��&"���� ��!�"��� ��� 7 �� ��� ���!�� �� ����� �� $ !���� �� ����2� .

0!"� ��"� ��� �� &"����� �� ���#��� !C���� ��� "� �( ��)$ � ��$ � �4��� �  �!" � �#!�� �!�9" "��$ ���!�� -!"�� ������ "� � ��2�! ���� �� �!� �!$ � !���$ ��� �� -!����!� �� � '�,��"��- ��% �� �� ����4� ����$ $ ��� �� �� � ! ��� �&"� � '!��!������$ ��� "������� . 0!"� �� ��  �!" � �#!�� $ !�� ���� ��� !��!�4
�����$ ���� �! ���% ��� ��� ��� $ ������ �����!���� ��!�"���� ��� ��� ������� �� � ���!# . 7��"���  
�!" � �#!�� ����2�� ��� �!���� ����� �"�� �", ���������!�� ����� ��� �*����  ��� �,�$ � �� B �� ����!�� ������������  �,��" ��!� $ "�"� ��� . 0"��  �!" � �#!�� ����2�� �� ���� �"�� �", �� ���+ ����� �� � '�,��"��-��$ � �4��� � ��% ��  ��� �,�$ � �� B ����$ ���#���  �!����#���#���  $ �2����!� �!���� !" ������ ��� . 6����
����! ��� �!" � ���$ �� �� �����$ ���� �� ��!%�%����� &"� ��� �!���� ����� �"�� �", ���������!�� �����
��� �*���� �!���� ���������� ������� &"� ��� �!���� ����� �"�� 5 � '�,��"��- ��% �� �!�� ���� ������ . 3�����" ����� &"� �!" � !%���!�� �!�� ��!�� ������������ �� �!"�� � ! ��� �&"� � '!��!������$ ��� .0!"� �#��"�� ��� $ ������ �����!���� ��2������� ��� �!��� $ !�) ��  �!" � �#!�� � ��% !�� "� ��2!4����$ � �����+&"� . 6� �"�4�� ���$ �� �� ����� ����� �� ����� ���� �!���� ����� �+� �� � �$ ��"�� �� �!$ 4� ��,��� �� ����" � . /!" � �#!�� ����( �� �� �!$ � ��, ��� $ !(���� B ��� ��� �����"� ���$ �� � '����!, �$ ��
�� �"��� �� ����" � "������� ��� �!��� ��2!����$ � � !"� ��� ���� "� �( ��)$ � �� �*���� . 3� �!$ � ��, �������� �,� !������ ���  �� � �"� �� ��#� ��� ��)� "���� . 7� !"���  �!" � �#!�� �!������ �,����$ ������$ ���&"� �� ��$ � � �� ����" � ��� ��)� #����% �� �� -!����!� �" �(� � �� � '�,��"��- ��% �� . 7� ������" ���� �!"� ����,��"��-� �!�4����$ ���-�  ��� ��$ � � �� ����" � !%���" � �,� ���$ ������$ ��� ���$ ������ � '��#���2��
� '"��������!� �� �!��� $ ���!�� �#�� ��� �( ��)$ �� �� �*���� �� �� ���� ���" ����� ��� .7� "�������� ��� ��2!����$ �  �!" � �#!�� �" ����" ��� ��� � �����%"��!�� �� ��!%�%����� �" ��$ � �
�� ��� !��� �� ���&"� �������� . 6���� �� -!�$ ���!� ���$ �� �� �������� "�� ����( �� �� �� &"�����
�� ���#��� !C���� ��� "� �( ��)$ � �� �*���� . 7 ��� � ��$ �� �" ��� � '������+�� ��� �!��� 5 ���&"� � '"�!��!������$ ��� . 3� � ��2�!���� �!����� !����� ��#�� �� � ���� �� �!������"� �" �(��)$ � ��$ � �4��� �5 ������ ��� ��!% �)$ �� �� �!�� �� 2" ���� ���� ��� $ !� �+ ����!�� 5 ���!���� . �!"��-! ��  �!" � �#!��
��" ��$ ��� �!��� &"� �&"�� �,�$ � ��� � '������������!� ��� �!"�%�� �" ��$ � � �� ���!��� ��� ��������� .
��� ��"�� ����!-!�� �� ��� ������� ��� �!"� �,� �!���� ��� ���$ ��� ��� �� -!�$ ���!�� -!"�� ��� ��� �!���$ ���!�� .
����� ��PO��� T 3!�� �� �!��� ��"�� ��� �! ����&"�� 5 ���!����� +,�� �� �� �� ���� 5 ���!����� +,����� ��������  �!" � �#!�� ��!� !�� � �" ���"�� ��2!����$ �� -!"�� ������ ��� �!�+2"����!�� �� ���!����#������ . '�� �� �!�#��� ��� %��� �!�������� �!$ $ � �%!"���  ��� !"#���� �" �!���� ��� "�� #!�� #��� "�
�!"#� � �,� �� ��������� . 3 '��"�� &"� �!" � �#!�� $ ���� !C�� � �" ���"�� ����� ����#�� � !���% ��� . �!"�
� '�%!��  ��� ��2!����$ �� &"� �!" � �#!�� ��!���� � �"#��� %��� !���$ ���� �� � �" ���"�� $ �� �)��� B

I �� ��� ���$ ��� �C���"� 5 ����� ��� �������� �� $ !� �+� ��� ��� �� ����!�� �� ���!���� �� �!"�� ������" �  �� � �"� �!�� %��� �#���  
I �� ��� ���$ ��� �� ���&"� �� ����!� �� ���!���� ��� ����� ������ ��� �"����  !� ��"� �!�� �����4

�� ����� ��"� ��� ���$ ���  
I ��� ����" �� �C���"�� �"� ��� ����"��� ��������#�� ��� �� ����!�� �� ���!���� �!�� �!���",  �� ��$% ��

�!�� ����������� �� ��#� �!�� �� "�� ���"��"�� �� �!����� !���$ ���� .
��� -!�� ��� !���$ �����!�� ���������  !� ��#�� �� �!"#!�� �����$ ���� ��� �!�+2"����!�� �� ���!���� +,�#������ � !"� ��� �(��)$ �� �� �*���� �!������� � �" ���"�� � ��� ���� �� �*���� . / !��� $ ���!�� � !"��� ��
��!�� %��� ��� ��&"�� 5 ��� �( ��)$ �� �� �� ���� ���" ����� ��� . 0!"� ����" ��� ��� �!�+2"����!�� �� ���!����
#������ ����������� 5 0� '  �!" � �#!�� ��!� !�� "�� $ ���!�� �������#� � ��$ ������ �� � �$ ��"�� ���!$ � ��, ��� . 3� $ ������� �� ����� $ ���!�� ������ %��� "� ��J �" �$ � !����� �"��&"� � '!� � !"��� �� ��!��
"������� �� �"������� � '!��!������$ ��� -!"�� �� ��� 0�' � !"� !��!������� ��� �(��)$ �� �!�������� �" ���"�� � ��� ���� �� �*���� .7��"���  �!" � �#!�� �!������� ���� ����� ��"�� &"� ��� �*���� �!�� ����� �������� . 7� ����!�"�4
���� �� �!��!� �� �*��� % �! &"�� ���� �!��� $ ���!��  �� ��$ % �� � !���% �� � '����2��� ��� �!���� ����� ������������ �� � '�,��" ��!� $"�"� ��� . 3� �!$%��� ��!� �� �!��� ����! ��� �#�� ��� ��!�! �! ��� �� 2����!�
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�� ����!"���� ��� ��!�� ��#���2��% �� . 7� ������" ����  !� �!�� �!"#!�� �����$ ���� ��� �!�+2"����!�� �����!���� #������ �� "�������� "� ��!�! �! �� �� 2����!� �� ����!"���� �!���  ��� �,�$ � �� 0 '0 !" 0 60.3� ����� �� �!$ ��� ��� �,��"��-� �!�4����$ ���-� ��$% �� �" ��� ��#���2��% �� �"��&" '�� �"8 � ��!�� ���!�������� &"� ��� �� ����!�� �� ���!���� ��2������� 5 "� ������� �!�� ��2� �+ ����#�� �� �� ��" ��$ ��� ��"� ��!�, � '!��!������$ ��� ��� �C���"� 5 �� $ !$ ���4 �5 4 � .� . "�� �*��� ��� �!"#� ���$ ��� �����%"��5 "� ��! �����"� .1 ����  �� $ ���!�� &"� �!" � �#!�� ���% ��� !"#�� �� �!$%��" ��� � ���� ����#�� �� ��������� . 1���$ �  !� � �"� ������� !%��� �� "� !"��� 2���������� � ��$ ������ � '!��!������� ��� �(��)$ �� ���*���� ��� �� �� "�������� ��� �!�+2"����!�� �� ���!���� +,� B ��� �*����  !" ��� ��������� �� ������� ��� .
7���� �!��� �� �!$ � ��, ��� ���!��&"� ��� ��!% �)$ �� � !��� ��� � '!��!������$ ��� ��$ � �4��� �  � '"��4

������!� ��� $ ���!��� � '����!,�$ ���!� ��$ % �� ����!����� . 0!"� � '!��!������$ ��� � '"� �( ��)$ � ���*���� ����� ��� ��� �� ����!�� �� ����������  � '��2!����$ � %��� �"� �� $ ���!�� ��% !"� &"� �!" � �#!����!� !�� -!"�� �� ��� �! �"��!�� �� % !��� &"����� . 3 '"��������!� ��� ��! ����" � �� ������!� $ ���!#����
��#�� �� � ��$ ����� � '!%��� �� ��� �! �"��!�� �� $ %$ � &"����� �� "� ��$ � � � �" � �!"��  ����� �!���&" '��� !�� ��J 5 ����" �� �(� � �� ���#��� �!"� � '�"���� ��!% �)$ ��  ��� �,�$ � �� ��?  ?<  ?=� . '� ��$ % ��
�!�� ����������� � '�,� �!��� ����� #!�� �+� �� � �$ ��"�� �� �!$ � ��, ��� .3 '�� ��������$ ��� �" $ !�) �� �� �*���� &"� �!" � �#!�� �!������� �!"� ����� ��"��  �� �!��$ $ ���
� '����!�"���!� � '��������� ��$ � !�� ����  � ��$ ����� �� � '��� ��&"�� �! � ���#�", �", �( ��)$ �� ��$ � �4��� � . 7C����#�$ ���  �� �(� � � '����!��� ��� ������ �� ��� $ !�) ��� ���� �� �!$ ��� �� � ��$ ������ ������!�� �� ����������� ����)��$ ��� "� �( ��)$ � ��$ � �4��� � . ���"�!"� ����� 5 -� ��� ���� �� �!$ � ���  $ � �� � '��� ������!� ��� $ ���!��� � '����!, �$ ���!� �" ��!% �)$ � �� � '!��!������$ ��� ��$ � �4��� ������� ��!$ ����" �� .0�� � ����"��  �� �(�� �� $ ���!�� � �"� �" ��� %��� "������ � !"� �����$ ���� ��� �!�+2"����!�� �����!���� #������  � �"��� &"� ��� ��&"����� � '�,��"��!� #������ �!�� � '�,� �!�����!� ��� ���"��� 2���4
����$ ��� �� ������ . 3�"� ��� ������!�  ��� �,�$ � �� 5 �� ������ 0� '  ��$% �� ������������ �� -!"�� ��� ��"� !"��� �!$ � ��$ ���� ��� �� ��", &"� �!" � �#!�� ��J 5 � ��% !��� �!"� ����" ��� ��� �!�+2"����!�� �����!���� #������ .

3�� �(�!��)��� &"� �!" � �#!�� -!�$" ���� ���� �� �������� = !�� � ��$ �� � '!%��� �� "� �����#����
�� -� ���%����� � !"� "�� ������ �� �! ����&"�� � '!��!������$ ��� ��2 �!%��� ��� �,�$ � �� ��  ���� 7 �� . /!" � �#!�� $ !���� &"� ��� ��&"����� ��!�"���� ��� ��� �! ����&"�� ����������� 5 0� '#���+��� �!� ��", �(� !��)��� . �!"��-!��  � '�"���� ��&"����� � '�,��"��!� ��!�"���� ��� �,�$ � �� ���33� #���+��� �" ��� �! � �(�!��)��� . 1+� �� �!"��"�#�� ����� ��"��  � �" ���"�� �,�� �� ���������� �"#��� %��� �!�������� .

�!"� � '�% !��  !� � �"� �������� 5 �8 ��� � '�����#���� �� -� ���%����� &"� �!" � �#!�� ��!� !��  �!��
���� �� ��� 2������  �!�� �� �� �!�������� 5 ����� ���� � ������ � '!��!������"�� �!$ $ � �!" � � '�#!��-� �� ���� �� �������� ? �!"� ��� ��&"����� ��!�"���� ��� ��� � ! ��� �&"�� 5 ���!����� +,�� >�� ���
�,�����!� �� ���� �� 0� 'A .7��"���  !� � �"� �������� 5 �����$ ���� �� �� ����� �,��� �� �! � ��", �(� !��)���  �� �!��$ $ ������ !���� 5 �� &"����!� �"�#���� B ���4�� &"� ��� ��&"����� ��!�"���� ��� ��� �! ����&"�� �� � 63 #���4+��� �! � ��", �(� !��)��� � 7� !"���  �� ��$% �� �! ���% �� � '��� ��&"�� �!��� ����! ��� �", ��&"�����
� '�,��"��!� ��!�"���� ��� � �C ������ �(� �� � '�,��"��-� ��$ � �4��� �  ��� �,�$ � �� B �!�4����$ ���-  ���4�$ ���- �#�� $ �2����!� �!���� . 7� ��"� ���� �� #���� ��� �� �!� ��", �(� !��)��� ���� ��� �!���,���  !� �!"��� �� ������� �� � !���� �� �!��� �����#���� �� -� ���%����� �� �� �!��� ���" ���� �"� �� �(� ������
��� ��&"����� � '�,��"��!� . 3 '��"�� �� � '��
"���� ��� ���������!�� ����� ��� �*���� �"� �� #���� ��� ��
�! � �(� !��)��� � !"��� �� ���$ ����� � '������� �� �� ����� �� �!� ���" ����� �"4�� �5 �" �!���,�� ����*���� ������������� .

� �����$ ���  �!��� ����(�� ��� �" ��� #���% �� � !"� ��� ��&"����� � '�,��"��!� &"� �� ���������� ���
��� ��������� ��� �*����  �� �!" � �#!�� �" -!"�� �� "�� % !��� 5 �� �"��� $ �,�$ ��� � !"� &"� ��� ��$ � �
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 �� �!������"� �" �( ��)$ � ����
�!� ����( �� . 6� �!��� �!�����"� ���� �!"�� �� ��������� ��J �" �#��� � '��#���2�� � '�,� �!�����!� ��� ���
�� �!��� ����! ��� .



:�� ���������� ����	
��



� � � ����� �	 
 �

��� �O�	POQN� �	N� ��� � Q��N	�� � �	�� O�N�� N	POQN	�� 	��� �Q	 OPL �� ���P��� 

� . 6��"#�)�� ��� � . ��� ��� . �VY WXX \afh Y d W\
a[]YVV Y X ac\ Z �_`cbY bY e�e`�d Ye `YdX e�\_YZ �faV`\W]V`Ye e`\]f`Ye � ����� �&"� �� &������ '� -!�$ ���&"��  <= ��2��  ���"��!� �� ����$%�� ;��@ .

��� �O�	POQN� �	N� ��� 	�P�� �� �QN �L��N�� � �	�� O�N�� ONP��N	POQN	�� 	��� �Q	 OPL �����P��� 

� . 6��"#�)��  � . ��� ��� ��� � . &��!�� . �aV`\]^c`]aVe `a `h Y d cZ`]X \afYeea\ efh YbcZ]V� X \a^ZYd �

'� ��! ���� ��2� !- '1&�7 � 6!$ �"����!��� '��� ���2����  �� . ??I��  ;��@ .

��� �O�	POQN� �	N� ��� 	�P�� �� �QN �L��N�� � �	�� O�N�� N	POQN	�� 	��� �Q	 OPL �� ����P��� 

� . 3��2����"  � . 6��"#�)�� ��� � . ��� ��� . �VY WXX \afh Y � _ad _`\]�cY bY ZW [WZ]bW`]aV `YdX e�\_YZ� '� ��! ���� ��2 � !- ����4� �$ � &( ���$ �  �� . ;�jI<�;  ������  ;��? .
� . 6��"#�)�� ��� � . ��� ��� . �cWV`]� fW`]aV bY Z �a\baVVWV�W^]Z]`_ bYe e�e`�d Ye `YdX e�\_YZ �faV`\W]V`Ye e`\]f`Ye X W\ Z �WVWZ�eY d W\
a[]YVV Y� '� ��! ���� ��2� !- ��6'��  �� . = :I==  ;��? .

� �PO� ��� �Q�	 O� � ��� � Q��N	�� 	��� �Q	 OPL �� ���P��� 

� . 6��"#�)��  � . ��� ��� ��� � . &��!�� . �  Y! " Y`h ab # a\ $ Y`Y\d ]V]V� % ]& Yb ' \]a\]`� �aV� ��c\W`]aVe # a\ ( YWZ� )]d Y *�e`Yd e aV " cZ`]X \afYeea\ )W\� Y`e � << ��2�� .
� . 6��"#�)�� ��� � . ��� ��� . " cZ`]X \afYeea\ ( YWZ� )]d Y * fh YbcZ]V� i �aV`\]^c`]aVe `a `h Y ���fZ]f]`� ' \a^ZYd e � <; ��2�� .
� . 6��"#�)�� . $ c\_Y Y& Wf`Y bY d aV`_Y YV fh W\� Y bYe e�e`�d Ye `YdX e�\_YZ X _\]ab]�cYe a\baVVWV�f_e YV d cZ`]X \afYeeYc\ X W\ cVY X aZ]`]�cY � X \]a\]`_e � & Ye � ;� ��2�� .
� . 6��"#�)�� ��� � . ��� ��� . $ ]W�V ae`]f bY Z �a\baVV WV�W^]Z]`_ bYe e�e`�d Ye `YdX e�\_YZ ^We_ ec\

cV Y WVWZ�eY d W\
 a[]YVVY bYe `YdX e bY \_X aVeY� ;= ��2�� .

:� :



:�;



� 	��� �	 
 �

� QP	POQN K LMNOPOQN
τ

7���$% �� �� �*����
n

 
p

/ !$ %�� �� �*���� ����������� 5
τ

 �� �� �!$%�� �� ��! �����"��
τ

7���$% �� ��� ��������� ��2������� ��� ��� �*���� ��
τ

τk
 
τk,i k � �*��� �� ��

i � ��������
≡m

7 &"�#������ ����� ��", ��������� � '"�� $ %$ � �*��� >#!�� ��2� ::A
rk

 
Ck

 
Dk

 
Tk

6�����������&"�� ��$ �!�� ���� �� �� �*���
τk

>#!�� ��2� :;A
rk,i

 
dk,i

� ��� � '����#���!� �� �������� �% �! �"� �� � '��������
τk,i

P
 
r

 
C

 
D

 
T

6�����������&"�� � '"� �( ��)$ � �� �*���� ����!� �&"�� >#!�� ��2� ::A
δk

/ !$ %�� � '��������� 2������� ��� �� �*���
τk

�"� ���&"� $ ���� ���!��>#!�� ��2� ::A
s

&�&"���� � '�,��"��!� >#!�� ��2� :�A
st

7���$% �� ��� ��������� �,��"���� ��� �� ��&"����
s

���� � '�����#����
[t, t + 1[

s?
t

7���$% �� ��� ��������� ����#�� ���� �� ��&"����
s

5 � '�������
t

es (τk,i)
� ��� �� ���$ ��� ��!� �� � '��������

τk,i
���� �� ��&"����

s
TRs (τk,i)

��$ � � �� ���!��� �� � '��������
τk,i

���� �� ��&"����
s

CEs (τk,i)
6���2� �� � '��������

τk,i
�% �!�% �� ���� � '�����#����

[0, t[
���� �� ��&"����

s
LXs (τk,i)

3�,��� �� � '��������
τk,i

5 � '�������
t
���� �� ��&"����

s
U

6���2� �" �( ��)$ � �� �*����
τ

>#!�� ��2� :jA
Us(t)
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